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¿ÀÁÂÃÄÅÂ

ÆÇÈÉ ÊËÊÌÍ ÈÎÏÌÉÐÈÑËÐÌÉ ÐÇÌ ÈÎÒÓÌÎÔÌ ÕÖ ×ÈØÌÍÌÎÐ ÉÙÉÐÌÚÉ ÕÖ ÔÓÍÍÌÎÐ ÈÎÔÕÚÌ ËÎ×
ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜËÐÈÕÎ ÕÎ ÈÎÏÌÉÐÕÍÝÉ ×ÌÔÈÉÈÕÎ ÐÕ ÌÈÐÇÌÍ ÔËÍÍÙ ÕÓÐ ËÎ ÈÎÏÌÉÐÚÌÎÐ ÈÎ
ÔÕÍÊÕÍËÐÌ ÉÇËÍÌÉ ÕÍ ÐÕ ÈÎÏÌÉÐ ÖÓÎ×É ËÛÐÌÍÎËÐÈÏÌÛÙ ÕÎ ÐÇÌ ÔËÊÈÐËÛ ÚËÍÞÌÐß ÆÇÍÌÌ àËÉÈÔ
ÐËÜ ÉÙÉÐÌÚÉ ËÍÌ ËÎËÛÙáÌ×â Ë ÔÛËÉÉÈÔËÛ ÔÕÍÊÕÍËÐÌ ÐËÜ ÉÙÉÐÌÚ ãÈÐÇ ×ÕÓàÛÌ ÐËÜËÐÈÕÎ ÕÖ
ÊÍÕäÐÉ ÕÎ ÔÕÍÊÕÍËÐÌ ËÎ× ÊÌÍÉÕÎËÛ ÛÌÏÌÛâ Ë ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖ ÉÙÉÐÌÚâ ÐÇËÐ ÍÌ×ÓÔÌÉ
×ÕÓàÛÌ ÐËÜËÐÈÕÎ ËÎ× äÎËÛÛÙ Ë ÐËÜ ÉÙÉÐÌÚ ãÈÐÇ ÖÓÛÛ ÈÚÊÓÐËÐÈÕÎ ÕÖ ÔÕÍÊÕÍËÐÌ ÐËÜ ÐÇËÐ
ËÏÕÈ×É ×ÕÓàÛÌ ÐËÜËÐÈÕÎ ÔÕÚÊÛÌÐÌÛÙß åÐ ÔËÎ àÌ ÉÇÕãÎ ÐÇËÐ ÑÌÎÌÍËÛ ËÎËÛÙÐÈÔËÛ ÉÕÛÓÐÈæÕÎÉ ÖÕÍ ÐÇÌ ÈÎÏÌÉÐÚÌÎÐ ÊÍÕàÛÌÚ ÖÕÍ ×ÈØÌÍÌÎÐ ÔËÐÌÑÕÍÈÌÉ ÕÖ ÐËÜ ÍÌÑÈÚÌÉâ ÌÏÌÎ ÓÎ×ÌÍ
ÔÌÍÐËÈÎÐÙâ ÔËÎÎÕÐ àÌ ×ÌÍÈÏÌ×ß çÊÊÛÙÈÎÑ Ë ÑÍÕãÐÇ ÚÕ×ÌÛâ ãÌ äÎ× ÓÎ×ÌÍ ÍËÐÇÌÍ ÍÌÉÐÍÈÔæÐÈÏÌ ËÉÉÓÚÊÐÈÕÎÉ ÐÇËÐ ÐÇÌ ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖ ÉÙÉÐÌÚ ÈÎÏÕÞÌÉ ÚÕÍÌ ÉÌÏÌÍÌ ×ÈÉÐÕÍÐÈÕÎÉ
ÐÇËÎ ÐÇÌ ÖÓÛÛ ÈÚÊÓÐËÐÈÕÎ ÉÙÉÐÌÚß ÆÍÙÈÎÑ ÐÕ ÊÍÕÏÌ ÐÇÈÉ ÈÎ Ë ÚÕÍÌ ÍÌËÛÈÉÐÈÔ ÉÌÐÐÈÎÑ
ãÈÐÇ ÓÎÔÌÍÐËÈÎÐÙ ãÌ ÌÚÊÛÕÙ èÕÎÐÌ éËÍÛÕ êÈÚÓÛËÐÈÕÎ ÖÕÍ ÍËÎ×ÕÚ ÍËÐÌÉ ÕÖ ÍÌÐÓÍÎ ËÎ×
ÍËÎ×ÕÚ ÈÎÔÕÚÌ ÐËÜ ÍËÐÌÉß åÎ ÚËÎÙ ÔËÉÌÉâ ÐÇÌ ×ÌÑÍÌÌ ÕÖ ÐËÜæÈÎ×ÓÔÌ× ÓÎÔÌÍÐËÈÎÐÙ ÈÉ
ÉÈÑÎÈäÔËÎÐÛÙ ÛÕãÌÍ ÓÎ×ÌÍ Ë ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖ ÉÙÉÐÌÚ ÐÇËÎ ÓÎ×ÌÍ ÖÓÛÛ ÈÚÊÓÐËÐÈÕÎß ëÓÍæÐÇÌÍÚÕÍÌâ ÈÐ ÔËÎ àÌ ÉÇÕãÎ ÐÇËÐ ÓÎ×ÌÍ ÓÎÔÌÍÐËÈÎÐÙ ÖÓÛÛ ÈÚÊÓÐËÐÈÕÎ ÔËÓÉÌÉ ÚÕÍÌ ÉÌÏÌÍÌ
×ÈÉÐÕÍÐÈÕÎÉ ÐÇËÎ ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖ ãÇÌÎÌÏÌÍ ÊÌÍÉÕÎËÛ ÈÎÔÕÚÌ ÐËÜ ÍËÐÌÉ ËÍÌ ÛÕãß åÎ
ÛÈÑÇÐ ÕÖ ÈÎÐÌÍÎËÐÈÕÎËÛ ÐËÜ ÔÕÚÊÌÐÈÐÈÕÎ ÐÇÈÉ ÈÉ ËÎ ÈÚÊÕÍÐËÎÐ ÍÌÉÓÛÐ ËÉ Ë ÍÌ×ÓÔÐÈÕÎ ÕÖ
ÐËÜ ÍËÐÌÉ ÈÉ ÐËÞÈÎÑ ÊÛËÔÌ ÕÍ ÈÉ ÛÈÞÌÛÙ ÐÕ ÐËÞÌ ÊÛËÔÌ ÈÎ ÉÌÏÌÍËÛ ÔÕÓÎÐÍÈÌÉß ëÓÍÐÇÌÍÚÕÍÌâ
ÐÇÌ ÉÈÚÓÛËÐÈÕÎ ÔÛËÍÈäÌÉ ÐÇÌ ÐÍË×ÌæÕØ ÕÖ ÐÇÌ ÕÊÊÕÉÈÎÑ ÌØÌÔÐÉâ ÈßÌß ÐËÜ ËÎ× ÈÎÐÌÍÌÉÐ
ÍËÐÌ ÌØÌÔÐÉâ ËÎ× ÐÇÌ ÕÏÌÍãÇÌÛÚÈÎÑ ÈÚÊËÔÐ ÕÖ ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜËÐÈÕÎß çÊËÍÐ ÖÍÕÚ ÐËÜ
ÊËÍËÚÌÐÌÍÉâ ãÌ È×ÌÎÐÈÖÙ ÐÇÌ ×ÈÏÈ×ÌÎ× ÍËÐÌ ËÎ× ÐÇÌ ÊÕÈÎÐ ÈÎ ÐÈÚÌ ÕÖ ÉÌÛÛÈÎÑ ÐÇÌ ÉÇËÍÌÉ
ËÉ ÈÚÊÕÍÐËÎÐ ÏËÛÓÌ ×ÍÈÏÌÍÉß

ìíîïðÃñÁò ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜËÐÈÕÎâ ×ÈÏÈ×ÌÎ× ÊÕÛÈÔÙâ ÈÎÏÌÉÐÚÌÎÐ ×ÌÔÈÉÈÕÎâ ÐËÜ ÎÌÓæÐÍËÛÈÐÙâ ÐÈÚÈÎÑ ×ÌÔÈÉÈÕÎÉ
óôõ ÅöÄÁÁ÷øÅÄÂ÷ðùò úûüâ úûý
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ÆÇÈÉ ÉÐÓ×Ù ÈÎÏÌÉÐÈÑËÐÌÉ ÐÇÌ ÈÎÒÓÌÎÔÌ ÕÖ ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜ ËÎ× ÔÓÍÍÌÎÐ ÈÎÔÕÚÌ ÐËÜÌÉ
ÕÎ ÈÎÏÌÉÐÕÍÝÉ àÌÇËÏÈÕÍ ÓÎ×ÌÍ ×ÈØÌÍÌÎÐ ÐËÜ ÉÙÉÐÌÚÉß êÈÎÔÌ ÐËÜ ÍÌÖÕÍÚÉ ËÉ ãÌÛÛ ËÉ ÐÇÌ
×ÈÉÔÓÉÉÈÕÎ ÕÖ ÕÊÐÈÚËÛ ÐËÜ ÉÙÉÐÌÚÉ ËÎ× ÐËÜ ÎÌÓÐÍËÛÈÐÙ ËÍÌ ËÎ ÕÎÑÕÈÎÑ ÊÍÕÔÌÉÉÿ ÈÐ ÈÉ
ÈÚÊÕÍÐËÎÐ ÐÕ äÎ× ÕÓÐ ãÇÌÐÇÌÍ ÓÎ×ÌÍ ÍÌËÛÈÉÐÈÔ ËÉÉÓÚÊÐÈÕÎÉ ÐÇÌÍÌ ËÍÌ ÔÛËÉÉÌÉ ÕÖ ÐËÜ ÉÙæÉÐÌÚÉ ÐÇËÐ ÈÎ×ÓÔÌ ÛÌÉÉ ×ÈÉÐÕÍÐÈÕÎÉ ÐÇËÎ ÕÐÇÌÍÉß�Ì ÖÕÔÓÉ ÕÎ ÐÇÌ ÈÎÒÓÌÎÔÌ ÕÖ ÐËÜËÐÈÕÎ
ÕÎ ÈÎÏÌÉÐÚÌÎÐ ×ÌÔÈÉÈÕÎÉ ËÎ× ÛÌËÏÌ ÐÇÌ ÖÓÎ×ËÚÌÎÐËÛ ×ÈÉÊÓÐÌ ÕÎ ÔÕÎÉÓÚÊÐÈÕÎ àËÉÌ×
ÉÙÉÐÌÚÉ ÏÌÍÉÓÉ ÈÎÔÕÚÌ àËÉÌ× ÉÙÉÐÌÚÉ ËÉÈ×Ìß êÈÎÔÌ ÈÎÔÕÚÌ ËÎ× ÊÍÕäÐâ ÍÌÉÊÌÔÐÈÏÌÛÙâ
ËÍÌ ÔÕÚÚÕÎ ÐËÜ àËÉÌÉ ÈÎ ÚÕÉÐ ÍÌËÛæãÕÍÛ× ÐËÜ ÉÙÉÐÌÚÉ ãÌ ËÎËÛÙáÌ ×ÈÉÐÕÍÐÈÕÎÉ ÔËÓÉÌ×àÙ ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜËÐÈÕÎ ÖÕÍ ×ÈØÌÍÌÎÐ ÐÙÊÌÉ ÕÖ ÈÎÔÕÚÌæàËÉÌ× ÐËÜ ÉÙÉÐÌÚÉß
�ÌÓÐÍËÛ ÐËÜ ÉÙÉÐÌÚÉ ÐÇËÐ ×Õ ÎÕÐ ËØÌÔÐ ÈÎÏÌÉÐÚÌÎÐ ×ÌÔÈÉÈÕÎÉ ËÍÌ ÕÖÐÌÎ ÔÕÎÉÈ×ÌÍÌ×
×ÌÉÈÍËàÛÌ ÖÍÕÚ Ë ÐËÜ ÊÕÛÈÔÙ ÊÌÍÉÊÌÔÐÈÏÌ ËÎ× ÚËÙ ÉÌÍÏÌ ËÉ Ë ÙËÍ×ÉÐÈÔÞ ÖÕÍ ÐÇÌ ËÎËÛÙÉÈÉ
ÕÖ ÍÌËÛæãÕÍÛ× ÐËÜ ÉÙÉÐÌÚÉß åÎ ÔÕÎÐÍËÉÐ ÐÕ ÐÇÌ ãÌÛÛæÞÎÕãÎ ÎÌÓÐÍËÛ ÐËÜ ÉÙÉÐÌÚÉ� â ÍÌËÛæãÕÍÛ× ÐËÜ ÉÙÉÐÌÚÉ ÓÉÓËÛÛÙ ËÍÌ ÎÕÐ ÎÌÓÐÍËÛ� ÍËÐÇÌÍâ ÐÇÌÙ ×ÈÉÐÕÍÐ ÈÎÏÌÉÐÚÌÎÐ ×ÌÔÈÉÈÕÎÉß
ÆÇÌÍÌÖÕÍÌâ ãÌ ÈÎÏÌÉÐÈÑËÐÌ ÐÇÌ ÈÚÊËÔÐ ÕÖ ×ÈØÌÍÌÎÐ ÐËÜ ÍÌÑÈÚÌÉ ÕÎ ÐÇÌ ÊÌÍÖÕÍÚËÎÔÌ ÕÖ
ÐÇÌ ÈÎÏÌÉÐÚÌÎÐ ËÎ× ÈÎ ÐÓÍÎ ÕÎ ÐÇÌ ×ÌÔÈÉÈÕÎ ÕÖ ÌÈÐÇÌÍ ÈÎÏÌÉÐÈÎÑ ÈÎÐÕ Ë ÔÕÍÊÕÍËÐÈÕÎ
ÕÍ ËÛÐÌÍÎËÐÈÏÌÛÙ ÕÎ ÐÇÌ ÔËÊÈÐËÛ ÚËÍÞÌÐâ ÌËÍÎÈÎÑ ÐÇÌ ÚËÍÞÌÐ ÍËÐÌß ÆÇÍÌÌ àËÉÈÔ ÐËÜ
ÉÙÉÐÌÚÉ ËÍÌ ËÎËÛÙáÌ×â Ë ÔÛËÉÉÈÔËÛ ÔÕÍÊÕÍËÐÌ ÐËÜ ÉÙÉÐÌÚ ãÈÐÇ ×ÕÓàÛÌ ÐËÜËÐÈÕÎ ÕÖ ÊÍÕäÐÉ
ÕÎ ÔÕÍÊÕÍËÐÌ ËÎ× ÊÌÍÉÕÎËÛ ÛÌÏÌÛâ Ë ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖ ÉÙÉÐÌÚâ ÐÇËÐ ÍÌ×ÓÔÌÉ ×ÕÓàÛÌ
ÐËÜËÐÈÕÎ ËÎ× äÎËÛÛÙ Ë ÐËÜ ÉÙÉÐÌÚ ãÈÐÇ ÖÓÛÛ ÈÚÊÓÐËÐÈÕÎ ÕÖ ÔÕÍÊÕÍËÐÌ ÐËÜ ÐÇËÐ ËÏÕÈ×É
×ÕÓàÛÌ ÐËÜËÐÈÕÎ ÔÕÚÊÛÌÐÌÛÙß
åÎ ÍÌÔÌÎÐ ÙÌËÍÉâ ÊÓàÛÈÔ ÌÔÕÎÕÚÈÉÐÉ ãÌÍÌ ÌÉÊÌÔÈËÛÛÙ ÈÎÐÌÍÌÉÐÌ× ÈÎ ÐËÜ ÌØÌÔÐÉ ÓÎ×ÌÍ ÓÎæÔÌÍÐËÈÎÐÙß� êÈÎÔÌ ËÎËÛÙÐÈÔËÛ ËÊÊÍÕËÔÇÌÉ ÖËÈÛ èÕÎÐÌ éËÍÛÕ êÈÚÓÛËÐÈÕÎ ÊÍÕÏÈ×ÌÉ ÍËÐÇÌÍ
ÖËÈÐÇÖÓÛ ×ÌÉÔÍÈÊÐÈÕÎÉ ÕÎ Ë ÎÓÚÌÍÈÔËÛ àËÉÈÉß
ÆÇÌ ÚË�ÕÍ �ÌÍÚËÎ ÐËÜ ÍÌÖÕÍÚ ÈÎ û��ý ËàÕÛÈÉÇÌ× ÐÇÌ ÖÓÛÛ ÈÚÊÓÐËÐÈÕÎ ÉÙÉÐÌÚ ÕÖ ÔÕÍÊÕæÍËÐÌ ÈÎÔÕÚÌ ÐËÜ ËÎ× ÈÎÐÍÕ×ÓÔÌ× Ë ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖ ÉÙÉÐÌÚß �Õãâ ÊÍÕäÐÉ ËÍÌ ×ÓÌ ÐÕ
ÔÕÍÊÕÍËÐÌ ÐËÜ ÐÇËÐ ÔËÎÎÕÐ àÌ ÔÍÌ×ÈÐÌ× ËÑËÈÎÉÐ ÉÇËÍÌÇÕÛ×ÌÍÝÉ ÊÌÍÉÕÎËÛ ÈÎÔÕÚÌ ÐËÜ ÕÎ
×ÈÏÈ×ÌÎ×É ËÎ× ÐÇÌÍÌàÙ àÌÔÕÚÌÉ ÓÎÍÌÖÓÎ×ËàÛÌß åÎ ÔÕÎÐÍËÉÐ ÐÕ Ë ÔÛËÉÉÈÔËÛ ÔÕÍÊÕÍËÐÌ ÐËÜ
ÉÙÉÐÌÚâ ÓÎ×ÌÍ ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖ ü�� ÕÖ ÐÇÌ ×ÈÏÈ×ÌÎ×É ËÍÌ ÌÜÌÚÊÐ ÖÍÕÚ ÉÇËÍÌÇÕÛ×ÌÍÝÉ
ÈÎÔÕÚÌ ÐËÜß	 çÓÉÐÍÈËâ 
ÌÛÑÈÓÚâ �ÌÎÚËÍÞâ �
â �ÓÜÌÚàÕÓÍÑâ ÐÇÌ �ÌÐÇÌÍÛËÎ×É ËÎ×
êãÌ×ÌÎ ÇËÏÌ ÈÚÊÛÌÚÌÎÐÌ× ÉÈÚÈÛËÍ ÉÙÉÐÌÚÉß� ëÓÍÐÇÌÍÚÕÍÌâ ëÍËÎÔÌ ÍÌÔÌÎÐÛÙ ×ÈÉÔÓÉÉÌ×
ÍÌÖÕÍÚÈÎÑ ÈÐÉ ÔÕÍÊÕÍËÐÌ ÐËÜ ÉÙÉÐÌÚ ËÔÔÕÍ×ÈÎÑÛÙß
�Ì ÐËÞÌ ÐÇÌ �ÌÍÚËÎ ÐËÜ ÍÌÖÕÍÚ ËÎ× ÐÇÌÉÌ ÐãÕ ÉÙÉÐÌÚÉ ËÉ ÌÜËÚÊÛÌÉ ÕÖ ×ÈØÌÍÌÎÐ
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3
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5 ��¬� �� ���£� £¤£��¬£� ©¡¼� ���  �"£� ¥� ¨����� £������©¥�� ��©¡�� ¦¤ ¯���¡�© ¡¬¯����¡�� ¡�£���¥�� ¯���¡�©©¤ ��� ���¬¯� ¥¡¢¡¥��¥£ �£ ¡� ��� ·��¬�� £¤£��¬�
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ÍÌËÛæãÕÍÛ× ÔÕÍÊÕÍËÐÌ ÐËÜ ÉÙÉÐÌÚÉß ç××ÈÐÈÕÎËÛÛÙâ ãÌ ËÎËÛÙáÌ Ë ÔÛËÉÉÈÔËÛ ÐËÜ ÉÙÉÐÌÚ
ãÈÐÇ ÎÌÈÐÇÌÍ ÖÓÛÛ ÈÚÊÓÐËÐÈÕÎ ÎÕÍ ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖâ ÈßÌß ×ÕÓàÛÌ ÐËÜËÐÈÕÎ ÕÖ ×ÈÏÈ×ÌÎ×
ÊËÙÚÌÎÐÉß#
ç ÏËÉÐ ÛÈÐÌÍËÐÓÍÌ ãÈÐÇ ÐÇÌÕÍÌÐÈÔËÛ ËÎ× ÌÚÊÈÍÈÔËÛ ÉÐÓ×ÈÌÉ ÌÜËÚÈÎÌÉ ÐÇÌ ÌÔÕÎÕÚÈÔ ÈÚæÊËÔÐ ÕÖ ÔÓÍÍÌÎÐ ÈÎÔÕÚÌ ËÎ× ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜËÐÈÕÎß $ßÑßâ êÐÈÑÛÈÐá %ý&'&( ÈÎÏÌÉÐÈÑËÐÌÉ
ÐÇÌ ÌØÌÔÐÉ ÕÖ ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜÌÉ ÕÎ ÐÇÌ ×ÌÚËÎ× ÖÕÍ ÍÈÉÞÙ ËÉÉÌÐÉß )ÙÌ %ý&*û( ÉÇÕãÉ
ÐÇËÐ ÊÍÌÖÌÍÌÎÐÈËÛ ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜËÐÈÕÎ ÈÎÒÓÌÎÔÌÉ ÕÊÐÈÚËÛ ×ÈÏÈ×ÌÎ× ÊÕÛÈÔÙß 
ËÛÔÌÍ
%ý&+,( ÈÎÐÌÑÍËÐÌÉ ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜ ËÎ× ÐËÜ ÕÎ ×ÈÏÈ×ÌÎ×É ËÎ× ÐÇÌÍÌàÙ ×ÌÍÈÏÌÉ Ë ÎÌÓæÐÍËÛ ÐËÜ ÍÓÛÌß çÓÌÍàËÔÇ %ý&+&â ý&&ý( ×ÈÉÔÓÉÉÌÉ ÐÇÌ ×ÈÉÐÕÍÐÈÕÎÉ ËÉÉÕÔÈËÐÌ× ãÈÐÇ ÔËÊÈÐËÛ
ÑËÈÎÉ ÐËÜÌÉâ ËÎ× ÊÍÕÊÕÉÌÉ Ë ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜ ÉÙÉÐÌÚ ÐÇËÐ ÌÛÈÚÈÎËÐÌÉ ÐÇÌ ÈÎÔÌÎÐÈÏÌ ÐÕ
×ÌÖÌÍ ÐÇÌ ÍÌËÛÈáËÐÈÕÎ ÕÖ ÑËÈÎÉ ãÇÈÔÇ ×ÕÌÉ ÎÕÐ ÍÌ-ÓÈÍÌ ÓÎÕàÉÌÍÏËàÛÌ ÞÎÕãÛÌ×ÑÌß 
ÍË×æÖÕÍ× %ý&&'( ÌÜÐÌÎ×É ÐÇÈÉ ãÕÍÞ ãÈÐÇ ÍÌÉÊÌÔÐ ÐÕ äÎËÎÔÈËÛ ÈÎÉÐÍÓÚÌÎÐÉß
.ÎÈÑ/�ÕÉÎÈÐáË
%û���( ÊÍÕÏÌ ÐÇÌ ×ÈÉÐÕÍÐÈÏÌ ÊÕãÌÍ ÕÖ ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜÌÉ ËÊÊÛÙÈÎÑ Ë ÑÍÕãÐÇ ÚÕ×ÌÛ
ËÎ× ÊÍÕÊÕÉÌ Ë ÚÕ×ÈäÌ× ÎÕÎæ×ÈÉÐÕÍÐÈÕÎËÍÙ ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜ ÍÓÛÌß
êÔÇÕÛá %ý&++( ËÎËÛÙáÌÉ ÇÕã ÔÇËÎÑÌÉ ÈÎ ÍÌÛËÐÈÏÌ ÐËÜ ÐÍÌËÐÚÌÎÐ ÕÖ ×ÈÏÈ×ÌÎ×É ËÎ× ÔËæÊÈÐËÛ ÑËÈÎÉ ÈÎÒÓÌÎÔÌ ÈÎ×ÈÏÈ×ÓËÛ àÌÇËÏÈÕÍ ËÎ× ÉÇÕãÉ ÐÇËÐ ÐÇÌ ×ÈÏÈ×ÌÎ× ÔÛÈÌÎÐÌÛÌ ÌÖæÖÌÔÐ ÈÉ ÉÈÑÎÈäÔËÎÐÛÙ ÍÌËÉÕÎËàÛÌß 
ÛÌÈÎ %ý&&&â û��ý( ËÎ× 0ÈËÍ× %û���( ×ÌÚÕÎÉÐÍËÐÌ
ÐÇËÐ ÐÇÌ ×ÈÉÈÎÔÌÎÐÈÏÌ ÐÕ ÉÌÛÛ ËÎ ÈÎÏÌÉÐÚÌÎÐ ÊÍÕ�ÌÔÐ ÈÎÔÍÌËÉÌÉ ãÈÐÇ ÉÇËÍÌÇÕÛ×ÌÍÉÝ ÔËæÊÈÐËÛ ÑËÈÎÉ ÐËÜ ÌÜÊÕÉÓÍÌß çÙÌÍÉâ �ÌÖËÎÕãÈÔá ËÎ× 1ÕàÈÎÉÕÎ %û��,( ÐÌÉÐ ÌÚÊÈÍÈÔËÛÛÙ
ãÇÌÐÇÌÍ ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜÌÉ ËØÌÔÐ ÊÍÌÚÈÓÚÉ ÊËÈ× ÈÎ ÐËÜËàÛÌ ÔÕÍÊÕÍËÐÌ ËÔ-ÓÈÉÈÐÈÕÎÉß
ÆÇÌÈÍ ÌÏÈ×ÌÎÔÌ ÉÓÑÑÌÉÐÉ ÐÇËÐ ÉÇËÍÌÇÕÛ×ÌÍæÛÌÏÌÛ ÐËÜÌÉ ÇËÏÌ Ë ÉÈÑÎÈäÔËÎÐ ÊÍÈÔÌ ÌØÌÔÐÕÎ ÐËÜËàÛÌ ËÔ-ÓÈÉÈÐÈÕÎÉ ãÇÈÔÇ ÏËÍÈÌÉ ãÈÐÇ ÐÇÌ ÐËÜ ÉÐËÐÓÉ ÕÖ ÐÇÌ ÐËÍÑÌÐÝÉ ÉÇËÍÌÇÕÛ×ÌÍß
1ÌÔÌÎÐÛÙâ 
ÌÓÉÔÇÎÈÑÑ ËÎ× �ÈÌÛÉÕÎ %û��2( ËÎËÛÙáÌ ÐÇÌ ÈÎÒÓÌÎÔÌ ÕÖ ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜ
ÕÎ ÉÐËÍÐæÓÊ äÎËÎÔÌ ãÈÐÇ ×ÕÓàÛÌ ÚÕÍËÛ ÇËáËÍ× ÌÚÊÈÍÈÔËÛÛÙß éÕÍÍÌÉÊÕÎ×ÈÎÑ ãÈÐÇ ÐÇÌ
äÎ×ÈÎÑÉ ÕÖ )ÕÐÌÍàË %ý&+&Ëâ ý&+&à(â ÐÇÌÙ ÊÕÈÎÐ ÕÓÐ ÐÇËÐ ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜ ÊËÍÐÈÔÓÛËÍÛÙ
×ÈÉÔÕÓÍËÑÌÉ ÌÎÐÍÌÊÍÌÎÌÓÍÈËÛ ÌØÕÍÐÉß êÈÎËÈ ËÎ× �ÙÕÓÍÞÕ %û��2( ÈÎÏÌÉÐÈÑËÐÌ ÐÇÌ ÌØÌÔÐ
ÕÖ Ë ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜ ÍÌ×ÓÔÐÈÕÎ ÕÎ ÐÇÌ ÉÇËÍÌ ÊÍÈÔÌÉ ÕÖ ÍÌËÛ ÌÉÐËÐÌ äÍÚÉß
êÔÇÍÌÈàÌÍ %û���( ×ÈÉÔÓÉÉÌÉ ÐÇÌ ÌÔÕÎÕÚÈÔ ËÎ× ÛÌÑËÛ ËÉÊÌÔÐÉ ÕÖ ÐÇÌ �ÌÍÚËÎ û��ý ÔÕÍæÊÕÍËÐÌ ÈÎÔÕÚÌ ÐËÜ ÍÌÖÕÍÚ ãÈÐÇ ÍÌÉÊÌÔÐ ÐÕ ÔÍÕÉÉæàÕÍ×ÌÍ ÈÎÏÌÉÐÚÌÎÐß ê3ÍÌÎÉÌÎ %û��û(
ÌÜËÚÈÎÌÉ ÐÇÌ ÌØÌÔÐÉ ÕÖ ÐÇÈÉ ÚË�ÕÍ �ÌÍÚËÎ ÆËÜ 1ÌÖÕÍÚ ÕÎ ÐÇÌ �ÌÍÚËÎ ÌÔÕÎÕÚÙâ
ÌÉÊÌÔÈËÛÛÙ ÕÎ ãÌÛÖËÍÌ ËÎ× ×ÈÉÐÍÈàÓÐÈÕÎß çÊÊÛÙÈÎÑ Ë ÑÌÎÌÍËÛ Ì-ÓÈÛÈàÍÈÓÚ ËÎËÛÙÉÈÉ ËÎ×
ÔÕÎÉÈ×ÌÍÈÎÑ ÈÎÐÌÍÎËÐÈÕÎËÛ ÌØÌÔÐÉâ ÇÈÉ ÉÈÚÓÛËÐÈÕÎ ÈÎ×ÈÔËÐÌÉ ÐÇËÐ ÐÇÌ ÎÌã ÉÙÉÐÌÚ ãÈÛÛ
ÍËÈÉÌ ×ÕÚÌÉÐÈÔ ÌÔÕÎÕÚÈÔ ËÔÐÈÏÈÐÙ ËÎ× ãÌÛÖËÍÌ ÚËÈÎÛÙ ÈÎ×ÓÔÌ× àÙ ÛÕãÌÍ ÐËÜ ÍËÐÌÉß
åÎ ãÇËÐ ÖÕÛÛÕãÉ ãÌ ËÉÉÓÚÌ ÉÈÚÊÛÌ ÐËÜ ÉÙÉÐÌÚÉ ãÈÐÇ ÊÌÍÉÕÎËÛ ËÎ× ÔÕÍÊÕÍËÐÌ ÐËÜËÐÈÕÎß
ëÓÍÐÇÌÍÚÕÍÌâ ÍÌÒÌÔÐÈÎÑ ÐÇÌ ÔÕÎÐÈÎÓÈÎÑ ÔÕÎÐÍÕÏÌÍÉÈËÛ ×ÈÉÔÓÉÉÈÕÎ ÕÎ ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜËæÐÈÕÎ ãÌ ÈÎÐÌÑÍËÐÌ ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜËÐÈÕÎß4Î ÐÇÌ àËÉÈÉ ÕÖ Ë ÉÈÚÊÛÌ ËÉÉÌÐ ÊÍÈÔÈÎÑ ÚÕ×ÌÛ
ÓÎ×ÌÍ ÔÌÍÐËÈÎÐÙ ãÌ ËÎËÛÙáÌ ÐÇÌ ÈÎÒÓÌÎÔÌ ÕÖ ÔÓÍÍÌÎÐ ËÎ× ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜËÐÈÕÎ ÕÎ
ÐÇÌ ×ÌÔÈÉÈÕÎ ÐÕ ÈÎÏÌÉÐ ÈÎ Ë ÔÕÍÊÕÍËÐÈÕÎß åÚÊÛÌÚÌÎÐÈÎÑ ÐÇÌ ÏËÍÈÕÓÉ ÈÎÔÕÚÌæàËÉÌ× ÐËÜÍÌÑÈÚÌÉ ËàÕÏÌ ÚÌÎÐÈÕÎÌ× ÐÇÈÉ ×ÌÔÈÉÈÕÎ ×ÌÊÌÎ×É ÕÎ ÖÓÐÓÍÌ ËÖÐÌÍæÐËÜ ÔËÉÇ ÒÕã ÖÍÕÚ
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ÐÇÌ ÈÎÏÌÉÐÚÌÎÐß ÆÇÈÉ ÔËÉÇ ÒÕã ÔÕÎÉÈÉÐÉ ÕÖ ÊÕÉÐæÐËÜ ×ÈÏÈ×ÌÎ× ÊËÙÚÌÎÐÉ ËÎ× ÊÕÉÐæÐËÜÔËÊÈÐËÛ ÑËÈÎÉâ ÍÌËÛÈáÌ× ãÇÌÎ ÐÇÌ ÈÎÏÌÉÐÕÍ ÉÌÛÛÉ ÇÈÉ ÉÐÕÔÞß
ëÓÍÐÇÌÍÚÕÍÌâ ãÌ ÌÜÊÛÕÍÌ ÇÕã ÐÇÌ ÈÎÏÌÉÐÕÍÝÉ ×ÌÔÈÉÈÕÎ ÔËÛÔÓÛÓÉ ÈÉ ÈÎÒÓÌÎÔÌ× àÙ ÌØÌÔÐÉ
ÕÖ ÐËÜÌÉ ÕÎ ÊÍÕäÐ ×ÈÉÐÍÈàÓÐÈÕÎ ËÎ× ÕÎ ÐÇÌ ×ÌÔÈÉÈÕÎ ãÇÌÎ ÐÕ ËàËÎ×ÕÎ ÐÇÌ ÈÎÏÌÉÐÚÌÎÐ
ÊÍÕ�ÌÔÐß åÎ ÑÌÎÌÍËÛâ ÕÊÐÈÚËÛ ×ÈÏÈ×ÌÎ× ËÎ× ÐÈÚÈÎÑ ÉÐÍËÐÌÑÈÌÉ ÖÕÍ ÐÇÌ ÓÎ×ÌÍÛÙÈÎÑ ÐËÜ
ÉÙÉÐÌÚÉ ÔËÎÎÕÐ àÌ ×ÌÐÌÍÚÈÎÌ× ËÎËÛÙÐÈÔËÛÛÙâ ÌÏÌÎ ÓÎ×ÌÍ ÐÇÌ ÍÌÉÐÍÈÔÐÈÏÌ ËÉÉÓÚÊÐÈÕÎÉ
ÕÖ ÔÌÍÐËÈÎÐÙ ËÎ× ÈÎäÎÈÐÌ ÛÈÖÌ ÕÖ ÐÇÌ ÔÕÍÊÕÍËÐÈÕÎß åÎ ÕÍ×ÌÍ ÐÕ ÌÜÐÌÎ× ÐÇÌ ÉÔÌÎËÍÈÕ ÐÕ
ÓÎÔÌÍÐËÈÎÐÙâ ÐÕ ÔËÉÌÉ ãÈÐÇ Ë äÎÈÐÌ ÛÈÖÌ ÕÖ ÐÇÌ ÈÎÏÌÉÐÚÌÎÐ ÊÍÕ�ÌÔÐâ ËÎ× ÐÇÌÍÌàÙ ÐÕ ÑËÈÎ
ÈÎÖÕÍÚËÐÈÕÎ ÕÎ ÊÍÕäÐËàÛÌ ÈÎÏÌÉÐÚÌÎÐ àÌÇËÏÈÕÍ ÓÎ×ÌÍ ÚÕÍÌ ÍÌËÛÈÉÐÈÔ ËÉÉÓÚÊÐÈÕÎÉâ ãÌ
ËÊÊÛÙ Ë èÕÎÐÌ éËÍÛÕ êÈÚÓÛËÐÈÕÎß êÈÚÓÛËÐÈÎÑ ÏËÍÈÕÓÉ ÌÜÊÌÔÐÌ× ÔËÉÇ ÒÕã ÉÐÍÌËÚÉ
ËÛÛÕãÉ ÐÕ ÖÕÍÌÔËÉÐ ÐÇÌ ÌÜÐÌÎÐ ÕÖ ×ÈÉÐÕÍÐÈÕÎ ÔËÓÉÌ× àÙ ÐÇÌ ÈÎÏÌÉÐÈÑËÐÌ× ÐËÜ ÍÌÑÈÚÌÉß
éÕÎÔÛÓÉÈÕÎÉ ËàÕÓÐ ÐÇÌ ÈÎÒÓÌÎÔÌ ÕÖ ÐËÜËÐÈÕÎ ÕÎ ×ÈÏÈ×ÌÎ× ËÎ× ÐÈÚÈÎÑ ÉÐÍËÐÌÑÙ ÔËÎ àÌ
×ÍËãÎß ÆÇÌÉÌ ÍÌÉÓÛÐÉ ãÈÛÛ àÌ ÇÌÛÊÖÓÛ ÖÕÍ ÐÇÌ ËÎËÛÙÉÈÉ ËÎ× ×ÌÉÈÑÎ ÕÖ ÐËÜ ÉÙÉÐÌÚÉ ÐÇËÐ
ËÈÚ ÐÕ ÔÕÚÊÛÙ ãÈÐÇ ÐÇÌ ÎÌÓÐÍËÛÈÐÙ ÊÕÉÐÓÛËÐÌß
ÆÇÌ ÍÌÚËÈÎ×ÌÍ ÕÖ ÐÇÈÉ ÊËÊÌÍ àÌÑÈÎÉ ãÈÐÇ ÐÇÌ ÚÕ×ÌÛ ×ÌÉÈÑÎ ÈÎ ÔÇËÊÐÌÍ ûß�Ì ÊÍÌÉÌÎÐ
ÐÇÌ ÊÍÌæÐËÜ ÔËÉÌ ÈÎ ûßýâ ÈÎÐÍÕ×ÓÔÌ ÐËÜÌÉ ÈÎ ÉÌÔÐÈÕÎ ûßûâ ËÎ× ÊÍÌÉÌÎÐ ÉÕÚÌ ËÎËÛÙÐÈÔËÛ
ÉÕÛÓÐÈÕÎÉ ÓÎ×ÌÍ ÍËÐÇÌÍ ÍÌÉÐÍÈÔÐÈÏÌ ËÉÉÓÚÊÐÈÕÎÉß çÊÊÛÙÈÎÑ Ë èÕÎÐÌ éËÍÛÕ êÈÚÓÛËÐÈÕÎ
ÈÎ ÔÇËÊÐÌÍ , ËÛÛÕãÉ ÐÕ ×ÌÍÈÏÌ ÍÌÉÓÛÐÉ ÓÎ×ÌÍ ÓÎÔÌÍÐËÈÎÐÙß éÇËÊÐÌÍ 2 ÔÛÕÉÌÉ ãÈÐÇ Ë
ÉÓÚÚËÍÙß
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åÖ ãÌ ãËÎÐ ÐÕ ËÎËÛÙáÌ ÐËÜæÈÎ×ÓÔÌ× ×ÈÉÐÕÍÐÈÕÎÉ ãÌ ÎÌÌ× ÐÕ ÍÌÖÌÍ ÐÕ Ë ÙËÍ×ÉÐÈÔÞß �Î×ÌÍÉÊÌÔÈäÔ ËÉÉÓÚÊÐÈÕÎÉ ÐÇÌ ÔÕÎÔÌÊÐ ÕÖ ÐËÜ ÎÌÓÐÍËÛÈÐÙ ÊÍÕÏÈ×ÌÉ ÎÌÓÐÍËÛ ÐËÜ ÉÙÉÐÌÚÉß
ÆÇÌÙ ÉÌÍÏÌ ËÉ ÍÌÖÌÍÌÎÔÌ ÉÙÉÐÌÚÉ ËÎ× ÖÓÍÐÇÌÍÚÕÍÌ ÊÌÍÚÈÐ ÐÕ È×ÌÎÐÈÖÙ ÐÇÌ ÈÎÒÓÌÎÔÌ
ÕÖ ÐËÜËÐÈÕÎ ÕÎ ÈÎÏÌÉÐÕÍÉÝ ×ÌÔÈÉÈÕÎÉß ÆÇÌ ÔÕÎÔÌÊÐ ÕÖ ÎÌÓÐÍËÛÈÐÙ ÕÖ ÐËÜËÐÈÕÎ ÔËÎ àÌ
ÈÎÐÌÍÊÍÌÐÌ× ËÉ Ë ÊËÍÐÈËÛ ËÎËÛÙÐÈÔ Ì7ÔÈÌÎÔÙ ÚÌËÉÓÍÌ ÕÖ ÐËÜ ÉÙÉÐÌÚÉ8 ÕÎ ÐÇÌ ÈÎÏÌÉÐÕÍ
ÛÌÏÌÛß
�Ì ËÊÊÛÙ ÐÇÌ ãÌÛÛæÞÎÕãÎ ÑÍÕãÐÇ ÚÕ×ÌÛ ÈÎÐÍÕ×ÓÔÌ× àÙ �ÕÍ×ÕÎ/êÇËÊÈÍÕ %ý&ü'( ËÎ×
�ÕÍ×ÕÎ %ý&'û( ÐÇËÐ ÇËÉ àÌÌÎ ÌÎÍÈÔÇÌ× àÙ ÐËÜ ËÉÊÌÔÐÉß9 ÆËÞÈÎÑ ËÔÔÕÓÎÐ ÕÖ ÐÇÌ ÕÎÑÕÈÎÑ
×ÈÉÔÓÉÉÈÕÎ ÕÎ ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜËÐÈÕÎ ÈÎ �ÌÍÚËÎÙ 
.ÎÈÑ/�ÕÉÎÈÐáË %û���( ÈÎÏÌÉÐÈÑËÐÌ
ÐÇÌ ÈÎÒÓÌÎÔÌ ÕÖ ÉÈÚÊÛÈäÌ× ×ÈÏÈ×ÌÎ× ËÎ× ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜËÐÈÕÎ ÕÎ ËÉÉÌÐ ÊÍÈÔÈÎÑ ÓÎæ×ÌÍ ÔÌÍÐËÈÎÐÙ ËÎ× ÈÎ ÐÓÍÎ ÕÎ ÈÎÏÌÉÐÕÍÝÉ àÌÇËÏÈÕÍß �Ì ÐËÞÌ ÐÇÈÉ ÚÕ×ÌÛ ËÉ Ë ÉÐËÍÐÈÎÑ
ÊÕÈÎÐ ÖÕÍ ÈÎÐÌÑÍËÐÈÎÑ ÚÕÍÌ ÔÕÚÊÛÌÜ ËÎ× ÍÌËÛæãÕÍÛ× ÐËÜ ÉÙÉÐÌÚÉß åÎ ÐÇÌ ÖÕÛÛÕãÈÎÑâ ãÌËàÉÐÍËÔÐ ÖÍÕÚ ÔÍÕÉÉæàÕÍ×ÌÍ ÌØÌÔÐÉ ÖÕÍ ÉÈÚÊÛÈÔÈÐÙß
åÎÐÍÕ×ÓÔÈÎÑ ÉÓÔÇ Ë ÉÈÚÊÛÈäÌ× ÖÍËÚÌãÕÍÞ ÖÕÍ ÐÇÌ ËÎËÛÙÉÈÉ ÕÖ ÐËÜ ÈÎÒÓÌÎÔÌ ÈÉ �ÓÉÐÈäËàÛÌ
ÉÈÎÔÌ ÚÕÍÌ ÌÛËàÕÍËÐÌ× ËÊÊÍÕËÔÇÌÉ ×Õ ÎÕÐ ÊÌÍÚÈÐ ÐÇÌ ×ÌÍÈÏËÐÈÕÎ ÕÖ ÑÌÎÌÍËÛ ÉÕÛÓÐÈÕÎÉ
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×ÓÌ ÐÕ ÐËÜ ÉÊÌÔÈäÔ ÔÕÚÊÛÈÔËÐÈÕÎÉß=
�Ì ËÉÉÓÚÌ ÐÇÌ %ÎÕÎæÈÎÉÐÈÐÓÐÈÕÎËÛ( ÈÎÏÌÉÐÕÍ ç ÈÎÏÌÉÐÉ ËÎ ËÚÕÓÎÐ

I0
ËÐ ÐÈÚÌ

t = 0ÐÕ ÌÈÐÇÌÍ ÖÕÓÎ× Ë ÔÕÍÊÕÍËÐÈÕÎ ÕÍ àÓÙ ÉÇËÍÌÉß ç ÉÌÛÛÉ ÇÈÉ ÉÐÕÔÞ ËÐ ÐÈÚÌ
t = z ≥ 0ÐÕ ÐÇÌ ÎÕÎæÈÎÉÐÈÐÓÐÈÕÎËÛ ÈÎÏÌÉÐÕÍ 
 ËÐ ÐÇÌ ÊÍÈÔÌ

Vz
ß �ÇÈÛÌ ÇÕÛ×ÈÎÑ ÐÇÌ ÈÎÏÌÉÐÚÌÎÐ

ç ËÎ× 
 àÕÐÇ ÍÌÔÌÈÏÌ ×ÈÏÈ×ÌÎ× ÊËÙÚÌÎÐÉß γ ×ÌÎÕÐÌÉ Ë ÔÕÎÉÐËÎÐ ÖÍËÔÐÈÕÎ ÕÖ ÍÌÐËÈÎÌ×
ÌËÍÎÈÎÑÉ ÖÍÕÚ ÐÇÌ ÊÍÕäÐ

Pt

ÈÎ ÌËÔÇ ÊÌÍÈÕ×
t
ãÈÐÇ

0 ≤ γ ≤ 1
ß
i
×ÌÉÔÍÈàÌÉ ÐÇÌ ÚËÍÞÌÐ

ÍËÐÌ ÕÖ ÍÌÐÓÍÎß ëÓÍÐÇÌÍâ ãÌ ËÉÉÓÚÌ ÊÌÍÖÌÔÐ ÔËÊÈÐËÛ ÚËÍÞÌÐÉ ÓÎ×ÌÍ ÔÌÍÐËÈÎÐÙâ ãÇÌÍÌ iÈÉ ËÉÉÓÚÌ× ÔÕÎÉÐËÎÐß ÆÇÌ ×ÌàÈÐ ËÎ× ÔÍÌ×ÈÐ ÍËÐÌÉ ËÍÌ È×ÌÎÐÈÔËÛß �ÌÑÛÌÔÐÈÎÑ ÐËÜ ÌØÌÔÐÉâ
ÐÇÈÉ ÛÌË×É ÐÕ ×ÈÏÈ×ÌÎ× ÊËÙÚÌÎÐÉ ÐÕ àÕÐÇ ç ËÎ× 
ò

Dt = (1 − γ)Pt.
%ý(

úÌÍÌâ ×ÈÏÈ×ÌÎ×É ËÎ× ÊÍÕäÐÉ ÑÍÕã ËÐ ÍËÐÌ
γi
ò

Dt+1 = (1 − γ) (1 + γi) Pt
%û(

= (1 + γi) Dt.

�Ì ÉÐËÍÐ ÚÕ×ÌÛÛÈÎÑ ÓÎ×ÌÍ ÐÇÌ ÍËÐÇÌÍ ÍÌÉÐÍÈÔÐÈÏÌ ËÉÉÓÚÊÐÈÕÎ ÕÖ I0
ÌËÍÎÈÎÑ Ë ÍËÐÌ ÕÖ

ÍÌÐÓÍÎ àÌÖÕÍÌ ÐËÜÌÉ ãÇÈÔÇ Ì-ÓËÛÉ i
ß ÆÇÈÉ ÈÚÊÛÈÌÉ ÐÇËÐ

i
×ÌÉÔÍÈàÌÉ ÐÇÌ ÈÎÐÌÍÎËÛ ËÉ ãÌÛÛ

ËÉ ÐÇÌ ÌÜÐÌÍÎËÛ ÊÍÌæÐËÜ ÍËÐÌ ÕÖ ÍÌÐÓÍÎ ÕÎ ÐÇÌ ÈÎÏÌÉÐÚÌÎÐ ËÎ×
P1 = iI0.

%,(
åÎ ÔÇËÊÐÌÍ ,â ãÌ ÈÎÐÍÕ×ÓÔÌ ÓÎÔÌÍÐËÈÎÐÙ ÈÎÐÕ ÔËÛÔÓÛÓÉ àÙ ÚÌËÎÉ ÕÖ Ë èÕÎÐÌ éËÍÛÕ
êÈÚÓÛËÐÈÕÎ ËÎ× ËÉÉÓÚÌ ÌßÑß ÉÐÕÔÇËÉÐÈÔ ÈÎÐÌÍÎËÛ ÍÌÐÓÍÎÉß ÆÇÌÍÌàÙâ ãÌ ãÈÛÛ ÍÌÛËÜ ÐÇÌ
ËÉÉÓÚÊÐÈÕÎ ÕÖ ÚËÍÑÈÎËÛ ÈÎÏÌÉÐÚÌÎÐ ËÎ× ÈÚÊÛÈÔÈÐÛÙ ËÛÛÕã ×ÈØÌÍÈÎÑ ÍËÐÌÉ ÕÖ ÍÌÐÓÍÎò
ÐÇÌ ÌÜÊÌÔÐÌ× ÏËÛÓÌ ÕÖ iin

â ÐÇÌ ÈÎÐÌÍÎËÛ ÍËÐÌâ ÚËÙ ×ÈØÌÍ ÖÍÕÚ ×ÌÐÌÍÚÈÎÈÉÐÈÔ
iex
â ÐÇÌ

ÌÜÐÌÍÎËÛ ÍËÐÌ ÕÖ ÍÌÐÓÍÎß

u>? @hABmgff Cfeeids
ÆÇÌ ÎÌÐ ÊÍÌÉÌÎÐ ÏËÛÓÌ ÕÖ çÝÉ ÈÎÏÌÉÐÚÌÎÐ V0

ËÐ ÐÈÚÌ
t = 0

ÈÉ Ë ÖÓÎÔÐÈÕÎ ÕÖ ×ÈÏÈ×ÌÎ×
ÊËÙÚÌÎÐÉ ×ÓÍÈÎÑ ÐÇÌ ÈÎÐÌÍÏËÛ 0 < t ≤ z

ËÎ× ÐÇÌ ÊÍÈÔÌ
Vz

ÈÎÏÌÉÐÕÍ 
 ÈÉ ãÈÛÛÈÎÑ ÐÕ ÊËÙ
ËÐ ÐÈÚÌ

t = z
ß
Vz

ÔÕÎÉÈÉÐÉ ÕÖ ÐÇÌ ÊÍÌÉÌÎÐ ÏËÛÓÌ ÕÖ ÖÓÐÓÍÌ ÔËÉÇ ÒÕãÉß
çÉÉÓÚÈÎÑ

γ < 1
ËÎ×

T = ∞
ãÌ äÎ×ò

Vz =
∞
∑

t=z+1

Dt (1 + i)−(t−z) %2(

= I0 (1 + γi)z
.

éÕÎÉÈ×ÌÍÈÎÑ ÈÎÐÌÍÎËÛ ÑÍÕãÐÇ ËÎ× ÈÎÐÌÍÌÉÐ ÌØÌÔÐÉâ ÐÇÌ ÊÍÌÉÌÎÐ ÏËÛÓÌ ÕÖ ×ÈÏÈ×ÌÎ×É ËÐ
ÐÈÚÌ

t = z
Ì-ÓËÛÉ ÐÇÌ ÏËÛÓÌ ÕÖ I0

ß ëÍÕÚ Ì-ÓËÐÈÕÎ %2( ÖÕÛÛÕãÉò

V0 =
z
∑

t=1

Dt (1 + i)−t + Vz (1 + i)−z %ü(

= I0.
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ÆÇÌ ÍÌÛËÐÈÕÎ
V0 = I0

ÇÕÛ×É ÌÏÌÎ ÖÕÍ T < ∞
ßÿD

çÉÉÓÚÈÎÑ È×ÌÎÐÈÔËÛ ÈÎÐÌÍÎËÛ ËÎ× ÌÜÐÌÍÎËÛ ÍËÐÌÉ ÕÖ ÍÌÐÓÍÎ ÐÇÌ ÈÎÏÌÉÐÕÍ ÈÉ ÈÎ×ÈØÌÍÌÎÐ
ÐÕãËÍ×É ÈÎÏÌÉÐÈÎÑ ÈÎÐÕ ÐÇÌ ÔÕÍÊÕÍËÐÈÕÎ ÕÍ ÕÎ ÐÇÌ ÔËÊÈÐËÛ ÚËÍÞÌÐß éÕÎÔÌÎÐÍËÐÈÎÑ ÕÎ
ÚËÍÑÈÎËÛ ÈÎÏÌÉÐÚÌÎÐâ ÈßÌß ÕÎ ËÎ ÈÎÏÌÉÐÚÌÎÐ ÊÍÕ�ÌÔÐ ÌËÍÎÈÎÑ Ë ÊÍÌæÐËÜ ÍÌÐÓÍÎ Ì-ÓËÛ ÐÕ
i
â Ë ÐËÜ ÉÙÉÐÌÚ ÈÉ ÎÌÓÐÍËÛ ãÇÌÎÌÏÌÍ ÐÇÌ Ì-ÓÈÛÈàÍÈÓÚ ÔÕÎ×ÈÐÈÕÎ %ü( ÍÌÚËÈÎÉ ÓÎËØÌÔÐÌ×ß
åÎ ÐÇÈÉ ÔËÉÌâ ËÎ ÈÎÏÌÉÐÕÍ ãÕÎÝÐ Ë×�ÓÉÐ ÇÈÉ ÈÎÏÌÉÐÚÌÎÐ ×ÌÔÈÉÈÕÎ ×ÓÌ ÐÕ ÐËÜ ÍÌËÉÕÎÉß
éÕÎÉÌ-ÓÌÎÐÛÙâ ÐÇÌ ËàÕÏÌ ×ÌÉÔÍÈàÌ× ÐËÜæÖÍÌÌ ÚÕ×ÌÛ ÔËÎ àÌ ÈÎÐÌÍÊÍÌÐÌ× ËÉ Ë ÙËÍ×ÉÐÈÔÞÖÕÍ ÎÌÓÐÍËÛ ÐËÜËÐÈÕÎ ÓÎ×ÌÍ ÔÌÍÐËÈÎÐÙß
åÎ ÔÕÎÐÍËÉÐâ ÍÌÛËÜÈÎÑ ÐÇÌ ËÉÉÓÚÊÐÈÕÎ ÕÖ ÚËÍÑÈÎËÛ ÈÎÏÌÉÐÚÌÎÐ ÈÚÊÛÈÌÉ ÛÕÉÈÎÑ ÐÇÌ ÊÕÉæÉÈàÈÛÈÐÙ ÐÕ ×ÌÍÈÏÌ ÎÌÓÐÍËÛ ÐËÜ ÉÙÉÐÌÚÉ ËÎ× ÐÕ ËÎËÛÙáÌ ÍÌËÛæãÕÍÛ× ÐËÜ ×ÈÉÐÕÍÐÈÕÎÉ ÈÎ
×ÌÐËÈÛß ÆÇÌÎâ ãÌ ÉÐÈÛÛ ãÈÛÛ àÌ ËàÛÌ ÐÕ ×ÌÐÌÍÚÈÎÌ ÐÇÌ ×ÈÍÌÔÐÈÕÎ ÕÖ ÐÇÌ ÐËÜæÈÎ×ÓÔÌ×ÌØÌÔÐÉß éÕÎÔÛÓÉÈÕÎÉ ÕÎ ãÇÌÐÇÌÍ ÐÇÌ ÈÎÒÓÌÎÔÌ ÕÖ ÐÇÌ ÓÎ×ÌÍÛÙÈÎÑ ÐËÜ ÉÙÉÐÌÚ ÕÎ ÈÎæ
ÏÌÉÐÚÌÎÐ àÌÇËÏÈÕÍ ÈÉ ×ÌÉÈÍËàÛÌ ÖÍÕÚ ËÎ Ì7ÔÈÌÎÔÙ ÊÕÈÎÐ ÕÖ ÏÈÌã ÈÎ ÐÇÈÉ ÖÍËÚÌãÕÍÞ ËÍÌ
ÎÕ ÛÕÎÑÌÍ ÊÕÉÉÈàÛÌß

u>u cdefsgheids @hAheijd
åÎÐÍÕ×ÓÔÈÎÑ ÐËÜËÐÈÕÎâ ÊÍÕäÐÉ ËÍÌ ËÉÉÓÚÌ× ÐÕ àÌ ÉÓà�ÌÔÐ ÐÕ ÐÇÌ ÔÕÍÊÕÍËÐÌ ÐËÜ ÍËÐÌ τc

â
ãÇÈÔÇ ÚËÙ ×ÈØÌÍ ÖÍÕÚ ÐÇÌ ÈÎÔÕÚÌ ÐËÜ ÍËÐÌ τ

ÛÌÏÈÌ× ÕÎ ÊÌÍÉÕÎËÛ ÈÎÔÕÚÌß �ÈÏÈ×ÌÎ×É
ËÍÌ ÉÓà�ÌÔÐ ÐÕ ÊÌÍÉÕÎËÛ ÈÎÔÕÚÌ ÐËÜ τA

ËÎ×
τB

â ç ËÎ× 
ÝÉ ÚËÍÑÈÎËÛ ÈÎÔÕÚÌ ÐËÜ ÍËÐÌÉß
ëÕÍ ÉÈÚÊÛÈÔÈÐÙ ãÌ ËÉÉÓÚÌÿÿ

τA = τB = τ. %'(
�ÌÊÌÎ×ÈÎÑ ÕÎ ÐÇÌ ÐËÜ ÉÙÉÐÌÚâ ÔÕÍÊÕÍËÐÌ ÐËÜÌÉ ÚËÙ ÕÍ ÎÕÐ ÚËÙ ÎÕÐ àÌ ÈÚÊÓÐÌ×ß
�È-ÓÈ×ËÐÈÎÑ ÐÇÌ ÔÕÍÊÕÍËÐÈÕÎ ËÐ ÐÈÚÌ

t = T
ÐÇÌ ÈÎÏÌÉÐÕÍ 
 ÍÌÔÌÈÏÌÉ ÐÇÌ ÕÍÈÑÈÎËÛÛÙ

ÈÎÏÌÉÐÌ× ÖÓÎ×É
I0

ËÎ× ×ÈÏÈ×ÌÎ×É ÖÍÕÚ ÍÌÐËÈÎÌ× ÌËÍÎÈÎÑÉ ÛÌÉÉ ÈÎÔÕÚÌ ÐËÜß T ÚËÙ àÌ
äÎÈÐÌ ÕÍ ÈÎäÎÈÐÌß éËÊÈÐËÛ ÑËÈÎÉ ÚËÙ àÌ ÍÌËÛÈáÌ× àÙ ÉËÛÌ ÕÍ ÛÈ-ÓÈ×ËÐÈÕÎ ËÎ× ËÍÌ ÐËÜÌ×
ËÐ Ë ÉÊÌÔÈäÔ ÐËÜ ÍËÐÌ

τcgt = β · τg

â ãÇÌÍÌ
β
ÈÉ Ë ÔÕÌ7ÔÈÌÎÐ ÕÖ ÐÇÌ ÓÎ×ÌÍÛÙÈÎÑ ÐËÜ

ÉÙÉÐÌÚ ÐÇËÐ ×ÌÐÌÍÚÈÎÌÉ ÐÇÌ ÖÍËÔÐÈÕÎ ÕÖ ÐÇÌ ÔËÊÈÐËÛ ÑËÈÎÉ ÕÍ ×ÈÏÈ×ÌÎ×Éâ ÍÌÉÊÌÔÐÈÏÌÛÙâ
ÐÇËÐ ÈÉ ×ÓÌ ÐÕ ÈÎÔÕÚÌ ÐËÜËÐÈÕÎ ãÈÐÇ β ≤ 1

ß ëÓÍÐÇÌÍâ
τg

ãÈÐÇ
0 ≤ τg < 1

×ÌÎÕÐÌÉ ÐÇÌ
ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜ ÍËÐÌ ÐÇËÐ ÚËÙ ÕÍ ÚËÙ ÎÕÐ àÌ Ì-ÓËÛ ÐÕ τ

ßÿ� $ßÑßâ
β = 0.5

×ÌÎÕÐÌÉ Ë
ÐËÜ ÉÙÉÐÌÚ ãÈÐÇ Ë ü�� ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖ ÖÕÍ ÔËÊÈÐËÛ ÑËÈÎÉßÿ�
çÉÉÓÚÈÎÑ ËÎ ÈÎäÎÈÐÌ ÐÈÚÌ ÇÕÍÈáÕÎ ÌÜÔÛÓ×ÌÉ ÔËÉÌÉ ÖÍÕÚ ÐÇÌ ËÎËÛÙÉÈÉ ãÇÌÍÌ ÈÎÏÌÉÐÕÍ

 ÉÌÛÛÉ ÇÈÉ ÉÇËÍÌ ÕÖ ÐÇÌ ÔÕÍÊÕÍËÐÈÕÎß úÌ ÈÉ ãÈÛÛÈÎÑ ÐÕ ÊËÙ Ë ÊÍÈÔÌ V τ

z

ËÎÐÈÔÈÊËÐÈÎÑ ËÛÛ
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ÖÓÐÓÍÌ ÐËÜ ÌØÌÔÐÉßÿ	

V τ
z =

∞
∑

t=z+1

(1 − ατc) (1 − βτ) Dt (1 + iτ )
−(t−z)

, %*(

ãÈÐÇ
0 ≤ α

ß
α
×ÌÎÕÐÌÉ ÐÇÌ ÖÍËÔÐÈÕÎ ÕÖ ÔÕÍÊÕÍËÐÌ ÐËÜ ÐÇËÐ ÔËÎÎÕÐ àÌ ÈÚÊÓÐÌ× ÖÕÍ

ÈÎÔÕÚÌ ÐËÜ ÊÓÍÊÕÉÌÉß åÖ
α = 0

â ÐÇÌ ÚÕ×ÌÛ ×ÌÉÔÍÈàÌÉ Ë ÖÓÛÛ ÈÚÊÓÐËÐÈÕÎ ÉÙÉÐÌÚâ ÖÕÍ
α = 1

â ÔÕÍÊÕÍËÐÌ ÐËÜ ÈÉ ÌÜÔÛÓ×Ì× ÖÍÕÚ ÈÚÊÓÐËÐÈÕÎ ËÎ× ÐÇÌ ÔÕÍÊÕÍËÐÌ ÐËÜ àÓÍ×ÌÎ
àÌÔÕÚÌÉ ÓÎÍÌÖÓÎ×ËàÛÌß )ÕÉÐæÔÕÍÊÕÍËÐÌæÐËÜ ×ÈÏÈ×ÌÎ×É ÔËÎ àÌ ×ÌÉÔÍÈàÌ× àÙ

Dτc

t = (1 − ατc) Dt
%+(

= (1 − γ) (1 − ατc)Pt

ËÎ× ËÍÌ ×ÓÌ ÐÕ ÈÎÔÕÚÌ ÐËÜËÐÈÕÎß ëÓÍÐÇÌÍâ ÐÇÌ ËÖÐÌÍæÐËÜ ×ÈÉÔÕÓÎÐ ÖËÔÐÕÍ ÕÖ ÐÇÌ ÈÎÏÌÉÐÕÍ
iτ
ÔËÎ àÌ ãÍÈÐÐÌÎ ËÉ

iτ =
(

1 − βF τ
)

(1 − χατc) i, %&(
ãÇÌÍÌ

0 ≤ βF ≤ 1
ÈÎ×ÈÔËÐÌÉ ãÇÌÐÇÌÍ ÐÇÌ ËÛÐÌÍÎËÐÈÏÌ äÎËÎÔÈËÛ ÈÎÏÌÉÐÚÌÎÐ ÕÎ ÐÇÌ

ÔËÊÈÐËÛ ÚËÍÞÌÐ ÈÉ ÉÓà�ÌÔÐ ÐÕ ÊÍÈÏÈÛÌÑÌ× ÐËÜËÐÈÕÎâ ÌßÑßâ ÌÎ�ÕÙÉ Ë ü�� ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖ
%βF = 0.5

( ÕÍ ÇËÉ ÐÕ àÌ ÐËÜÌ× ãÈÐÇÕÓÐ ËÎÙ ÊÍÈÏÈÛÌÑÌÉ %βF = 1
( ÉÓÔÇ ËÉ ÈÎ ÐÇÌ ÔËÉÌ

ÕÖ ËÎ ÈÎÏÌÉÐÚÌÎÐ ÈÎÐÕ àÕÎ×Éß χ ÉÇÕãÉ ãÇÌÐÇÌÍ ËÎ ËÛÐÌÍÎËÐÈÏÌ ÈÎÏÌÉÐÚÌÎÐ ÈÉ ÍÌËÛÈáÌ×
ÈÎ ÐÇÌ ÔÕÍÊÕÍËÐÈÕÎ %χ = 1

( ÕÍ ËÉ Ë ÊÍÈÏËÐÌ ÈÎÏÌÉÐÚÌÎÐ ÕÎ ÊÌÍÉÕÎËÛ ÛÌÏÌÛ %χ = 0
(ß

ëÕÍ ÍÌËÉÕÎÉ ÕÖ ÉÈÚÊÛÈÔÈÐÙ ÈÎ ÐÇÌ ÖÕÛÛÕãÈÎÑ ãÌ ÖÕÔÓÉ ÕÎ ç ÔÕÎÉÈ×ÌÍÈÎÑ ËÎ ËÛÐÌÍÎËÐÈÏÌ
ÊÌÍÉÕÎËÛ ÛÌÏÌÛ ÈÎÏÌÉÐÚÌÎÐ ÈÎ àÕÎ×Éß ÆÇÌÍÌàÙâ ãÌ ÉÌÐ χ = 0

ËÎ×
βF = 1

ß ÆÇÌ ËÖÐÌÍæÐËÜ×ÈÉÔÕÓÎÐ ÖËÔÐÕÍ ÍÌ×ÓÔÌÉ ÐÕ
iτ = (1 − τ) i. %ý�(

çÐ ÐÇÌ ÔÕÍÊÕÍËÐÌ ÛÌÏÌÛâ ÐÇÌ ÍÌÛÌÏËÎÐ ËÖÐÌÍæÐËÜ ×ÈÉÔÕÓÎÐ ÖËÔÐÕÍ ÈÉ ÑÈÏÌÎ àÙò

iτc
= (1 − τc) i. %ýý(

úÌÎÔÌâ ËÎ ËÚÕÓÎÐ

Rτc

t = γ (1 − τc) Pt
%ýû(

ÚËÙ àÌ ÍÌÐËÈÎÌ× ÖÕÍ ÈÎÐÌÍÎËÛ ÈÎÏÌÉÐÚÌÎÐ ËÎ× ÐÇÌÍÌàÙ ÖÕÍ ÖÓÐÓÍÌ ÔÕÍÊÕÍËÐÌ ÑÍÕãÐÇò

Pt+1 = Pt + i (1 − τc) γPt
%ý,(

= (1 + γiτc
) Pt.

)ÍÕäÐ ÈÎ ÊÌÍÈÕ×
t+1

ÔÕÎÉÈÉÐÉ ÕÖ ÊÍÕäÐ ÖÍÕÚ ÐÇÌ ÊÍÌÔÌ×ÈÎÑ ÊÌÍÈÕ× ÌÎÇËÎÔÌ× àÙ ÑÍÕãÐÇ
ÖÍÕÚ ÍÌÐËÈÎÌ× ÌËÍÎÈÎÑÉ ËÖÐÌÍ ÐËÜÌÉß �ÈÏÈ×ÌÎ×É ÇËÏÌ ÐÕ àÌ ÐËÜÌ× ÓÉÈÎÑ ÐÇÌ ÈÎ×ÈÏÈ×ÓËÛ
ÚËÍÑÈÎËÛ ÈÎÔÕÚÌ ÐËÜ ÍËÐÌß ëÍÕÚ Ì-ÓËÐÈÕÎÉ %+( ËÎ× %ý,( ÖÕÛÛÕãÉò

Dτc

t+1 = (1 + γiτc
)Dτc

t . %ý2(
14
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åÎ ÕÍ×ÌÍ ÐÕ ÖÕÔÓÉ ÕÎ ÌÔÕÎÕÚÈÔËÛÛÙ ÊÛËÓÉÈàÛÌ ÏËÛÓÌÉ ÕÖ γ
ãÌ ÍÌÉÐÍÈÔÐ ÐÇÌ ÍÌÐÌÎÐÈÕÎ ÍËÐÌ

ÖÕÍ ÔËÉÌÉ ãÈÐÇ
T = ∞

ËÉ ÖÕÛÛÕãÉòÿ�

γ < 1 ∧ γ <
iτ

iτcËÎ× äÎËÛÛÙ ÍÌÔÌÈÏÌ

V τ
0 =

z
∑

t=1

(1 − βτ)Dτc

t (1 + iτ )
−t + V τ

z (1 + iτ )
−z − βτg (V τ

z − I0) (1 + iτ )
−z %ýü(

= I0 ·
(1 − βτ) (1 − γ) (1 − ατc)

(1 − τ) − γ (1 − τc)

(

1 − βτg ·
(1 + γiτc

)z − (1−τ)−γ(1−τc)
(1−βτ)(1−γ)(1−ατc)

(1 + iτ )
z

)

= I0 · φ ·

(

1 − βτg ·
(1 + γiτc

)z − 1
φ

(1 + iτ )
z

)

,

ãÇÌÍÌ
φ =

(1 − βτ) (1 − γ) (1 − ατc)

(1 − τ) − γ (1 − τc)
. %ý'(

ÆÇÌÍÌàÙâ ÊÍÌÉÌÎÐ ÏËÛÓÌÉ ãÈÐÇ

V τ
0 T 1

ËÍÌ ÊÕÉÉÈàÛÌß

JKJKL MNöö OPQNÂÄÂ÷ðù RîÁÂíP
êÌÐÐÈÎÑ

α = 0
ËÎ×

β, βF = 1
â ãÌ ×ÌÐÌÍÚÈÎÌ ÐÇÌ ÊÍÌÉÌÎÐ ÏËÛÓÌ ÕÖ çÝÉ ÔÕÍÊÕÍËÐÌ

ÈÎÏÌÉÐÚÌÎÐ ÓÎ×ÌÍ Ë ÖÓÛÛ ÈÚÊÓÐËÐÈÕÎ ÉÙÉÐÌÚò

V τ
0 =

z
∑

t=1

(1 − τ) Dt (1 + iτ )
−t + V τ

z (1 + iτ )
−z %ý*(

−τg (V τ
z − I0) (1 + iτ )

−z

= I0 · ρ

(

1 − τg ·
(1 + γiτc

)z − 1
ρ

(1 + iτ )
z

)

ãÈÐÇ
ρ = φ|α=0,β=1,βF =1 =

(1 − τ) (1 − γ)

(1 − τ) − γ (1 − τc)
. %ý+(

åÎÏÌÉÐÕÍ ç ãÈÛÛ ÔÕÚÊËÍÌ ÐÇÈÉ ÊÍÌÉÌÎÐ ÏËÛÓÌ ãÈÐÇ ÐÇÌ ÖÓÎ×É ÐÕ àÌ ÈÎÏÌÉÐÌ×â I0
ß

åÐ ÈÉ ÕàÏÈÕÓÉ ÐÇËÐ ×ÈÉÐÕÍÐÈÕÎ ÈÉ ×ÓÌ ÐÕ

•
ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜËÐÈÕÎ ÈÎÐÍÕ×ÓÔÌ× àÙ τcgt = β · τg = τg > 0

ËÎ×
15
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iτc
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•
ÐÇÌ ÖËÔÐÕÍ

ρ
â ãÇÈÔÇ ÈÎÔÕÍÊÕÍËÐÌÉ ÌØÌÔÐÉ ÖÍÕÚ ×ÈÏÌÍÑÈÎÑ ÔÕÍÊÕÍËÐÌ ËÎ× ÈÎÔÕÚÌ

ÐËÜ ÍËÐÌÉ ÖÕÍ γ > 0
ß

åÖ
γ < iτ

iτc

â ãÌ äÎ×ò

ρ > 1 ⇔ τ > τc.
%ý&(

åÎ ÕÍ×ÌÍ ÐÕ ÖÕÔÓÉ ÕÎ ÐÇÌ ÌØÌÔÐÉ ÖÍÕÚ ÔÓÍÍÌÎÐ ÐËÜËÐÈÕÎ ãÌ ÎÌÑÛÌÔÐ ÔËÊÈÐËÛ ÑËÈÎÉ ÐËæ
ÜËÐÈÕÎ ËÎ× ËÉÉÓÚÌ

τg = 0
ß ÆÇÌÎâ ÖÍÕÚ %ý&( ÖÕÛÛÕãÉ ÐÇËÐ ãÇÌÎÌÏÌÍ ÐÇÌ ÈÎ×ÈÏÈ×ÓËÛ

ÈÎÔÕÚÌ ÐËÜ ÍËÐÌ
τ
ÈÉ ÛÕãÌÍ ÐÇËÎ ÐÇÌ ÔÕÍÊÕÍËÐÌ ÐËÜ ÍËÐÌ

τc

â ãÌ äÎ×
V τ

0 < I0
ß ÆÇÈÉ

ÈÎ×ÈÔËÐÌÉ ÐÇËÐ ÈÎÏÌÉÐÈÎÑ ÈÎÐÕ ÐÇÌ ÔÕÍÊÕÍËÐÈÕÎ ÌËÍÎÉ ÛÌÉÉ ÐÇËÎ ÈÎÏÌÉÐÈÎÑ ÕÎ ÐÇÌ ÔËÊÈÐËÛ
ÚËÍÞÌÐß åÖ

τ = τc

â ãÌ äÎ×
V τ

0 = I0
ËÎ× ÇÌÎÔÌ ÎÌÓÐÍËÛ ÐËÜËÐÈÕÎß ëÕÍ ÈÎÉÐËÎÔÌ ÖÕÍ

τ = τc = 0.4
ÐÇÌ ÚÓÛÐÈÊÛÈÌÍ V τ

0

I0

àÌÔÕÚÌÉ ýß ç ÛÕãÌÍ ÔÕÍÊÕÍËÐÌ ÐËÜ ÍËÐÌ ÛÌË×É ÔÌÐÌÍÈÉ
ÊËÍÈàÓÉ ÐÕ ËÎ ÓÎÊÍÕäÐËàÛÌ ÈÎÏÌÉÐÚÌÎÐß çÉ ÛÕÎÑ ËÉ ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜËÐÈÕÎ ÈÉ ÈÑÎÕÍÌ×
ËÛÛ ÐÇÌÉÌ ÔÕÎÔÛÓÉÈÕÎÉ ÇÕÛ× ÍÌÑËÍ×ÛÌÉÉ ÕÖ ãÇÌÎ ç ÉÌÛÛÉ ÇÈÉ ÉÐÕÔÞâ ÈßÌß ÐÇÌ ×ÌÔÈÉÈÕÎ ÈÉ
ÓÎËØÌÔÐÌ× àÙ ÈÎÐÌÍÌÉÐ ÈÎÒÓÌÎÔÌÉß
ÆÇÌ ÍËÐÌ ÕÖ ÍÌÐÌÎÐÈÕÎ ÈÎÒÓÌÎÔÌÉ ÐÇÌ ÉÈáÌ ÕÖ ÐÇÌ ÐËÜæÈÎ×ÓÔÌ× ×ÈÉÐÕÍÐÈÕÎÉ ÉÈÑÎÈäÔËÎÐÛÙ
%ÔÖß äÑÓÍÌ ý(ß ÆÇÌ ÇÈÑÇÌÍ γ

â ÐÇÌ ÇÈÑÇÌÍ ÐÇÌ ÖÍËÔÐÈÕÎ ÕÖ ÊÍÕäÐ ÉÓà�ÌÔÐ ÐÕ ÔÕÍÊÕÍËÐÌ
ÑÍÕãÐÇ ËÎ× ÐÇÌÍÌàÙ ÐÇÌ ÇÈÑÇÌÍ ÌÈÐÇÌÍ ÐÇÌ ËÚÕÓÎÐ ÉÓØÌÍÈÎÑ ÖÍÕÚ Ë ÍÌÛËÐÈÏÌÛÙ ÇÈÑÇ
ÔÕÍÊÕÍËÐÌ ÐËÜ ÍËÐÌ ÕÍ ÌÎ�ÕÙÈÎÑ ÍÌÛËÐÈÏÌ ÐËÜ ÊÍÈÏÈÛÌÑÌÉ ËÐ ÔÕÍÊÕÍËÐÌ ÛÌÏÌÛß ÆÇÌÍÌÖÕÍÌâ
ÇÈÑÇÌÍ

γ
ÈÎ×ÈÔËÐÌÉ Ë ÚÕÍÌ ÈÎÐÌÎÉÈÏÌ ×ÈÉÐÕÍÐÈÕÎËÛ ÈÎÒÓÌÎÔÌ ÕÖ ×ÈÏÌÍÑÈÎÑ ÔÕÍÊÕÍËÐÌ ËÎ×

ÈÎÔÕÚÌ ÐËÜ ÍËÐÌÉß

g

4.0=t

36.0=t

3.0=t

25.0=t

1.4

1.2

1

0.8

0.6

0.4

x

y

x

y
0

0

I

V
t

42.0=t

ëÈÑÓÍÌ ýò V τ
0

I0

ÖÕÍ
τc = 0.4

â ÏËÍÈÕÓÉ γ
ËÎ×

τ
ãÈÐÇÕÓÐ ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜËÐÈÕÎ

åÖ
τg > 0

â Ë ×ÈÏÈ×ÌÎ× ÊÕÛÈÔÙ ãÈÐÇ γ = 0
ÊÍÌÏÌÎÐÉ ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜËÐÈÕÎß éÕÍÊÕÍËÐÌ

ÑÍÕãÐÇ ×ÕÌÉ ÎÕÐ ÕÔÔÓÍ ËÎ× ÖÓÍÐÇÌÍÚÕÍÌâ ËÐ ÐÈÚÌ
t = z

ÐÇÌÍÌ ËÍÌ ÎÕ ÔËÊÈÐËÛ ÑËÈÎÉ
ÐÕ àÌ ÍÌËÛÈáÌ× àÙ ÉËÛÌß åÎ ÔÕÎÐÍËÉÐâ ÍÌÐËÈÎÌ× ÌËÍÎÈÎÑÉâ ÈßÌß

γ > 0
â ÛÌË× ÐÕ

ρ 6= 1ãÇÈÔÇ ÈÎ×ÈÔËÐÌÉ Ë ×ÈÉÐÕÍÐÈÕÎÉß ÆÇÌ ×ÈÍÌÔÐÈÕÎ ÕÖ ÐÇÌ ÐËÜ ÈÎÒÓÌÎÔÌ ×ÌÊÌÎ×É ÕÎ ÏËÍÈÕÓÉ
+



ÊËÍËÚÌÐÌÍÉß �ÎÈ-ÓÌ ÔÕÎÔÛÓÉÈÕÎÉ ÔËÎÎÕÐ àÌ ×Ì×ÓÔÌ× ÌÈÐÇÌÍ ÖÕÍ
τ < τc

ÕÍ ÖÕÍ
τ > τc

ß
åÐ ÇËÉ ÐÕ àÌ äÑÓÍÌ× ÕÓÐ ãÇÌÐÇÌÍ ÐÇÌ àÌÎÌäÐ ÖÍÕÚ ÊÍÌÖÌÍÌÎÐÈËÛ ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜËÐÈÕÎ
ÌÜÔÌÌ×É ÌØÌÔÐÉ ÖÍÕÚ ÔÓÍÍÌÎÐ ÐËÜËÐÈÕÎ ÈÎ ÖËÔÐÕÍ ρ

ßÿ# åÖ
τ < τc

â ÖÕÛÛÕãÉ
ρ < 1

â ÈÖ
τ = τc

â
ÖÕÛÛÕãÉ

ρ = 1
ËÎ× ÖÕÍ

τ > τc

äÎËÛÛÙ ρ > 1
â ÍÌÉÊÌÔÐÈÏÌÛÙß 4ÎÛÙ ÖÕÍ τ = τc

ËÎ×
z > 0ËÎ ÓÎËÚàÈÑÓÕÓÉ ÔÕÎÔÛÓÉÈÕÎ ËàÕÓÐ ÐÇÌ ×ÈÉÐÕÍÐÈÕÎ ÔËÎ àÌ ×Ì×ÓÔÌ×ò

V τ
0 < I0

ß

45.0=t

4.0=t

36.0=t

3.0=t

z

100806040200

1.05

1

0.95

0.9

x

y

x

y

tax-free model

0

0

I

V
t

ëÈÑÓÍÌ ûò V τ
0

I0

ÓÎ×ÌÍ ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜËÐÈÕÎ ÖÕÍ τc = 0.4
â ÏËÍÈÕÓÉ τ

ËÎ×
z

ëÈÑÓÍÌ û ÌÜÌÚÊÛÈäÌÉ ÐÇÌ ÐËÜæÈÎ×ÓÔÌ× ×ÈÉÐÕÍÐÈÕÎÉ ÖÕÍ τc = 0.40
â
i = 0.1

â
γ = 0.5

ËÎ×
τg = τ

2

×ÌÊÌÎ×ÈÎÑ ÕÎ ÐÈÚÌ
z
ß 4ÎÛÙ ÇÈÑÇ ÈÎÔÕÚÌ ÐËÜ ÍËÐÌÉ ËÛÛÕã ÓÎÈ-ÓÌ ×ÌÔÈÉÈÕÎÉ

ÉÈÎÔÌ ÐÇÌÎ V τ
0

I0
> 1

ÖÕÍ ËÛÛ
z
ß åÖ

τ = τc

â ÐÇÌ ÊÍÕÊÌÍÐÙ ÕÖ ÐËÜ ÎÌÓÐÍËÛÈÐÙ ÇÕÛ×É ÕÎÛÙ ÖÕÍ
ËÎ ÈÚÚÌ×ÈËÐÌ ÉËÛÌ ÕÖ ÉÇËÍÌÉß êÌÛÛÈÎÑ ÐÇÌ ÉÇËÍÌÉ ÈÎ

z = 0
ËÏÕÈ×É ÔËÊÈÐËÛ ÑËÈÎÉ ËÎ×

ÐÇÌÍÌàÙ ËÏÌÍÐÉ ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜËÐÈÕÎß ëÕÍ z > 0
ËÎ× È×ÌÎÐÈÔËÛ ÔÕÍÊÕÍËÐÌ ËÎ× ÈÎÔÕÚÌ

ÐËÜ ÍËÐÌÉâ ÈÎÏÌÉÐÈÎÑ ÈÎÐÕ ÐÇÌ %ÑÍÕãÈÎÑ( ÔÕÍÊÕÍËÐÈÕÎ ÈÉ ÛÌÉÉ ËÐÐÍËÔÐÈÏÌ ÐÇËÎ ÈÎÏÌÉÐÈÎÑ
ÕÎ ÐÇÌ ÔËÊÈÐËÛ ÚËÍÞÌÐß
ÆÇÈÉ ×ÈÉË×ÏËÎÐËÑÌ ÈÉ ×ÓÌ ÐÕ ×ÕÓàÛÌ ÐËÜËÐÈÕÎ ÕÖ ÍÌÐËÈÎÌ× ÌËÍÎÈÎÑÉ àÙ ÔËÊÈÐËÛ ÑËÈÎÉ
ÐËÜËÐÈÕÎß 
ÓÙÌÍ 
 ÊËÙÉ ËÎ ËÚÕÓÎÐ ÖÕÍ ÐÇÌ ÉÇËÍÌÉ ËÐ ÐÈÚÌ

z
ËÎÐÈÔÈÊËÐÈÎÑ ÐÇÌ ÊÍÌæÉÌÎÐ ÏËÛÓÌ ÕÖ ËÛÛ ÖÓÐÓÍÌ ËÖÐÌÍæÐËÜ ÔËÉÇ ÒÕãÉß ëÍÕÚ ÐÇÈÉ ÖÕÛÛÕãÉ
(V τ

z − I0) 6= 0
ß ÆÇÈÉ

×ÈØÌÍÌÎÔÌ ÈÉ ÐÇÌ ÐËÜ àËÉÌ ÖÕÍ çÝÉ ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜËÐÈÕÎ ËÐ ÐÈÚÌ
z
ß éÕÎÉÌ-ÓÌÎÐÛÙâ

ÖÓÐÓÍÌ ÊÍÕäÐÉ ËÍÌ ÐËÜÌ× ÕÎ ÐÇÌ ÛÌÏÌÛ ÕÖ ÈÎÏÌÉÐÕÍÉ 
 ËÎ× çß çÉÉÓÚÈÎÑ ËÎ ÈÎäÎÈÐÌ ÐÈÚÌ
ÇÕÍÈáÕÎ ÐÇÌ ×ÕÓàÛÌ ÐËÜËÐÈÕÎ ãÈÐÇ ÔÕÍÊÕÍËÐÌ ËÎ× ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜÌÉ ãÈÛÛ àÌ Ë×�ÓÉÐÌ×
ËÐ ÐÈÚÌ

T = ∞
â ÈßÌß ÎÌÏÌÍâ ËÎ× ÇÌÎÔÌ àÌÔÕÚÌÉ ÓÎÍÌÖÓÎ×ËàÛÌß åÐ ÔËÎ ÌËÉÈÛÙ àÌ ÉÇÕãÎ

ÐÇËÐ ÖÕÍ
T < ∞

ÐÇÈÉ ×ÈÉÐÕÍÐÈÕÎ ÈÉ ÛÌÉÉ ÉÌÏÌÍÌ àÓÐ ÉÐÈÛÛ ÌÜÈÉÐÉß �ÕÓàÛÌ ÐËÜËÐÈÕÎ ãÈÛÛ
àÌ ÌÛÈÚÈÎËÐÌ× ËÐ ÐÈÚÌ

T > z
ãÇÌÎ 
 ÛÈ-ÓÈ×ËÐÌÉ ÐÇÌ ÔÕÍÊÕÍËÐÈÕÎ ËÎ× ÍÌËÛÈáÌÉ Ë ÐËÜ

ÍÌÛÌÏËÎÐ ÔËÊÈÐËÛ ÛÕÉÉ ÕÖ (V τ
z − I0)

ßÿ8 êÈÎÔÌ ÐÇÌ ÔÕÚÊÌÎÉËÐÈÕÎ ÖÕÍ ×ÕÓàÛÌ ÐËÜËÐÈÕÎ ËÐ

16
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z

�
&



ÐÈÚÌ
z
ÈÉ ÎÕÐ ÌØÌÔÐÈÏÌ àÌÖÕÍÌ ÐÈÚÌ T

ÐÌÚÊÕÍËÍÙ ×ÕÓàÛÌ ÐËÜËÐÈÕÎâ ÈßÌß Ë ÍËÐÌ ÕÖ ÈÎÐÌÍÌÉÐ
ÌØÌÔÐâ ÍÌÚËÈÎÉßÿ9
ÆÇÌ ÖÓÎÔÐÈÕÎ V τ

0

I0

ÈÎ äÑÓÍÌ û ÈÉ ÚËÈÎÛÙ ÈÎÒÓÌÎÔÌ× àÙ ÑÍÕãÐÇ ËÎ× ×ÈÉÔÕÓÎÐ ÖËÔÐÕÍÉß
éÕÎÔÌÎÐÍËÐÈÎÑ ÕÎ ÐÇÌ ÐÌÍÚ ÈÎ àÍËÔÞÌÐ ÈÎ Ì-ÓËÐÈÕÎ %ý*(â ãÌ ÍÌËÛÈáÌ ÐÇËÐ ÐÇÈÉ ÐÌÍÚ
ÍÌÒÌÔÐÉ ÐÇÌ ÈÚÊËÔÐ ÕÖ ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜËÐÈÕÎ ËÎ× ËÛãËÙÉ ÍÌ×ÓÔÌÉ I0 · ρ

ß �ÇÌÎ
z
ÈÉ

ÈÎÔÍÌËÉÌ× ÐÇÌ ÈÚÊËÔÐ ÕÖ ÐÇÌ ÐÌÍÚâ ãÇÈÔÇ ÈÎÔÕÍÊÕÍËÐÌÉ ×ÕÓàÛÌ ÐËÜËÐÈÕÎ ÕÖ ÔËÊÈÐËÛ ÑËÈÎÉ
ËÐ ÐÈÚÌ

z
â ÛÌÉÉÌÎÉß ëÓÍÐÇÌÍÚÕÍÌâ äÑÓÍÌ û ÉÇÕãÉ ÐÇËÐ ÈÎ ÔËÉÌ ÕÖ Ë ÍËÐÇÌÍ ÌËÍÛÙ ÉËÛÌ ÕÖ

ÉÇËÍÌÉ ÈÎÔÍÌËÉÈÎÑ
z
ÈÎÏÕÛÏÌÉ Ë àÈÑÑÌÍ ÈÚÊËÔÐ ÕÎ ÑÍÕãÐÇ %ÎÓÚÌÍËÐÕÍ( ÐÇËÎ ÈÖ ÖÓÐÓÍÌ

ÔËÉÇ ÒÕãÉ %×ÌÎÕÚÈÎËÐÕÍ( ËÍÌ ×ÈÉÔÕÓÎÐÌ×ß ÆÇÌ ÐËÜ àËÉÌ ÖÕÍ ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜËÐÈÕÎ
ÈÎÔÍÌËÉÌÉ ËÎ× ÐÇÌÍÌÖÕÍÌâ ãÌ äÎ× ÈÎÔÍÌËÉÈÎÑ ÊÍÌÉÌÎÐ ÏËÛÓÌÉ ÕÖ ÐÇÌ ÔËÊÈÐËÛ ÐËÜ àÓÍ×ÌÎâ
ÈßÌß ×ÕÓàÛÌ ÐËÜËÐÈÕÎâ ËÎ× ËÛÉÕ ×ÌÔÍÌËÉÈÎÑ ÏËÛÓÌÉ ÕÖ V τ

0

I0

ß êÌÛÛÈÎÑ ÉÓ7ÔÈÌÎÐÛÙ ÛËÐÌâ ÐÇÌ
×ÈÉÔÕÓÎÐ ÌØÌÔÐ ×ÕÚÈÎËÐÌÉ ÐÇÌ ÑÍÕãÐÇ ÌØÌÔÐâ ÈÎÏÕÞÈÎÑ ÇÈÑÇÌÍ V τ

0

I0

ÖÕÍ ÍÈÉÈÎÑ
z
ß

åÎÔÕÚÌ ÐËÜ ÍËÐÌÉ ÐÇËÐ ËÍÌ ÛÕãÌÍ ÐÇËÎ ÐÇÌ ÔÕÍÊÕÍËÐÌ ÐËÜ ÍËÐÌâ ÌßÑßâ τ = 0.30
â ÍÌ×ÓÔÌ

VzËÎ×
V0

Ë××ÈÐÈÕÎËÛÛÙß ëÈÎËÛÛÙâ ÊÍÈÏÈÛÌÑÌÉ ÖÍÕÚ ÐÇÌ ÐËÜ ÍËÐÌ τg

ÚËÙ àÌ ÕÏÌÍÔÕÚÊÌÎÉËÐÌ×ß
4àÏÈÕÓÉÛÙâ ÉÈÚÓÛÐËÎÌÕÓÉ ×ÈÏÈ×ÌÎ× ËÎ× ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜËÐÈÕÎ ÓÉÓËÛÛÙ ×ÈÉÐÕÍÐ ÈÎÏÌÉÐæÚÌÎÐ ×ÌÔÈÉÈÕÎÉß ÆÇÌÍÌÖÕÍÌâ ÈÎÏÌÉÐÈÎÑ ÈÎÐÕ Ë ÔÕÍÊÕÍËÐÈÕÎ ãÈÛÛ ÕÖÐÌÎ ÎÕÐ àÌ ËÐÐÍËÔÐÈÏÌ
ÖÕÍ ÈÎÏÌÉÐÕÍ çß
ëÕÍ

T < ∞
ãÌ äÎ×ò

V τ
0 = ρ · I0

%û�(

·









1 − τg ·
(1+γiτc )z

(1+iτ )z · Qτ−1
Qτ−τg

+ 1
(1+iτ )z

·





τg · ρ
−1 · Qτ−1

Qτ−τg
+ 1−τg

(1−γ)[Qτ−τg]
· τc−τ

1−τc

·
(

(1 + γiτc
)T − (1−τ)−γ(1−τc)

(1−τ)

)













ãÈÐÇ
Qτ = (1 + iτ )

T−z
. %ûý(

�ÌÎÌÍËÛ ÍÌÉÓÛÐÉ ÔÕÎÔÌÍÎÈÎÑ ÐÇÌ ÚËÑÎÈÐÓ×Ì ËÎ× ×ÈÍÌÔÐÈÕÎ ÕÖ ÐÇÌ ÐËÜæÈÎ×ÓÔÌ× ×ÈÉÐÕÍæÐÈÕÎÉ ÖÕÍ ×ÈÏÌÍÑÈÎÑ ÔÕÍÊÕÍËÐÌ ËÎ× ÈÎÔÕÚÌ ÐËÜ ÍËÐÌÉ ËÎ×
T < ∞

ÔËÎÎÕÐ ÎÕÐ àÌ
×ÌÐÌÍÚÈÎÌ× ËÎËÛÙÐÈÔËÛÛÙß

JKJKJ RTÄÃíTðöñíÃ Uíö÷íV RîÁÂíP
çÉÉÓÚÈÎÑ

α = 1
ËÎ×

β = 0.5
â ãÌ ×ÌÉÔÍÈàÌ Ë ÐËÜ ÉÙÉÐÌÚ ãÈÐÇ Ë ü�� ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖß

ëÓÍÐÇÌÍÚÕÍÌâ ÖÕÍ ÍÌËÉÕÎÉ ÕÖ ÉÈÚÊÛÈÔÈÐÙ ãÌ ÔÕÎÔÌÎÐÍËÐÌ ËÑËÈÎ ÕÎ ÔËÉÌÉ ãÇÌÍÌ ËÛÐÌÍÎËæÐÈÏÌ ÈÎÏÌÉÐÚÌÎÐ ×ÕÌÉ ÎÕÐ ÌÎ�ÕÙ Ë ÔÕÍÍÌÉÊÕÎ×ÈÎÑ ÍÌÛÈÌÖ ËÎ× ÐÇÌÍÌàÙ iτ = (1 − τ) i
ßÿ=
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éËÊÈÐËÛ ÑËÈÎÉ ËÍÌ ÐËÜËàÛÌ ãÈÐÇ ÖÍËÔÐÈÕÎ β = 0.5
ËÎ×

τg = τ
â ÈßÌß

τcgt = 0.5τ
ß�Ì äÎ×

V τ
0 =

z
∑

t=1

(Dτc

t − 0.5τDτc

t ) (1 + iτ )
−t + V τ

z (1 + iτ )
−z %ûû(

−0.5τ (V τ
z − I0) (1 + iτ )

−z

= I0 · θ ·

(

1 − 0.5τ
(1 + γiτc

)z − 1
θ

(1 + iτ )
z

)

.

ãÈÐÇ

Dτc

t = (1 − γ) (1 − τc)Pt
%û,(

ËÎ×

θ = φ|α=1,β=0.5,βF =1 =
(1 − 0.5τ) (1 − γ) (1 − τc)

(1 − τ) − γ (1 − τc)
. %û2(

ëÈÑÓÍÌ , ÉÇÕãÉ ÐÇÌ ×ÈØÌÍÌÎÔÌ àÌÐãÌÌÎ ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖ ËÎ× ÖÓÛÛ ÈÚÊÓÐËÐÈÕÎ ÉÙÉÐÌÚ
ÖÕÍ

τc = 0.4
â
z = 5

â
i = 0.1

â ËÎ×
γ = 0.5

ò

t0,0

0,2

0,4

0,6

0,8

1,0

1,2

1,4

10% 15% 20% 25% 30% 35% 40% 45% 50%

shareholder relief full imputation tax-free model
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ÓÎ×ÌÍ ÖÓÛÛ ÈÚÊÓÐËÐÈÕÎ ÕÍ ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖ ÖÕÍ
τc = 0.4

ËÎ× ÏËÍÈÕÓÉ τ

ëÕÍ
τc = 0.25

ãÌ äÎ×

t0,0
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0,4

0,6

0,8

1,0
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10% 15% 20% 25% 30% 35% 40% 45% 50%

shareholder relief full imputation tax-free model

0

0

I

V
t

ëÈÑÓÍÌ 2ò V τ
0

I0

ÓÎ×ÌÍ ÖÓÛÛ ÈÚÊÓÐËÐÈÕÎ ÕÍ ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖ ÖÕÍ
τc = 0.25

ËÎ× ÏËÍÈÕÓÉ τ
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ëÕÍ ÔÕÎÉÐËÎÐ
τc = 0.25

ãÌ äÎ×
θ > ρ

ÈÖ
τ = 0.4

ß ÆÇÈÉ ÍÌÛËÐÈÕÎ ×ÌÉÔÍÈàÌÉ ÐÇÌ ÐËÜ ÍËÐÌ
ÈÎ×ÓÔÌ× Ë×ÏËÎÐËÑÌÉ ÈÎ×ÈÔËÐÌ× àÙ ÔÓÐÐÈÎÑ ÐÇÌ ÐËÜ àËÉÌ ÓÎ×ÌÍ ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖß ëÕÍ
àÕÐÇ ÐËÜ ÍÌÑÈÚÌÉ ÇÈÑÇ ÈÎÔÕÚÌ ÐËÜ ÍËÐÌÉ ÈÎÏÕÞÌ ÚÕÍÌ ÉÌÏÌÍÌ ×ÈÉÐÕÍÐÈÕÎÉ ÐÇËÎ ÛÕãÌÍ
ÕÎÌÉß
çÎÕÐÇÌÍ ÈÎÐÌÍÌÉÐÈÎÑ ÉÔÌÎËÍÈÕ ÈÉ ËÉÉÓÚÈÎÑ

τc = 0.25
ÖÕÍ ËÎ ÈÎÔÕÚÌ ÐËÜ ÍËÐÌ

τ =

0.4
â ãÇÈÔÇ ÔËÎ àÌ ÍÌÑËÍ×Ì× ËÉ Ë ÊÍÕàËàÛÙ ËÏÌÍËÑÌ ÚËÍÑÈÎËÛ ÈÎÔÕÚÌ ÐËÜ ÍËÐÌ ÖÕÍ

ÉÇËÍÌÇÕÛ×ÌÍÉâ
γ = 0

ËÎ×
τg = 0

ß ÆÇÌÎâ àÕÐÇ ÉÙÉÐÌÚÉ ÛÌË× ÐÕ È×ÌÎÐÈÔËÛ ÎÕÎæ×ÈÉÐÕÍÐÈÎÑÐËÜ àÓÍ×ÌÎÉ ÓÎ×ÌÍ àÕÐÇ ÉÙÉÐÌÚß ÆÇÈÉ ÉÌÐÐÈÎÑ ËÉ ãÌÛÛ ËÉ ËÎ ËÛÐÌÍÎËÐÈÏÌ äÎËÎÔÈËÛ
ÈÎÏÌÉÐÚÌÎÐ ÚËÙ ÉÌÍÏÌ ËÉ Ë ÙËÍ×ÉÐÈÔÞ ÖÕÍ ÚÌËÉÓÍÈÎÑ ÐÇÌ ÐËÜ ÌØÌÔÐÉß ÆÇÌ ÈÎ×ÈØÌÍÌÎÔÌ ÕÖ
ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖâ ÖÓÛÛ ÈÚÊÓÐËÐÈÕÎ ËÎ× ÐÇÌ ÐËÜËÐÈÕÎ ÕÖ ÈÎÔÕÚÌ ÖÍÕÚ ÔËÊÈÐËÛ ÈÎÏÌÉÐÚÌÎÐ
ÔËÎ àÌ ÉÌÌÎ ÖÕÍ

τ = 0.4
ÈÎ äÑÓÍÌ üß åÖ ãÌ ÈÎÔÍÌËÉÌ ÐÇÌ ÍËÐÌ ÕÖ ÍÌÐÌÎÐÈÕÎ ÓÊ ÐÕ ÌßÑß

γ = 0.5
ÐÇÈÉ ÛÌË×É ÐÕ ËÎ ÈÎ×ÈØÌÍÌÎÔÌ ÕÖ ÐÇÌ ÐËÜ ÉÙÉÐÌÚÉ ÖÕÍ Ë ÛÕãÌÍ ÊÌÍÉÕÎËÛ ÐËÜ ÍËÐÌ

ÕÖ
τ = 0.3076923

ß
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0,4
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0,8
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10% 15% 20% 25% 30% 35% 40% 45% 50%

shareholder relief full imputation = tax free model
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ëÈÑÓÍÌ üò V τ
0

I0

ÖÕÍ
γ = 0

â
τc = 0.25

ËÎ× ÏËÍÈÕÓÉ τ

ÆÇÈÉ äÑÓÍÌ ÔÛËÍÈäÌÉ ËÑËÈÎ ÐÇËÐ ÐÇÌ ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖ ÉÙÉÐÌÚ ÌÚÊÇËÉÈáÌÉ ÐÇÌ ÌÜÐÌÎÐ
ÕÖ ×ÈÉÐÕÍÐÈÕÎÉß 4àÏÈÕÓÉÛÙâ Ì-ÓËÐÈÕÎ %ûû( ÈÉ ÚÕÍÌ ÔÕÚÊÛÌÜ ÐÇËÎ ÐÇÌ ÕÎÌ ÓÎ×ÌÍ ÖÓÛÛ
ÈÚÊÓÐËÐÈÕÎß $ÏÌÎ ÖÕÍ ÐÇÌ ÚÕÉÐ ÉÈÚÊÛÌ ÉÔÌÎËÍÈÕ ãÈÐÇ

τ = τc

ÎÕ ÑÌÎÌÍËÛ ÔÕÎÔÛÓÉÈÕÎÉ
ÔËÎ àÌ ×ÌÍÈÏÌ× ËÎËÛÙÐÈÔËÛÛÙß�ÇÌÍÌËÉ ÐÇÌ ÈÎÒÓÌÎÔÌ ÕÖ

z
ÕÎ

V τ
0

ÔÕÍÍÌÉÊÕÎ×É ãÈÐÇ ÐÇÌ
ÈÎÐÌÍËÔÐÈÕÎ ÕàÉÌÍÏÌ× ÈÎ äÑÓÍÌ ûâ ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜËÐÈÕÎ ÎÕã ÍÌ×ÓÔÌÉ ÐÇÌ ÌÜÐÌÎÐ ÕÖ
×ÈÉÐÕÍÐÈÕÎß
ÆÇÌ ÈÎÒÓÌÎÔÌ ÕÖ ÐËÜËÐÈÕÎ ÕÖ ÔËÊÈÐËÛ ÑËÈÎÉ àÌÔÕÚÌÉ ÌÏÌÎ ÚÕÍÌ ÕàÏÈÕÓÉ ÈÎ äÑÓÍÌ 'ß
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10% 15% 20% 25% 30% 35% 40% 45% 50%

shareholder relief + capital gains tax shareholder relief

full imputation + capital gains tax full imputation

tax-free model

t

0

0

I

V
t

ëÈÑÓÍÌ 'ò V τ
0

I0

ËÎ× ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜËÐÈÕÎ ÓÎ×ÌÍ ÖÓÛÛ ÈÚÊÓÐËÐÈÕÎ ÕÍ ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖ
ÖÕÍ

γ = 0.5
â
z = 5 τc = 0.25

ËÎ× ÏËÍÈÕÓÉ τ

ÆÇÌ ÖÕÛÛÕãÈÎÑ ÐËàÛÌ ÑÈÏÌÉ ËÎ ÕÏÌÍÏÈÌã ÕÖ ÉÔÌÎËÍÈÕÉ ÐÇËÐ ËÛÛÕã ËÎËÛÙÐÈÔËÛ ÔÕÎÔÛÓÉÈÕÎÉ
ÖÕÍ

α = 0
â
β = 1

â ÈßÌß ÖÓÛÛ ÈÚÊÓÐËÐÈÕÎâ ËÎ× ËÛÐÌÍÎËÐÈÏÌÛÙ ÖÕÍ α = 1
ËÎ×

β, βF = 0.5
â

ÈßÌß �ÌÍÚËÎÙÝÉ ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖ ÉÙÉÐÌÚò

×ÈÏÈ×ÌÎ× ËÎ× ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜËÐÈÕÎ
ÖÓÛÛ ÈÚÊÓÐËÐÈÕÎ

V τ
0 = I0

â ÈÖ
γ = 0

V τ
0 ≤ I0

â ÈÖ
τ ≤ τc

ËÎ×
γ > 0ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖ

V τ
0 = I0

â ÈÖ
γ = 0

ËÎ×
τ = 2τc

(1+τc)ËÛÛ ÕÐÇÌÍ ÔËÉÌÉò ÎÕ ÑÌÎÌÍËÛ ËÎËÛÙÐÈÔËÛ ÍÌÉÓÛÐÉ
ÆËàÛÌ ýò çÎËÛÙÐÈÔËÛ ÍÌÉÓÛÐÉ ÖÕÍ ÖÓÛÛ ÈÚÊÓÐËÐÈÕÎ ËÎ× ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖ

ÆÇÈÉ ÐËàÛÌ ÊÕÈÎÐÉ ÕÓÐ ÐÇËÐ ÐÇÌ ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖ ÉÙÉÐÌÚ ÚËÞÌÉ ÐËÜ ÊÛËÎÎÈÎÑ ÚÕÍÌ
×È7ÔÓÛÐß
çÉÉÓÚÈÎÑ

T < ∞
â
V τ

0

àÌÔÕÚÌÉò

V τ
0 = θ · I0

%ûü(

·









1 − 0.5τ · (1+γiτc )z

(1+iτ )z · Qτ−1
Qτ−0.5τ

+ 1
(1+iτ )z ·

(

0.5τ · θ−1 + 1−0.5τ
(1−γ)(Qτ−0.5τ)

·
(

τc−τ
1−τc

(1 + γiτc
)T
)

)









ãÇÈÔÇ ÈÉ ÌÏÌÎ ÚÕÍÌ ÔÕÚÊÛÌÜß ÆÇÌ ÈÎÏÌÉÐÕÍ ÔËÎ ÕÎÛÙ ×ÌÔÈ×Ì ÕÎ ÐÇÌ àËÉÈÉ ÕÖ ÉÈÎÑÛÌæÔËÉÌÎÓÚÌÍÈÔËÛ ËÎËÛÙÉÌÉß
ý,
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ç ÔÛËÉÉÈÔËÛ ÔÕÍÊÕÍËÐÌ ÐËÜ ÉÙÉÐÌÚ ÔËÎ àÌ ÌËÉÈÛÙ ÚÕ×ÌÛÛÌ× ËÉÉÓÚÈÎÑ α = 1

â
β = 1

ËÎ×
βF = 1

ß ÆÇÈÉ ÉÌÐÐÈÎÑ ÈÎÔÍÌËÉÌÉ ÐÇÌ ×ÈÉÐÕÍÐÈÕÎÉ ÕàÉÌÍÏÌ× ÖÕÍ ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖß
çÑËÈÎâ ËÎËÛÙÐÈÔËÛ ÉÕÛÓÐÈÕÎÉ ÖÕÍ ÐÇÌ ÈÎÏÌÉÐÚÌÎÐ ÊÍÕàÛÌÚ ÔËÎÎÕÐ àÌ ×ÌÍÈÏÌ×ß

\ ��� ! "#$%� &'()%# '��

�ÌÎÌÍËÛ ËÎËÛÙÐÈÔËÛ ÉÕÛÓÐÈÕÎÉ ÐÕ ÐÇÌ ÈÎÏÌÉÐÕÍÝÉ ×ÌÔÈÉÈÕÎ ÊÍÕàÛÌÚ ÔËÎÎÕÐ àÌ ÖÕÓÎ×ß
åÎ ÕÍ×ÌÍ ÐÕ ÑËÈÎ ÍÌÉÓÛÐÉ ÈÎ ÐÇÌ ÚÕÍÌ ÍÌËÛÈÉÐÈÔ ÉÌÐÐÈÎÑ ÕÖ ÓÎÔÌÍÐËÈÎÐÙ ãÌ ËÊÊÛÙ Ë
èÕÎÐÌ éËÍÛÕ êÈÚÓÛËÐÈÕÎß ÆÇÈÉ ÚÌÐÇÕ× ËÛÛÕãÉ ÐÕ ×ÌÐÌÍÚÈÎÌ ÐÇÌ ÛÈÞÌÛÈÇÕÕ× ÕÖ ÐÇÌ
ÖÕÍÌÔËÉÐ ÏËÍÈËàÛÌ ËÎ× ÐÇÌÍÌàÙ ÐÕ È×ÌÎÐÈÖÙ ÐËÜæÈÎ×ÓÔÌ× ÌØÌÔÐÉ ÕÎ ÐÇÌ ÈÎÏÌÉÐÕÍÝÉ ×ÌÔÈÉÈÕÎÓÎ×ÌÍ ÓÎÔÌÍÐËÈÎÐÙß �Ì ÈÎÐÌÑÍËÐÌ ÓÎÔÌÍÐËÈÎÐÙ ÈÎÐÍÕ×ÓÔÈÎÑ ÍËÎ×ÕÚ ÊËÍËÚÌÐÌÍÉ ÈÎÐÕ
ÐÇÌ ÔËÛÔÓÛÓÉß êÈÎÔÌ ÔËÉÇ ÒÕã ÖÍÕÚ ËÎ ÈÎÏÌÉÐÚÌÎÐ ÈÉ ÓÉÓËÛÛÙ ÉÓà�ÌÔÐ ÐÕ ÓÎÔÌÍÐËÈÎÐÙ
ãÌ ÔÕÎÔÌÎÐÍËÐÌ ÈÎ ÉÌÔÐÈÕÎ ,ßý ÕÎ Ë ÍËÎ×ÕÚ ÈÎÐÌÍÎËÛ ÍËÐÌ ÕÖ ÍÌÐÓÍÎâ

ĩin
ß �Ì ËÉÉÓÚÌ

ÈÐÉ ÌÜÊÌÔÐÌ× ÏËÛÓÌ ÈÉ Ì-ÓËÛ ÐÕ ÐÇÌ ×ÌÐÌÍÚÈÎÈÉÐÈÔ ÏËÛÓÌ iex
ËÎ× ÐÇÌÍÌÖÕÍÌ ÍÌÛËÜ ÐÇÌ

ËÉÉÓÚÊÐÈÕÎ ÕÖ ÚËÍÑÈÎËÛ ÈÎÏÌÉÐÚÌÎÐâ ÈÚÊÛÈÔÈÐÛÙ ËÛÛÕãÈÎÑ ×ÈØÌÍÌÎÐ ÍËÐÌÉ ÕÖ ÍÌÐÓÍÎß
êÈÎÔÌ ÌÚÊÈÍÈÔËÛ ×ËÐË ÕÎ ÔÕÍÊÕÍËÐÌ ÍËÐÌÉ ÕÖ ÍÌÐÓÍÎ ËÍÌ ÓÉÓËÛÛÙ ÛÈÚÈÐÌ× ÐÕ ÉÊÌÔÈäÔ
ÈÎ×ÓÉÐÍÈÌÉ ËÎ× ÑÌÎÌÍËÛ ×ËÐË ÈÉ ÎÕÐ ËÏËÈÛËàÛÌâ Ë èÕÎÐÌ éËÍÛÕ êÈÚÓÛËÐÈÕÎ ÉÌÌÚÉ ÐÕ
àÌ ËÎ ËÊÊÍÕÊÍÈËÐÌ ÈÎÉÐÍÓÚÌÎÐ ÖÕÍ ×ÌÍÈÏÈÎÑ ÉÓàÉÐËÎÐÈËÐÌ× ÔÕÎÔÛÓÉÈÕÎÉ ÕÎ ÈÎÏÌÉÐÚÌÎÐ
àÌÇËÏÈÕÍß
åÎ Ë ÉÌÔÕÎ× ÉÐÌÊ ãÌ ÌÜÐÌÎ× ÐÇÌ ËÎËÛÙÉÈÉ ãÈÐÇ ÍÌÉÊÌÔÐ ÐÕ ÉÐÕÔÇËÉÐÈÔ ÈÎÔÕÚÌ ÐËÜ ÍËÐÌÉ ÈÎ
ÉÌÔÐÈÕÎ ,ßûß çÊËÍÐ ÖÍÕÚ

ĩin
ËÎ×

τ̃
ËÛÛ ÊËÍËÚÌÐÌÍÉ ÍÌÚËÈÎ ×ÌÐÌÍÚÈÎÈÉÐÈÔß êÈÎÔÌ ÈÎ ÍÌËÛÈÐÙ

ÐËÜ ÍËÐÌÉ ÖÍÌ-ÓÌÎÐÛÙ ÔÇËÎÑÌ ×ÓÌ ÐÕ ÕÎÑÕÈÎÑ ÐËÜ ÍÌÖÕÍÚÉâ ãÌ ËÊÊÍÕÜÈÚËÐÌ ÍÌËÛæãÕÍÛ×ÐËÜ ÍËÐÌ �ÓÚÊÉ àÙ ÏËÍÙÈÎÑ ÐÇÌ ÏËÍÈËàÛÌ τ̃
ß�D

]>? ^hdrj_ ^fe`gd
åÎ ÐÇÈÉ ÉÈÚÊÛÌ ÉÔÌÎËÍÈÕ ãÌ ËÎËÛÙáÌ ÐÇÌ ÈÎÒÓÌÎÔÌ ÕÖ ÐËÜËÐÈÕÎ ÕÎ ÈÎÏÌÉÐÚÌÎÐ àÌÇËÏÈÕÍâ
ËÉÉÓÚÈÎÑ ÍËÎ×ÕÚ ËÎÎÓËÛ ÈÎÐÌÍÎËÛ ÍËÐÌÉ ÕÖ ÍÌÐÓÍÎ

ĩin
ÐÕ àÌ ÎÕÍÚËÛÛÙ ×ÈÉÐÍÈàÓÐÌ× ãÈÐÇ

×ÍÈÖÐ
µiin = iex

ËÎ× ÉÐËÎ×ËÍ× ×ÌÏÈËÐÈÕÎ σiin = 0.05
ß éÕÎÉÌÔÓÐÈÏÌ ÍËÐÌÉ ÕÖ ÍÌÐÓÍÎ ËÍÌ

ËÉÉÓÚÌ× ÈÎ×ÌÊÌÎ×ÌÎÐÛÙ ËÎ× È×ÌÎÐÈÔËÛÛÙ ×ÈÉÐÍÈàÓÐÌ×ß ÆÇÌÍÌàÙ ÊÍÕäÐÉ ËÎ× ×ÈÏÈ×ÌÎ×É
ÑÍÕã ÊÌÍÈÕ×ÈÔËÛÛÙ ËÐ ÐÇÌ ÉÐÕÔÇËÉÐÈÔ ÍËÐÌ γĩin

ß�ÿ çÉÉÓÚÈÎÑ ÐÇËÐ ÐÇÌ ÌÜÊÌÔÐÌ× ÈÎÐÌÍÎËÛ
ÍËÐÌ ÕÖ ÍÌÐÓÍÎ Ì-ÓËÛÉ ÐÇÌ ÌÜÐÌÍÎËÛ ÍËÐÌ ÕÖ ÍÌÐÓÍÎ ÍÌÉÐÍÈÔÐÉ ÐÇÌ ËÎËÛÙÉÈÉ ÐÕ %ÌÜÊÌÔÐÌ×(
ÚËÍÑÈÎËÛ ÈÎÏÌÉÐÚÌÎÐß σ ×ÌÐÌÍÚÈÎÌÉ ÐÇÌ ÍËÎÑÌ ÕÖ ×ÌÏÈËÐÈÕÎ ÖÍÕÚ Ë ÚËÍÑÈÎËÛ ÊÍÕ�ÌÔÐß
ç ÉÐËÎ×ËÍ× ×ÌÏÈËÐÈÕÎ ÕÖ �ß�ü ÔÕÏÌÍÉ ÏÌÍÙ ÊÍÕäÐËàÛÌ ÈÎÏÌÉÐÚÌÎÐ ÊÍÕ�ÌÔÐÉ ÐÇËÐ ÙÈÌÛ×
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ÇÈÑÇ ÍËÐÌÉ ÕÖ ÍÌÐÓÍÎ ËÉ ãÌÛÛ ËÉ ÊÍÕ�ÌÔÐÉ ÐÇËÐ ËÍÌ ÓÎÊÍÕäÐËàÛÌâ ×ÌÛÌÐÌ ÈÎÏÌÉÐÌ× ÖÓÎ×É
ÕÍ ÌÏÌÎ ÍÌ-ÓÈÍÌ ËÎ Ë××ÈÐÈÕÎËÛ ÔÕÎÐÍÈàÓÐÈÕÎß��
ëÕÔÓÉÉÈÎÑ ÕÎ ÐÇÌ ÌÜÊÌÔÐÌ× ÈÎÐÌÍÎËÛ ÍËÐÌ ÕÖ ÍÌÐÓÍÎ ËÉ ÐÇÌ ×ÌÔÈÉÈÕÎ ÏËÍÈËàÛÌ ËÎ× ËÉæÉÓÚÈÎÑ

µiin = iex
ãÌ ÈÚÊÛÈÔÈÐÛÙ ÍÌÉÐÍÈÔÐ ÐÕ ÍÈÉÞ ÎÌÓÐÍËÛ ÈÎÏÌÉÐÕÍÉß ÆÇÈÉ ËÉÉÓÚÊÐÈÕÎ

ËÎ× ÉÈÚÊÛÈäÔËÐÈÕÎ ËÛÛÕãÉ ÐÕ ËàÉÐÍËÔÐ ÖÍÕÚ ÍÈÉÞ ÊÍÌÚÈÓÚÉ ËÎ× ÐÕ ÔÕÎÔÌÎÐÍËÐÌ ÕÎ ÐÇÌ
ÌÜÊÌÔÐÌ× ÏËÛÓÌÉ ËÉ ×ÌÔÈÉÈÕÎ ÔÍÈÐÌÍÈËß��
ëÓÍÐÇÌÍÚÕÍÌâ ãÌ ËÉÉÓÚÌò

ÈÎÏÌÉÐÌ× ÖÓÎ×É ò I0 = 1ÌÜÐÌÍÎËÛ ÍËÐÌ ÕÖ ÍÌÐÓÍÎ ò
iex = 0.1ÎÓÚàÌÍ ÕÖ ÐÍÈËÛÉ ò
n = 25, 000ÐÈÚÌ ÇÕÍÈáÕÎ ò
T = 30ÐÈÚÌ ÕÖ ÉËÛÌ ò
z = 10ÌÜÊÌÔÐÌ× ÈÎÐÌÍÎËÛ ÍËÐÌ ÕÖ ÍÌÐÓÍÎ ò
µiin = iex = 0.1ÔÕÍÊÕÍËÐÌ ÐËÜ ÍËÐÌ ò τc = 0.4


ÌÖÕÍÌ ÉãÈÐÔÇÈÎÑ ÖÍÕÚ ÖÓÛÛ ÈÚÊÓÐËÐÈÕÎ ÐÕ ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖ ÉÙÉÐÌÚ ÈÎ �ÌÍÚËÎÙâ ÐÇÌ
ÔÕÍÊÕÍËÐÌ ÐËÜ ÍËÐÌ ãËÉ

τc = 0.4
ß �Î×ÌÍ ÐÇÌ ÎÌã ÉÙÉÐÌÚ ÐÇÌ ÔÕÍÊÕÍËÐÌ ÐËÜ ÍËÐÌ

ÇËÉ àÌÌÎ ÍÌ×ÓÔÌ× ÐÕ
τc = 0.25

ß åÎ ÐÇÌ ÖÕÛÛÕãÈÎÑ ãÌ ÖÕÔÓÉ ÕÎ ÐÇÌÉÌ ÐãÕ ÍËÐÌÉ ËÉ
ÍÌÊÍÌÉÌÎÐËÐÈÏÌ ÌÜËÚÊÛÌÉß
êÈÎÔÌ ãÌ ËÉÉÓÚÌ ÈÎ×ÌÊÌÎ×ÌÎÐ ÍËÎ×ÕÚ

ĩin
ÖÕÍ ÌËÔÇ ÊÌÍÈÕ×

0 < t ≤ T
â
T
ÑÈÏÌÉ ÐÇÌ

ÎÓÚàÌÍ ÕÖ ÉÈÚÓÛËÐÌ× ÍËÎ×ÕÚ ÏËÍÈËàÛÌÉ ãÈÐÇ È×ÌÎÐÈÔËÛ ÊÍÕàËàÈÛÈÐÙ ×ÈÉÐÍÈàÓÐÈÕÎâ ÐÕÕß�	
FI

â
SR

â
CC

ÈÎ×ÈÔËÐÌ ÖÓÛÛ ÈÚÊÓÐËÐÈÕÎâ ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖ ËÎ× ÔÛËÉÉÈÔËÛ ÔÕÍÊÕÍËÐÌ ÐËÜ
ÉÙÉÐÌÚâ ÍÌÉÊÌÔÐÈÏÌÛÙßV τ

0 (.)
×ÌÎÕÐÌÉ ÐÇÌ ×ÌÐÌÍÚÈÎÈÉÐÈÔ ÊÍÌÉÌÎÐ ÏËÛÓÌ ÖÕÍ ÐÇÌ ÓÎ×ÌÍÛÙÈÎÑ

ÐËÜ ÉÙÉÐÌÚ ËÎ×
P (.)

×ÌÉÔÍÈàÌÉ ÐÇÌ ÊÍÕàËàÈÛÈÐÙ ÕÖ ÍÌËÛÈáËÐÈÕÎÉ ÕÖ Ṽ τ
0 ≥ 1

ÖÕÍ ÐÇÌ
ÓÎ×ÌÍÛÙÈÎÑ ÐËÜ ÉÙÉÐÌÚß
�Ì ×ÌÐÌÍÚÈÎÌ ÚÌËÎ

m
ËÎ× ÏËÍÈËÎÔÌ σ2 ÕÖ ÕÓÍ ÖÕÍÌÔËÉÐ ÏËÍÈËàÛÌ Ṽ τ

0

ËÎ× ÐÇÌ ÊÍÕàËàÈÛÈÐÙ
P (.)

ß ëÓÍÐÇÌÍâ ãÌ ËÎËÛÙáÌ ÉÞÌãÎÌÉÉâ skew = µ3

σ3

â ãÇÌÍÌ
µ3

ÈÉ ÐÇÌ ÐÇÈÍ× ÚÕÚÌÎÐ ËàÕÓÐ
ÐÇÌ ÚÌËÎ ËÎ×

σ
ÈÉ ÐÇÌ ÉÐËÎ×ËÍ× ×ÌÏÈËÐÈÕÎ ËÉ Ë ÚÌËÉÓÍÌ ÕÖ ÐÇÌ ËÉÙÚÚÌÐÍÙ ÕÖ ÐÇÌ

ÊÍÕàËàÈÛÈÐÙ ×ÈÉÐÍÈàÓÐÈÕÎâ ËÎ× Ë××ÈÐÈÕÎËÛÛÙ ×ÌÐÌÍÚÈÎÌ ÞÓÍÐÕÉÈÉâ kurt = µ4

σ4 − 3
â ËÉ Ë

ÚÌËÉÓÍÌ ÕÖ ÈÐÉ ÊÌËÞÌ×ÎÌÉÉß
êÈÚÓÛËÐÈÕÎÉ ÉÇÕã�� ÐÇËÐ ÎÕÍÚËÛÛÙ ×ÈÉÐÍÈàÓÐÌ× ÍÌÐÓÍÎÉ ÉÙÚÚÌÐÍÈÔËÛÛÙ ÈÎÒÓÌÎÔÌ ÐÇÌ
ÊÍÌÉÌÎÐ ÏËÛÓÌ ÕÖ ÐÇÌ ÈÎÏÌÉÐÚÌÎÐ ËÎ× ÐÇÓÉ ÈÎ×ÈÔËÐÌ %ËÛÚÕÉÐ( È×ÌÎÐÈÔËÛ ×ÈÉÐÍÈàÓÐÌ× ÊÍÕæàËàÈÛÈÐÈÌÉ ÖÕÍ

Ṽ τ
0 (SR)

ß 0ËÍÈËÎÔÌâ ÉÞÌãÎÌÉÉ ËÎ× ÞÓÍÐÕÉÈÉ ÇËÏÌ ÏÌÍÙ ÉÚËÛÛ ÏËÛÓÌÉß ÆÇÌ
22 »� ���©¡�¤� �¬¯¡�¡¨�© ���©¤£�£ ¯��¢� ���� £��¨��£�¡¨ ������ ����£ �� £��¨¼£ £��� ¯��¦�¦¡©¡�¤ ¥¡£®��¡¦��¡��£ �¡�� ��� ��¡©£ ��¥ �����¦¤ ��� ������ �®¥¡£��¡¦���¥ ���� ���¬�©©¤ ¥¡£��¡¦���¥� »���¥�� �� ��¯��¥ ��� ���©¤£¡£ �� £¡¬�©��¡��£ ¡� � ¬��� ���©¡£�¡¨ £���¡�± �®¥¡£��¡¦���¥ ���¥�¬ ��®���� £���©¥ ¦� �££�¬�¥ �©������¡¢�©¤� ��� ��±�H�����¢���º¨«©��� ��³³´�� ����¥�££¡�� �²µµ¶��·©�£������±���������!��¼©� �²µµ´��
23
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ÍÌÐÌÎÐÈÕÎ ÍËÐÌ
γ
×ÕÌÉ ÎÕÐ ×ÈÉÐÕÍÐ ÐÇÈÉ ÊÍÕàËàÈÛÈÐÙ ×ÈÉÐÍÈàÓÐÈÕÎß�Ì äÎ× ÔÕÍÍÌÉÊÕÎ×ÈÎÑ

ÍÌÉÓÛÐÉ ÖÕÍ ÏËÍÙÈÎÑ z
â
τg

ÕÍ ÐÇÌ ÛÌÏÌÛ ËÎ× ÍÌÛËÐÈÕÎ ÕÖ ÐÇÌ ÓÎ×ÌÍÛÙÈÎÑ ÐËÜ ÍËÐÌÉß
m

×ÌÊÌÎ×É ÌÉÉÌÎÐÈËÛÛÙ ÕÎ ÐÇÌ ÍËÐÈÕ ÕÖ ÐÇÌ ÔÕÍÊÕÍËÐÌâ ÈßÌß ÈÎÐÌÍÎËÛâ ÐËÜ ÍËÐÌ ÐÕ ÐÇÌ
ÊÌÍÉÕÎËÛ ÈÎÔÕÚÌ ÐËÜ ÍËÐÌß ÆÇÈÉ ÌØÌÔÐ ÇËÉ ËÛÍÌË×Ù àÌÌÎ ÕàÉÌÍÏÌ× ÈÎ ÐÇÌ ×ÌÐÌÍÚÈÎÈÉÐÈÔ
ÔËÉÌ %ÉÌÌ äÑÓÍÌ ý( ÈÎ ÔÇËÊÐÌÍ ûß
0ËÍÈËÎÔÌ ÉÌÌÚÉ ÐÕ àÌ ÍËÐÇÌÍ ÓÎËØÌÔÐÌ× àÙ ÍËÎ×ÕÚ ÍÌÐÓÍÎÉß ÆÇÌ ÖÕÍÌÔËÉÐ ÏËÍÈËàÛÌ ÈÉ
ÕàÏÈÕÓÉÛÙ ÛÌÉÉ ÏÕÛËÐÈÛÌ ÐÇËÎ ÐÇÌ ÍÌÐÓÍÎ ÈÐÉÌÛÖß êÈÎÔÌ àÙ ËÉÉÓÚÊÐÈÕÎ Ë ÖÍËÔÐÈÕÎ ÕÖ ÐÇÌ
ÊÍÕäÐ ÈÉ ÊËÈ× ËÉ ×ÈÏÈ×ÌÎ×É ÐÕ ÐÇÌ ÈÎÏÌÉÐÕÍ ÈÎ ÌÏÌÍÙ ÊÌÍÈÕ×â ÐÇÈÉ ÖÍËÔÐÈÕÎ ÕÖ ÐÇÌ ÊÍÕäÐ
×ÕÌÉ ÎÕÐ ÈÎÔÍÌËÉÌ ÈÎÐÌÍÎËÛ ÑÍÕãÐÇ ÕÖ ÊÍÕäÐ ËÖÐÌÍ ÐÇÌ ×ÈÏÈ×ÌÎ×É ÇËÏÌ àÌÌÎ ÊËÈ× ËÎ×
ÈÉ ÐÇÌÍÌÖÕÍÌ ÎÕÐ ÈÎÒÓÌÎÔÌ× àÙ ÉÐÕÔÇËÉÐÈÔ ÍÌÐÓÍÎß ÆÇÈÉ ÛÌË×É ÐÕ ÛÕãÌÍ σ2

ÖÕÍ
Ṽ τ

0

ÐÇËÎ
ÖÕÍ

ĩin
ß

ëÓÍÐÇÌÍÚÕÍÌâ ÛÕã %ÇÈÑÇ( γ
ÔËÓÉÌÉ ÛÕãÌÍ %ÇÈÑÇÌÍ( ÏËÛÓÌÉ ÕÖ ÉÞÌãÎÌÉÉ ËÎ× ÞÓÍÐÕÉÈÉß

úÕãÌÏÌÍâ ÐÇÌ ×ÌÏÈËÐÈÕÎ ÖÍÕÚ ÐÇÌ ÎÕÍÚËÛ ×ÈÉÐÍÈàÓÐÈÕÎ ÈÉ ÏÌÍÙ ÛÕãß
çÉ ËÎ ÌÜËÚÊÛÌ ÖÕÍ ÐÇÌÉÌ äÎ×ÈÎÑÉ ÐËàÛÌ û ÉÇÕãÉ ÖÕÍ τ = 0.3 < τc = 0.4

ËÎ×
τcgt =

β · τg = 0.2
ÐÇËÐ ÇÈÑÇ ÍËÐÌÉ ÕÖ ÍÌÐÌÎÐÈÕÎ ÈÎÔÍÌËÉÌ ËÉÙÚÚÌÐÍÙ ÕÖ ÐÇÌ ÊÍÕàËàÈÛÈÐÙ

×ÈÉÐÍÈàÓÐÈÕÎ ÕÖ
Ṽ τ

0

ÓÎ×ÌÍ ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖò

γ V τ
0 m σ2 skew kurt�ß� �ß**' �ß**' �ß��2 �ß�,* æ�ß�û&

�ßý �ß*'* �ß*'+ �ß��2 �ß�,* æ�ß�û&
�ßû �ß*ü* �ß*ü* �ß��ü �ßý�ü �ß�&&
�ß, �ß*2* �ß*2* �ß��ü �ß�'+ æ�ß�û2
�ß2 �ß*,' �ß*,ü �ß��& �ßýüü �ß�,ý
�ßü �ß*û, �ß*û, �ß��ü �ßý'2 �ß��ü
�ß' �ß*ý� �ß*ý� �ß�ý� �ßûý& �ß�+'
�ß* �ß'&ü �ß'&ü �ß�ýý �ßû'ý �ßý'û
�ß+ �ß'+� �ß'+� �ß��' �ß,û+ �ßý+ý
�ß& �ß''û �ß''û �ß��* �ß,*ý �ßûû�

ÆËàÛÌ ûò êÇËÍÌÇÕÛ×ÌÍ 1ÌÛÈÌÖ êÙÉÐÌÚ ÖÕÍ
τ = 0.3

â
τcgt = 0.2

â ËÎ× ×ÈØÌÍÌÎÐ
γ

]>u ^hdrj_ ^fe`gd hdr ^hdrj_ ofgajdhk @hA ^hefa
1ÌÖÌÍÍÈÎÑ ÐÕ ÖÍÌ-ÓÌÎÐÛÙ ÔÇËÎÑÈÎÑ ÍÌËÛæãÕÍÛ× ÐËÜ ÍËÐÌÉ ãÌ ÉÈÚÓÛËÐÌ ÈÎ×ÌÊÌÎ×ÌÎÐ ÊÕÉÈæÐÈÏÌ ÍËÎ×ÕÚ ÐËÜ ÍËÐÌÉ τ̃

ÈÎ ÌËÔÇ ÊÌÍÈÕ× ãÇÈÔÇ ËÍÌ ÎÕÍÚËÛÛÙ ×ÈÉÐÍÈàÓÐÌ× ãÈÐÇ µτ = 0.4ÕÍ
µτ = 0.25

ËÎ× Ë ÉÐËÎ×ËÍ× ×ÌÏÈËÐÈÕÎ στ = 0.05
ß ÆÇÌÉÌ ÔËÉÌÉ ÔÕÏÌÍ ÇÈÑÇ ÈÎÔÕÚÌ

ÈÎÏÌÉÐÕÍÉ ãÈÐÇ ÇÈÑÇ ÌÜÊÌÔÐÌ× ÚËÍÑÈÎËÛ ÈÎÔÕÚÌ ÐËÜ ÍËÐÌÉ ÕÍâ ËÛÐÌÍÎËÐÈÏÌÛÙ ÈÎÏÌÉÐÕÍÉ
ãÈÐÇ ÍËÐÇÌÍ ÛÕã ÌÜÊÌÔÐÌ× ÚËÍÑÈÎËÛ ÈÎÔÕÚÌ ÐËÜ ÍËÐÌÉ %µτ = 0.25

(ß�# �ÌÑËÐÈÏÌ ÊÌÍæ
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ÉÕÎËÛ ÐËÜ ÍËÐÌÉ ËÍÌ ÌÜÔÛÓ×Ì× ÖÍÕÚ ÉÈÚÓÛËÐÈÕÎ àÙ ËÉÉÓÚÊÐÈÕÎß �ÈÐÇ
στ = 0.05

ÐÇÌ
ÇÈÑÇ ÊÌÍÉÕÎËÛ ÈÎÔÕÚÌ ÐËÜ ÍËÐÌ ÚËÙ ÒÓÔÐÓËÐÌ ÚËÈÎÛÙ àÌÐãÌÌÎ �ßûü ËÎ× �ßüüß ÆÇÌÉÌ
bàÕÓÎ×ËÍÈÌÉb ËÍÌ ÎÌËÍ ÐÕ àÕÐÇ ÐÇÌ ÛÕãÌÉÐ ËÎ× ÇÈÑÇÌÉÐ �ÌÍÚËÎ ÚËÍÑÈÎËÛ ÐËÜ ÍËÐÌÉâ
ÈÎÔÛÓ×ÈÎÑ ËÛÛ ÈÎÔÕÚÌ ÐËÜ ÉÓÍÔÇËÍÑÌÉß ÆÇÌ ÛÕãÌÍ ÌÜÊÌÔÐÌ× ÈÎÔÕÚÌ ÐËÜ ÍËÐÌ ÕÖ µτ = 0.25ÊÍÕ×ÓÔÌÉ Ë ÍÌËÛÈáËÐÈÕÎ ÕÖ τ̃

ÚËÈÎÛÙ àÌÐãÌÌÎ �ßý ËÎ× �ß2ß ÆÇÌÉÌ ÍËÐÌÉ ÔÕÍÍÌÉÊÕÎ× ÐÕ
ÐËÜ ÍËÐÌÉ ÈÎ ÉÌÏÌÍËÛ ÔÕÓÎÐÍÈÌÉ ÐÇËÐ ËÛÍÌË×Ù ÇËÏÌ ÍÌ×ÓÔÌ× ÐÇÌÈÍ ÍËÐÌÉ ËÉ Ë ÔÕÎÉÌ-ÓÌÎÔÌ
ÕÖ ÈÎÐÌÍÎËÐÈÕÎËÛ ÐËÜ ÔÕÚÊÌÐÈÐÈÕÎß
�Ì ËÎËÛÙáÌ ÉÌÏÌÍËÛ ÉÔÌÎËÍÈÕÉ ãÈÐÇ ×ÈØÌÍÌÎÐ ÏËÛÓÌÉ ÖÕÍ z

ËÎ×
γ
ÓÎ×ÌÍ ÐÇÌ ÖÕÛÛÕãÈÎÑ

ËÉÉÓÚÊÐÈÕÎÉò
ÈÎÏÌÉÐÌ× ÖÓÎ×É ò I0 = 1ÌÜÐÌÍÎËÛ ÍËÐÌ ÕÖ ÍÌÐÓÍÎ ò

iex = 0.1ÎÓÚàÌÍ ÕÖ ÐÍÈËÛÉ ò
n = 25, 000ÐÈÚÌ ÇÕÍÈáÕÎ ò
T = 100ÍÌÐËÈÎÈÎÑ ÍËÐÌ ò
γ = 0.5ÌÜÊÌÔÐÌ× ÈÎÐÌÍÎËÛ ÍËÐÌ ÕÖ ÍÌÐÓÍÎ ò
µiin = iex = 0.1ÔÕÍÊÕÍËÐÌ ÐËÜ ÍËÐÌ ò τc = 0.25ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜ ÍËÐÌ ò τcgt = 0.2

åÖ ÕÎÌ ÊÌÍÈÕ× Ì-ÓËÛÉ ÕÎÌ ÙÌËÍâ ÐÇÌ ËÉÉÓÚÊÐÈÕÎ T = 100
ÈÚÊÛÈÌÉ Ë ÐÈÚÌ ÇÕÍÈáÕÎ ÐÇËÐ

ÌÜÔÌÌ×É ÕÎÌ ÑÌÎÌÍËÐÈÕÎß�8 ÆÇÈÉ ÌÎËàÛÌÉ ÐÕ äÑÓÍÌ ÕÓÐ ÛÕÎÑæÐÌÍÚ ÐËÜ ÌØÌÔÐÉâ ãÇÈÔÇ ÖÍÕÚ
ÕÓÍ äÎ×ÈÎÑÉâ ÌßÑß ÈÎ ÉÌÔÐÈÕÎ ûßûßýâ ËÍÌ ÈÚÊÕÍÐËÎÐ ÈÎ ÐÇÌ ÔÕÎÐÌÜÐ ÕÖ ÐÈÚÈÎÑ ×ÌÔÈÉÈÕÎÉß
ëÕÍ ÍÌËÉÕÎÉ ÕÖ ÉÈÚÊÛÈÔÈÐÙ ËÎ× ÐÍËÎÉÊËÍÌÎÔÙ ãÌ ÌÜÔÛÓ×Ì ÈÎÇÌÍÈÐËÎÔÌ ÐËÜ ËÉÊÌÔÐÉ ÖÍÕÚ
ÐÇÌ ËÎËÛÙÉÈÉâ ÈÎÉÐÌË× ÖÕÔÓÉÉÈÎÑ ÕÎ ÔÓÍÍÌÎÐ ÊÍÕäÐ ÐËÜËÐÈÕÎß
åÐ ÔËÎ àÌ ÉÇÕãÎ àÙ ÉÈÚÓÛËÐÈÕÎ ÐÇËÐ ËÛÛ ÊÍÕàËàÈÛÈÐÙ ÚÌËÉÓÍÌÉ ÖÕÛÛÕã Ë ÉÈÚÈÛËÍ ÊËÐÐÌÍÎß
ÆËàÛÌ , ÔÛËÍÈäÌÉ ÐÇÈÉ ÖÕÍ ÖÓÛÛ ÈÚÊÓÐËÐÈÕÎ ËÎ× ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖß
çÎËÛÙáÈÎÑ ÐÇÌ ÕàÉÌÍÏÌ× ÍÌËÛÈáËÐÈÕÎÉ ÕÖ Ṽ τ

0

ãÌ äÎ×
m
â
σ2
â
skew

ËÎ×
kurt

ÐÕ ÇËÏÌ
Ë ÚÈÎÈÚÓÚ ÈÎ ÐÇÌ ÈÎÐÌÍÏËÛ 20 < zmin < 40

ß�Ì ÍÌÔÌÈÏÌ ÐÇÌ ÇÈÑÇÌÉÐ ÚÌËÎ ÖÕÍ ÌËÍÛÙ
ÉÌÛÛÈÎÑâ ÈßÌß

z = 1
â�9 ÓÎ×ÌÍ ËÛÛ ÐËÜ ÉÙÉÐÌÚÉß êÈÎÔÌ ÔËÊÈÐËÛ ÑËÈÎÉ ÈÎÔÍÌËÉÌ ãÈÐÇ ÐÈÚÌ

z
ÐÇÈÉ ÈÎ×ÈÔËÐÌÉ ÐÇËÐ ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜËÐÈÕÎ ×ÈÉÐÕÍÐÉ ËÎ× ×ÌÔÍÌËÉÌÉ ÐÇÌ ÊÍÕäÐËàÈÛÈÐÙ

ÕÖ ÐÇÌ ÈÎÏÌÉÐÚÌÎÐ ÍÌÛËÐÈÏÌ ÐÕ ËÎ ËÛÐÌÍÎËÐÈÏÌ Ì-ÓÈÏËÛÌÎÐ ÈÎÏÌÉÐÚÌÎÐ ãÈÐÇÕÓÐ ÔËÊÈÐËÛ
ÑËÈÎÉâ ÌßÑß ÈÎÏÌÉÐÈÎÑ ÈÎÐÕ Ë àÕÎ×â ÓÎÐÈÛ ÐÈÚÌ z = zmin

ß ÆÇÌ ×ÈÉÔÕÓÎÐÈÎÑ ÌØÌÔÐ ÕÏÌÍæÔÕÚÊÌÎÉËÐÌÉ ÐÇÌ ÔËÊÈÐËÛ ÑËÈÎÉ ÌØÌÔÐ ÖÕÍ ÛËÐÌÍ ÊÕÈÎÐÉ ÕÖ ÉËÛÌâ ÈßÌß
z > zmin

â ËÎ× ÐÇÌÎ
ÛÌË×É ÐÕ ÈÎÔÍÌËÉÈÎÑ ÚÌËÎ

m
ß

27 c�� ±������¡�� ¡£ �££�¬�¥ �� ¦� ´³ ¤���£�
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z
ÐËÜ m σ2 skew kurtý�
FI

ýß2& ýßû* ûß+* ýüß*,
SR

ýß2& ýßû2 ûß'û ýûß+û
,�

FI
ýß2û �ß+& ûßû� +ß*û

SR
ýß2, �ß&, ûß22 ýûß'ü

ü�
FI

ýß22 �ß&û ûß,* ý�ß*&
SR

ýß22 �ß&� ûß,' ýýß,ü
*�

FI
ýß2' �ß&û ûß2' ý2ß�*

SR
ýß2* �ß&ý ûß�* *ß*�

&�
FI

ýß2+ �ß&2 ûß2û ýûß,�
SR

ýß2& �ß&ý ûß�* *ß''
ÆËàÛÌ ,ò ëÓÛÛ ÈÚÊÓÐËÐÈÕÎ ËÎ× ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖ ÉÙÉÐÌÚ ÖÕÍ

τc = 0.25
â
µτ = 0.4

â
γ = 0.5

ËÎ× ÏËÍÈÕÓÉ z

1ÌÑËÍ×ÈÎÑ Ë ÍÈÉÞ ËÏÌÍÉÌ ÈÎÏÌÉÐÕÍ ÈÎÉÐÌË× ÕÖ Ë ÍÈÉÞ ÎÌÓÐÍËÛ ÕÎÌ ËÎ× ÍÌÖÌÍÍÈÎÑ ÌßÑß ÐÕ σ2

ËÉ ËÎ ÈÎ×ÈÔËÐÕÍ ÖÕÍ ÐÇÌ ×ÌÑÍÌÌ ÕÖ ÍÈÉÞ ãÇÌÎÌÏÌÍ ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜËÐÈÕÎ ÈÎÏÕÞÌÉ ÔÓÐÉ
ÈÎ

Ṽ τ
0 (.)

ÈÐ ÉÈÚÓÛÐËÎÌÕÓÉÛÙ ÍÌ×ÓÔÌÉ ÍÈÉÞß ÆÇÈÉ ÈÉ ÉÇÕãÎ àÙ σ2 ãÇÈÔÇ ÇËÉ Ë ÚÈÎÈÚÓÚ
ËÐ ÐÇÌ ÉËÚÌ ÊÕÈÎÐ ÈÎ ÐÈÚÌ

z = zmin
ß ëÓÍÐÇÌÍÚÕÍÌâ ÐÇÌ ÊÍÕàËàÈÛÈÐÙ ×ÈÉÐÍÈàÓÐÈÕÎ ÕÖ

Ṽ τ
0 (.)

ÈÉ ÉÞÌãÌ× ÍÈÑÇÐ ËÎ× ÛÌÊÐÕÞÓÍÐÈÔ ÈÎ ÌÏÌÍÙ ÉÔÌÎËÍÈÕ %ÉÌÌ ÌßÑß äÑÓÍÌ *(ß çÑËÈÎâ
ÐÇÌÉÌ ×ÌÏÈËÐÈÕÎÉ ÖÍÕÚ ÐÇÌ ÎÕÍÚËÛ ×ÈÉÐÍÈàÓÐÈÕÎ ÍÌËÔÇ Ë ÚÈÎÈÚÓÚ ÖÕÍ

z = zmin
ß ÆÇÓÉâ

ãÇÌÎÌÏÌÍ ËÎ ÌØÌÔÐ ÖÍÕÚ ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜËÐÈÕÎ ×ÕÚÈÎËÐÌÉ ×ÈÉÔÕÓÎÐÈÎÑ ÌØÌÔÐÉ �= ÐÇÈÉ
ÍÌ×ÓÔÌÉ Ë( ÐÇÌ ÚÌËÎ ÕÖ ÐÇÌ ÊÍÌÉÌÎÐ ÏËÛÓÌ ËÎ× à( ÏËÍÈËÎÔÌ ËÎ× Ô( ÉÞÌãÎÌÉÉ ËÎ×
ÞÓÍÐÕÉÈÉ ÉÈÚÓÛÐËÎÌÕÓÉÛÙß ÆÇÌÍÌàÙ ÓÎ×ÌÍ ÍÈÉÞ ËÉÊÌÔÐÉâ ÐÇÌ ÈÎÏÌÉÐÚÌÎÐ ÊÍÕ�ÌÔÐ àÌÔÕÚÌÉ
ÍÌÛËÐÈÏÌÛÙ ÚÕÍÌ ËÐÐÍËÔÐÈÏÌ ÖÕÍ ÍËÐÇÌÍ ÛËÐÌ ÉÌÛÛÈÎÑß

Frequency Chart

Certainty is 61,61% from 1,00 to +Infinity

,000

,007

,014

,021

,028

0

176,2

352,5

528,7

705

0,15 1,11 2,08 3,04 4,01

25.000 Trials 24.441 Displayed

Forecast: V0 Sim HE 0411a

ëÈÑÓÍÌ *ò )ÍÕàËàÈÛÈÐÙ ×ÈÉÐÍÈàÓÐÈÕÎ ÕÖ Ṽ τ
0 (SR)

ÖÕÍ
τc = 0.25

â
µτ = 0.4

â
γ = 0.5

â ËÎ×
z = 50
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éÕÎÔÌÎÐÍËÐÈÎÑ ÕÎ ÐÇÌ ÈÎÒÓÌÎÔÌ ÕÖ ÐÇÌ ÓÎ×ÌÍÛÙÈÎÑ ÐËÜ ÉÙÉÐÌÚâ ËÎ ÈÎÏÌÉÐÕÍ ãÈÛÛ ÉÓØÌÍ
ÉÈÑÎÈäÔËÎÐ ÛÕÉÉÌÉ ÓÎ×ÌÍ Ë ÔÛËÉÉÈÔËÛ ÔÕÍÊÕÍËÐÌ ÐËÜ ÉÙÉÐÌÚ ×ÓÌ ÐÕ ×ÕÓàÛÌ ÐËÜËÐÈÕÎ ÕÖ
ÇÈÉ ×ÈÏÈ×ÌÎ× ÊËÙÚÌÎÐÉß çÉ Ë ÐÍË×ÌæÕØâ ÛÌÉÉ ÏÕÛËÐÈÛÌ ÏËÛÓÌÉ ÖÕÍ Ṽ τ

0

ÕÔÔÓÍ ÐÇËÎ ÓÎ×ÌÍ
ÐÇÌ ÕÐÇÌÍ ÐËÜ ÍÌÑÈÚÌÉß åÎ ÚÕÉÐ ÔËÉÌÉ σ2 ÈÉ ÛÕãÌÍ ÐÇËÎ ÓÎ×ÌÍ ÖÓÛÛ ÈÚÊÓÐËÐÈÕÎ ÕÍ ÓÎ×ÌÍ
Ë ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖ ÉÙÉÐÌÚß ÆÇÈÉ ÍÌÛËÐÈÕÎ ÇÕÛ×É ÖÕÍ µτ = 0.25

ËÎ×
µτ = 0.4

ß éÕÎÉÌæ
-ÓÌÎÐÛÙâ ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖ ËÛãËÙÉ ÊÍÕÏÈ×ÌÉ ÛÌÉÉ ÓÎÔÌÍÐËÈÎÐÙ ÐÇËÎ ÖÓÛÛ ÈÚÊÓÐËÐÈÕÎâ ËÉ
ÔËÎ àÌ ÉÌÌÎ ÈÎ ÐËàÛÌ 2ß

z
ÐËÜ m σ2 skew kurt

FI
ýßý+ �ß*û ûß'+ ý,ß**

ý�
SR

ýßý' �ßü+ ûß*û ý2ß,'
CC

ýßýü �ß*, ûß+2 ý*ß+�
FI

ýßý* �ßü2 ûßû, ý�ßü,
,�

SR
ýß�� �ß2ý ûßýû +ß',

CC
�ß+' �ß,ý ûßû, ý�ßü,

FI
ýßýü �ßüû ûßû2 ý�ß,ü

ü�
SR

ýß�ý �ß2û ûßû+ ýýßý+
CC

�ß+' �ß,� ûßû2 ý�ß,'
FI

ýßý' �ßü* ûßý* +ß2+
*�

SR
ýß�û �ß2, ûßýý *ß&&

CC
�ß+* �ß,û ûßý* +ß2+

FI
ýßý* �ßüü ýß&+ 'ß'ü

&�
SR

ýß�û �ß2û ûß�, *ßý*
CC

�ß++ �ß,ý ýß&+ 'ß'2
ÆËàÛÌ 2ò ëÓÛÛ ÈÚÊÓÐËÐÈÕÎâ ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖ ËÎ× ÔÛËÉÉÈÔËÛ ÔÕÍÊÕÍËÐÌ ÐËÜ ÉÙÉÐÌÚ ÖÕÍ
τc = 0.25

â
µτ = 0.25

â
γ = 0.5

ËÎ× ÏËÍÈÕÓÉ z

åÎ ÕÍ×ÌÍ ÐÕ ÖÕÔÓÉ ÕÎ ÐÇÌ ÍÌÛËÐÈÕÎÉÇÈÊ àÌÐãÌÌÎ ÐÇÌ ÓÎ×ÌÍÛÙÈÎÑ ÐËÜ ÉÙÉÐÌÚÉ ãÌ ÇËÏÌ
ÊÛÕÐÐÌ×

P (.)
ÖÕÍ ÐÇÌ ÐÇÍÌÌ ÉÙÉÐÌÚÉ ãÈÐÇ τc = 0.25

ÖÕÍ
µτ = 0.25

ÈÎ äÑÓÍÌ +ß ÆÇÌ
ÖÕÓÍÐÇ ÑÍËÊÇ ÉÇÕãÉ ÐÇÌ ÊÍÕàËàÈÛÈÐÙ ÐÇËÐ ÔËÎ àÌ ×ÌÍÈÏÌ× ÖÕÍ Ë ÔÛËÉÉÈÔËÛ ÔÕÍÊÕÍËÐÌ
ÐËÜ ÉÙÉÐÌÚ ãÈÐÇ

τc = 0.1562
ß ÆÇÈÉ ÈÉ ÐÇÌ ÔÕÍÊÕÍËÐÌ ÐËÜ ÍËÐÌ ÐÇËÐ ÛÌË×É ÐÕ È×ÌÎÐÈÔËÛ

ÏËÛÓÌÉ ÕÖ ×ÌÐÌÍÚÈÎÈÉÐÈÔ V τ
0

ÕÖ ËÛÛ ÐÇÍÌÌ ÉÙÉÐÌÚÉ ÈÎ ÐÇÈÉ ÉÌÐÐÈÎÑß ÆÇÌÎâ ÐÇÌ ÐÇÍÌÌ ÐËÜ
ÉÙÉÐÌÚÉ ÑÌÎÌÍËÐÌ ÐÇÌ ÉËÚÌ ÐËÜ ÍÌÏÌÎÓÌâ ÔÌÐÌÍÈÉ ÊËÍÈàÓÉ ËÎ× ÐÇÌ ÉËÚÌ ÊÍÌÉÌÎÐ ÏËÛÓÌ
ËÎ× ËÍÌ ÐÇÌÍÌÖÕÍÌ ÈÎ×ÈØÌÍÌÎÐ ÈÎ Ë ÉÌÐÐÈÎÑ ãÈÐÇ

µτ = 0.4
ËÎ×

γ = 0.5
ß éÕÚÊËÍÈÎÑ ÐÇÌ

ÊÍÕàËàÈÛÈÐÈÌÉ ÖÕÍ ÐÇÌÉÌ ÈÎ×ÈØÌÍÌÎÐ ÐËÜ ÉÙÉÐÌÚÉ ãÈÐÇ ×ÌÐÌÍÚÈÎÈÉÐÈÔ
V τ

0

â ãÇÈÔÇ ÉÌÍÏÌÉ
ËÉ ÙËÍ×ÉÐÈÔÞ ÕÍ ÍÌÖÌÍÌÎÔÌ ÊÕÈÎÐâ ÌÚÊÇËÉÈáÌÉ ËÑËÈÎ ÐÇËÐ ÓÎÔÌÍÐËÈÎÐÙ ×ÕÌÉ ÎÕÐ ÔÇËÎÑÌ
ÐÇÌ ÊËÐÐÌÍÎ ÕÖ ÐÈÚÌæ×ÌÊÌÎ×ÌÎÔÙ ÓÎ×ÌÍ ÐÇÌ ÑÈÏÌÎ ÉÌÐ ÕÖ ËÉÉÓÚÊÐÈÕÎÉß 4ÎÛÙ Ë ÔÛËÉÉÈÔËÛÉÙÉÐÌÚ ãÈÐÇ ÐÇÌ ÎÕÎæÍÌÏÌÎÓÌæÎÌÓÐÍËÛ ÔÕÍÊÕÍËÐÌ ÐËÜ ÍËÐÌ τc = 0.25

ÐÇËÐ ÔËÎ àÌ ÉÌÌÎ
ËÐ ÐÇÌ àÕÐÐÕÚ ÕÖ ÐÇÈÉ äÑÓÍÌ ÛÌË×É ÐÕ ÉÈÑÎÈäÔËÎÐÛÙ ÛÕãÌÍ ÍÌËÛÈáËÐÈÕÎÉß

ý&



tau = 0.4; gamma = 0.5

0,4

0,45

0,5

0,55

0,6

0,65

0 10 20 30 40 50 60 70 80 90 100

z

P
(F

I)
,

P
(S

R
),

P
(C

C
)

0,8

0,85

0,9

0,95

1

1,05

1,1

1,15

1,2

1,25

1,3

V
0
^t

a
u

P(FI) P(SR) P(CC) P(CC; tau_c=0,1562) V0 t̂au

ëÈÑÓÍÌ +ò åÎÒÓÌÎÔÌ ÕÖ ÓÎÔÌÍÐËÈÎÐÙ ÕÎ Ṽ0
τ

åÖ
P (.) = 0.5

ÐÇÈÉ ÔÕÍÍÌÉÊÕÎ×É ÐÕ ×ÌÐÌÍÚÈÎÈÉÐÈÔ
V τ

0 = 1
ß 
ÕÐÇ ÏËÛÓÌÉ ÈÎ×ÈÔËÐÌ %ÌÜÊÌÔæÐÌ×( ÎÌÓÐÍËÛ ÐËÜËÐÈÕÎß çÛÐÇÕÓÑÇ ÐÇÌ ÊÍÕàËàÈÛÈÐÙ ×ÈÉÐÍÈàÓÐÈÕÎ ÕÖ ÐÇÌ ÉÐÕÔÇËÉÐÈÔ ÊÍÌÉÌÎÐ

ÏËÛÓÌ ÈÉ ÎÕÐ ÉÙÚÚÌÐÍÈÔ ÈÎ ÐÇÌ ÓÎ×ÌÍÛÙÈÎÑ ÉÌÐÐÈÎÑ ÉÈÚÓÛËÐÈÕÎ ÌÏÕÞÌÉ ÏËÛÓÌÉ ÖÕÍ P (.)ÐÇËÐ ËÍÌ ÔÛÕÉÌ ÐÕ ÈÐÉ ×ÌÐÌÍÚÈÎÈÉÐÈÔ ÔÕÓÎÐÌÍÊËÍÐ
V τ

0

ß
åÎ ÕÍ×ÌÍ ÐÕ ÈÎÏÌÉÐÈÑËÐÌ ÐÇÌ ÈÎÒÓÌÎÔÌ ÕÎ ÊÍÕäÐ ×ÈÉÐÍÈàÓÐÈÕÎÉ ãÌ ÊÌÍÖÕÍÚ Ë ÉÈÚÓÛËÐÈÕÎ
ÓÉÈÎÑ ÐãÕ ×ÈØÌÍÌÎÐ ÍÌÐÌÎÐÈÕÎ ÍËÐÌÉâ ÈßÌß

γ = 0.1
ËÎ×

γ = 0.9
â ËÎ× ÍÌÔÌÈÏÌ ÐÇÌ ÏËÛÓÌÉ

ÈÎ ÐËàÛÌÉ ü ËÎ× 'ß ÆÇÌ äÍÉÐ ÍÕã ÖÕÍ ÌËÔÇ ÐËÜ ÉÙÉÐÌÚ ÉÇÕãÉ ÏËÛÓÌÉ ÖÕÍ γ = 0.1
â ÐÇÌ

ÉÌÔÕÎ× ÍÕã ÐÇÌ ÔÕÍÍÌÉÊÕÎ×ÈÎÑ ÍÌÉÓÛÐÉ ÈÖ
γ = 0.9

ß
4àÏÈÕÓÉÛÙâ ÇÈÑÇ ÍÌÐÌÎÐÈÕÎ ÍËÐÌÉ ÈÎÔÍÌËÉÌ ÏËÍÈËÎÔÌâ ÉÞÌãÎÌÉÉ ËÎ× ÞÓÍÐÕÉÈÉß 1ÈÉÞ ÑÍÕãÉ
ÌÏÌÎ ÚÕÍÌ ÈÖ ÐÇÌ ÊÌÍÉÕÎËÛ ÐËÜ ÍËÐÌ ÈÉ ÍÌÛËÐÈÏÌÛÙ ÇÈÑÇ %ÐËàÛÌ '( ÔÕÚÊËÍÌ× ÐÕ ÐÇÌ
ÔÕÍÊÕÍËÐÌ ÐËÜ ÍËÐÌß ÆÇÌÉÌ äÎ×ÈÎÑÉ ËÍÌ ÊÍÈÎÔÈÊËÛÛÙ ×ÓÌ ÐÕ ÐÇÌ ÉËÚÌ ÈÎÐÌÍ×ÌÊÌÎ×ÌÎÔÈÌÉ
ËÉ ×ÌÉÔÍÈàÌ× àÙ äÑÓÍÌ ý ÓÎ×ÌÍ ÔÌÍÐËÈÎÐÙß úÈÑÇ ÍËÐÌÉ ÕÖ

γ
ËÚÊÛÈÖÙ ÐÇÌ ×ÈÉÐÕÍÐÈÕÎËÛ

ÌØÌÔÐÉ ÐÇËÐ ËÍÌ ÚËÈÎÛÙ ÔËÓÉÌ× àÙ ÐËÜ ÍËÐÌ ×ÈØÌÍÌÎÔÌÉß ëÕÍ
τc = 0.25 < τ = 0.4ãÌ ÔËÎ ÕàÉÌÍÏÌ ÐÇÌ ãÌÛÛæÞÎÕãÎ ÛÕÔÞæÈÎ ÑÍÕãÐÇ ÌØÌÔÐß�D éÕÎÉÌ-ÓÌÎÐÛÙâ ÚÕÍÌ ÈÎÔÕÚÌÈÉ ÉÓà�ÌÔÐ ÐÕ ÉÐÕÔÇËÉÐÈÔ ÈÎÐÌÍÎËÛ ÑÍÕãÐÇß ÆÇÌ ÈÎÏÌÉÐÚÌÎÐ ÊÍÕ�ÌÔÐ ÐÇÌÍÌÖÕÍÌ àÌÔÕÚÌÉ

ÚÕÍÌ ÍÈÉÞÙß ç××ÈÐÈÕÎËÛ èÕÎÐÌ éËÍÛÕ êÈÚÓÛËÐÈÕÎÉ ÖÕÍ ÏËÍÈÕÓÉ ÍËÐÌÉ ÕÖ γ
ÔÕÎäÍÚ ÐÇÌÉÌ

äÎ×ÈÎÑÉß
çÉÉÓÚÈÎÑ ÍËÐÇÌÍ ÛÕã ÊÌÍÉÕÎËÛ ÈÎÔÕÚÌ ÐËÜ ÍËÐÌÉ�ÿ ËÎ× ÊËÍÈÐÙ àÌÐãÌÌÎ ÊÌÍÉÕÎËÛ ËÎ×
ÔÕÍÊÕÍËÐÌ ÐËÜ ÍËÐÌÉ %ÐËàÛÌ ü(â ËÎ ÈÎÏÌÉÐÕÍ ãÈÛÛ àÌÎÌäÐ ÖÍÕÚ Ë ÖÓÛÛ ÈÚÊÓÐËÐÈÕÎ ÉÙÉÐÌÚß

ÕÐÇ ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖ ËÎ× ÐÇÌ ÔÛËÉÉÈÔËÛ ÉÙÉÐÌÚ ÑÌÎÌÍËÐÌ ÛÕãÌÍ ÏËÛÓÌÉ ÕÖ Ṽ τ

0

ÐÇËÎ
ÖÓÛÛ ÈÚÊÓÐËÐÈÕÎß ÆÇÈÉ ×ÈÉË×ÏËÎÐËÑÌ ÌÚÌÍÑÌÉ ÖÍÕÚ b×ÕÓàÛÌb ÐËÜËÐÈÕÎ ÈÎ ÔËÉÌ ÕÖ ÐÇÌ
ÔÛËÉÉÈÔËÛ ÉÙÉÐÌÚ ËÎ× ÖÍÕÚ Ë ÍÌÛËÐÈÏÌÛÙ ÛÕã ÐËÜ ÊÍÈÏÈÛÌÑÌ�� ÓÎ×ÌÍ ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖâ
ÔËÓÉÌ× àÙ ÐÇÌ ËÉÉÓÚÌ× ÛÕã ÈÎÔÕÚÌ ÐËÜ ÍËÐÌÉß
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z
ÐËÜ m σ2 skew kurt

FI
ýßûû �ß'& ûß2+ ýûß'û
ýßý* �ß+& ûß&ý ý'ßýü

ý�
SR

ýß�+ �ßü2 ûß2' ýûß+'
ýß�, �ß'& ûß&ý ýüß+�

CC
�ß&2 �ß2ý ûß2* ýûßüû
�ß&� �ßüû ûß+& ýüß&,

FI
ýßý+ �ßüü ûßýü &ß�ý
ýß�ü �ß'û ûßü� ýýßû'

,�
SR

ýß�, �ß2û ûß�& *ß&&
�ß&, �ß2+ ûß2* ý�ß**

CC
�ß+& �ß,û ûßýü &ß��
�ß+� �ß,ü ûßü� ýýß,û

FI
ýßý* �ßüü ûßý� *ß+,
ýß�, �ßüü ûßü* ýûß+2

ü�
SR

ýß�, �ß2û ûßýý +ßý'
�ß&ý �ß2û ûß2+ ýýßû+

CC
�ß++ �ß,ý ûß�& *ß+,
�ß*+ �ß,ý ûßü� ýýß*&

FI
ýßý* �ßüü ûß,ý ýûß+ý
ýß�' �ßüü ûß2* ýýß,ü

*�
SR

ýß�, �ß2û ûß2� ýüß��
�ß&û �ß2û ûß2+ ýýßû,

CC
�ß++ �ß,ý ûß,ý ýûß+ý
�ß*& �ß,ý ûß2* ýýß2+

FI
ýßý+ �ßü' ûßû& ýýßüû
ýß�* �ßüü ûß,2 &ß'*

&�
SR

ýß�, �ß2û ûßûý ý�ßý�
�ß&, �ß2ý ûß,ý &ß*ý

CC
�ß++ �ß,ý ûßû& ýûß2�
�ß+� �ß,ý ûß,2 &ß'&

z
ÐËÜ m σ2 skew kurt

FI
ýßûü �ß*ü ûß2ü ýûßû2
ûß'+ üß'� ,ß,' û,ßýû

ý�
SR

ýßûü �ß*' ûßü& ý2ß+'
ûß'* üß,& ,ß�ü ý'ß2'

CC
�ß&* �ß2ü ûß2û ýýßý,
ûß�2 ,ßý+ ,ßû& ûýßü*

FI
ýßûû �ß'� ýß&+ 'ß+&
ûßüû 2ß2' ,ß'& ,ýß,ý

,�
SR

ýßûû �ß'ý ûß�, *ß',
ûßüû 2ß,+ ,ß*ý ,2ß&ý

CC
�ß&û �ß,ü ýß&+ 'ß&�
ýß&� ûßüý ,ß'ü ,�ß�&

FI
ýßûý �ßü& ûß�+ *ß',
ûßü� ,ß*+ ûß** ý2ß,*

ü�
SR

ýßûý �ßü& ûß�& *ß',
ûßü� ,ß*ý ûß'' ýûß*+

CC
�ß&ý �ß,2 ûß�+ *ß',
ýß++ ûßýý ûß*ü ý2ß,ü

FI
ýßûû �ß'� ûß�2 *ßý&
ûßüû ,ß2' ûß'2 ý,ß,*

*�
SR

ýßûû �ß'� ûß�, *ßý,
ûßüý ,ß22 ûß*2 ýüß�2

CC
�ß&ý �ß,2 ûß�2 *ßý&
ýß+& ýß&2 ûß'û ýûß&'

FI
ýßûý �ß'ý ûßû* ý�ß2û
ûß'+ ,ß+û ûß'2 ý2ß�,

&�
SR

ýßûý �ß'ý ûß,û ýýß,�
ûß'+ ,ß*+ ûß', ý,ß+,

CC
�ß&ý �ß,2 ûßû+ ý�ß22
ûß�ý ûßý, ûß'û ý,ß'�

ÆËàÛÌ üò ëÓÛÛ ÈÚÊÓÐËÐÈÕÎâ ÉÇËÍÌÇÕÛ×ÌÍ
ÍÌÛÈÌÖ ËÎ× ÔÛËÉÉÈÔËÛ ÔÕÍÊÕÍËÐÌ ÐËÜ ÉÙÉÐÌÚ
ÖÕÍ

µτ = 0.25
â
τc = 0.25

â
γ = 0.1

ÕÍ
0.9ËÎ× ÏËÍÈÕÓÉ z

ÆËàÛÌ 'ò ëÓÛÛ ÈÚÊÓÐËÐÈÕÎâ ÉÇËÍÌÇÕÛ×ÌÍ
ÍÌÛÈÌÖ ËÎ× ÔÛËÉÉÈÔËÛ ÔÕÍÊÕÍËÐÌ ÐËÜ ÉÙÉÐÌÚ
ÖÕÍ

µτ = 0.4
â
τc = 0.25

â
γ = 0.1

ÕÍ
0.9ËÎ× ÏËÍÈÕÓÉ z

ëÓÍÐÇÌÍÚÕÍÌâ ÐÇÌÉÌ ÐËàÛÌÉ ËÛÛÕã ÔÕÎÔÛÓÉÈÕÎÉ ËàÕÓÐ ÊÍÕàËàÛÙ ÊÍÕäÐËàÛÌ ÈÎÏÌÉÐÚÌÎÐ
×ÌÔÈÉÈÕÎÉ ÖÕÍ Ë ÉÊÌÔÈäÔ ÉÌÐÐÈÎÑ ÓÎ×ÌÍ ÓÎÔÌÍÐËÈÎÐÙß åÖ ãÌ ÛÕÕÞ ËÐ ÐÇÌ ×ÌÔÈÉÈÕÎ ÕÎ ÐÇÌ
ÐÈÚÌ ÕÖ ÉÌÛÛÈÎÑ ÐÇÌ ÈÎÏÌÉÐÚÌÎÐâ ÛÕÎÑæÐÌÍÚ ÈÎÏÌÉÐÚÌÎÐÉ ÕÖÐÌÎ ÉÇÕÓÛ× àÌ ÇÌÛ× ÖÕÍ ÛÕÎÑÌÍ
ÐÇËÎ T

2

ß êÌÛÛÈÎÑ ÌßÑß ËÐ ÐÈÚÌ
z = 50

ÚËÙ ÛÌË× ÐÕ Ë ÚÈÎÈÚËÛ ÍÌËÛÈáËÐÈÕÎ ÕÖ ÐÇÌ ÊÍÌÉÌÎÐ
ûý



ÏËÛÓÌß�� åÖ ÐÇÌ ÈÎÏÌÉÐÕÍ ×ÌÔÈ×ÌÉ ÐÕ ×ÌÛËÙ ÐÇÌ ÉËÛÌ ÌßÑß ÓÎÐÈÛ
z = 90

â ÍÈÉÞ ÈÎÔÍÌËÉÌÉ
%ÉÌÌ ÐËàÛÌ '(ß ÆÇÌ ÔÇËÎÔÌ ÕÖ ÍÌÔÌÈÏÈÎÑ Ë ÇÈÑÇÌÍ ÊÍÌÉÌÎÐ ÏËÛÓÌ ÕÖ ÐÇÌ ÈÎÏÌÉÐÚÌÎÐ àÙ
×ÌÛËÙÈÎÑ ÐÇÌ ÉËÛÌ ÑÍÕãÉ ÈÖ ÇÈÑÇ ÊÌÍÉÕÎËÛ ËÎ× ÛÕã ÔÕÍÊÕÍËÐÌ ÐËÜ ÍËÐÌÉ ÔÕÈÎÔÈ×Ì ËÎ×
Ë ÛËÍÑÌ ÖÍËÔÐÈÕÎ ÕÖ ÊÍÕäÐÉ ÈÉ ÍÌÐËÈÎÌ× ÈÎ ÌËÔÇ ÊÌÍÈÕ×ß )ÍÕàËàÈÛÈÐÈÌÉ ÖÕÍ Ë ÊÍÕäÐËàÛÌ
ÈÎÏÌÉÐÚÌÎÐ ÓÎ×ÌÍ ÐÇÈÉ ÉÌÐÐÈÎÑâ ÈßÌß ÐÇÌ ÊÍÕàËàÈÛÈÐÙ ÐÇËÐ V τ

0

ãÈÛÛ ÇËÏÌ Ë ÍÌËÛÈáËÐÈÕÎ ÕÖ
ý ÕÍ ÑÍÌËÐÌÍâ

P (.)
â ÇËÏÌ àÌÌÎ ÊÛÕÐÐÌ× ÈÎ äÑÓÍÌ +ß

çÎËÛÙáÈÎÑ ÐÇÌ ÍËÎÑÌ ÕÖ ÚÌËÎÉâ ÉÈÚÓÛËÐÈÕÎ ÈÎ×ÈÔËÐÌÉ ÐÇËÐ ÓÎÔÌÍÐËÈÎÐÙ ÛÌË×É ÐÕ ÇÈÑÇÌÍ
ÌÜÊÌÔÐÌ× ÏËÛÓÌÉ ÕÖ Ṽ0

τ ÐÇËÎ ÐÇÕÉÌ ÐÇËÐ ÔËÎ àÌ ×ÌÐÌÍÚÈÎÌ× ÖÕÍ ÎÕÎæÉÐÕÔÇËÉÐÈÔ V τ
0

ß
$ßÑßâ ËÉÉÓÚÈÎÑ

γ = 0.1
â
µτ = 0.25

ËÎ× ÖÓÛÛ ÈÚÊÓÐËÐÈÕÎ ãÌ äÎ× ÖÕÍ
0 < z < 100×ÌÐÌÍÚÈÎÈÉÐÈÔ ÊÍÌÉÌÎÐ ÏËÛÓÌÉ àÌÐãÌÌÎ �ß&& ËÎ× ýß�� ãÇÌÍÌËÉâ àËÉÌ× ÕÎ ÉÐÕÔÇËÉÐÈÔ

ÈÎÐÌÍÎËÛ ËÎ× ÍËÎ×ÕÚ ÊÌÍÉÕÎËÛ ÐËÜ ÍËÐÌÉâ ÍÌËÛÈáËÐÈÕÎ ÕÖ Ṽ0
τ ÖÍÕÚ ýßý* ÐÕ ýßû+ ÌÚÌÍÑÌß�	

ÆËàÛÌ * ÌÜÌÚÊÛÈäÌÉ ÐÇÈÉò

γ
ÐËÜ V τ

0 m P (.)

FI
�ß&& æ ýß�� ýßý* æ ýßû+ �ß2& æ �ßü�

�ßý
SR

�ß+* æ ýß�� ýß�û æ ýßýü �ß2� æ �ß22
CC

�ß*ü æ �ß+� �ß++ æ ýß�û �ß,� æ �ß,*
FI

�ß+' æ ýß�� ýß�, æ ýßû+ �ß,& æ �ß2&
�ß&

SR
�ß*ü æ �ß++ �ß&ý æ ýßýü �ß,ý æ �ß2,

CC
�ß'ü æ �ß+� �ß*+ æ ýß�û �ßû, æ �ß,*

ÆËàÛÌ *ò 1ËÎÑÌ ÕÖ ÏËÛÓÌÉ ËÎ× ÊÍÕàËàÈÛÈÐÈÌÉ ÖÕÍ
τc = 0.25

â
µτ = 0.25

â
0 < z < 100

â
ËÎ× ÏËÍÈÕÓÉ γ

�ÌÓÐÍËÛ ÐËÜËÐÈÕÎ ÈÉ ÕÖÐÌÎ ÔÕÎÉÈ×ÌÍÌ× ×ÌÉÈÍËàÛÌ ÖÍÕÚ Ë ÐËÜ ÊÕÛÈÔÙ ËÎ× Ì7ÔÈÌÎÔÙ ÊÕÈÎÐ
ÕÖ ÏÈÌãß éÕÎÉÌ-ÓÌÎÐÛÙâ ×ÈÉÐÕÍÐÈÕÎÉâ ÈßÌß ÈÎ ÔËÉÌ ÕÖ Ë ÍÈÉÞ ÎÌÓÐÍËÛ ÈÎÏÌÉÐÕÍ ×ÌÏÈËÐÈÕÎÉ
ÖÍÕÚ

V0
τ = 1

â ÌÏÌÎ ÈÖ ÐÇÌÙ ÖËÏÕÍ ÐÇÌ ÈÎ×ÈÏÈ×ÓËÛ ÈÎÏÌÉÐÕÍâ ÉÇÕÓÛ× àÌ ËÏÕÈ×Ì×ß ëÕÔÓÉÉÈÎÑ
ÕÎ ÐÇÌ ÚÌËÎ ËÉ ×ÌÔÈÉÈÕÎ ÔÍÈÐÌÍÈÕÎ ÈÎ×ÈÔËÐÌÉ ÎÌÓÐÍËÛ ËÐÐÈÐÓ×Ì ÐÕãËÍ×É ÍÈÉÞß 1ÌÛËÜÈÎÑ
ÐÇÈÉ ËÉÉÓÚÊÐÈÕÎ ÍÌ-ÓÈÍÌÉ Ë ÚÕÍÌ ÉÕÊÇÈÉÐÈÔËÐÌ× ÔËÊÈÐËÛ ÚËÍÞÌÐ Ì-ÓÈÛÈàÍÈÓÚ ÚÕ×ÌÛ
ÐÇËÐ ÈÎÐÌÑÍËÐÌÉ ÍÈÉÞ ËÏÌÍÉÈÕÎ ÈÎÐÕ ÔËÊÈÐËÛ àÓ×ÑÌÐÈÎÑ ËÎ× ÌÎ×ÕÑÌÎÕÓÉÛÙ ×ÌÐÌÍÚÈÎÌÉ
ÐÇÌ ËÊÊÍÕÊÍÈËÐÌ ÍÈÉÞ ÊÍÌÚÈÓÚß�� 1ÌÖÌÍÍÈÎÑ ÐÕ

σ2
â ÉÞÌãÎÌÉÉ ËÎ× ÞÓÍÐÕÉÈÉ ÕÎÛÙ ÊÍÕÏÈ×ÌÉ

ÈÎÖÕÍÚËÐÈÕÎ ËàÕÓÐ ÐÇÌ ×ÌÑÍÌÌ ÕÖ ÍÈÉÞ ÈÎÏÕÛÏÌ×â àÓÐ ÎÕÐ ËàÕÓÐ ÈÐÉ ÖÓÎÔÐÈÕÎËÛ ÈÚÊËÔÐ
ÕÎ ÐÇÌ ÈÎÏÌÉÐÕÍÝÉ ×ÌÔÈÉÈÕÎ ÔËÛÔÓÛÓÉß
êÈÎÔÌ ÐÇÌ ËÎËÛÙáÌ× ÐËÜ ÉÙÉÐÌÚÉ ÔËÓÉÌ ÇÈÑÇÌÍ ÊÍÌÉÌÎÐ ÏËÛÓÌÉ ËÎ× ÈÎÔÍÌËÉÌ ×ÌÏÈËÐÈÕÎ
ÖÍÕÚ ÐÇÌ ÐËÜ ÎÌÓÐÍËÛ ÏËÛÓÌ V0

τ = 1
â�# ÐÇÌÙ ËÊÊËÍÌÎÐÛÙ ÐÌÎ× ÐÕ àÌ ÚÕÍÌ ÈÎÌ7ÔÈÌÎÐ

33
­�±� �±���£ � ��¥ ¶�

34 ��� ��¦©� ; ��¥ �±��� ¶�
35 ��� ��±� ��� �I�¡©¡¦�¡�¬ ¬�¥�©£ ¥�¢�©�¯�¥ ¦¤ ���£����¡�¡¥�£ �²µ¶´� ��¥ ª�£�¼�·�©©¬�¤����³³´� ���� ¦��� ��©¤ �� ��� ��¡£���¨� �� �� ���±����£©¤®±¡¢�� �¡£¼®���� ¦��¥ ��¡¨� ¡£ ������¬¯�� §������� £��  ¡�¬���������� ��³³�� ��� ¯�¡�� ��� ��� ���¥ ��� � ±�����© �I�¡©¡¦�¡�¬�¯¯���¨� ��¡¨� ��¼�£ ¡��� �¨¨���� ��� ¨�¬¦¡��¥ ¨��¯����� ��¥ ¯��£���© ��� ��¥±� ��£�©�¡�±���¬ ���© ��¥ ����¨¡�© ¡�¢�£�¬����
36 ��� ��¦©� ��
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ÓÎ×ÌÍ ÓÎÔÌÍÐËÈÎÐÙ ËÎ× ÐÇÌ ÑÈÏÌÎ ÉÌÐ ÕÖ ËÉÉÓÚÊÐÈÕÎÉ ÐÇËÎ ÓÎ×ÌÍ ÔÌÍÐËÈÎÐÙ ÈÎ ÐÇÈÉ
ÊËÍÐÈËÛÛÙ ËÎËÛÙÐÈÔ ÖÍËÚÌãÕÍÞß ëÓÍÐÇÌÍÚÕÍÌâ ËÉ ÐÇÌ ÍËÐÌ ÕÖ ÍÌÐÓÍÎ ÈÉ ÉÐÕÔÇËÉÐÈÔ ãÌ ×Õ
ÎÕÐ ËÎËÛÙáÌ ÉÕÛÌÛÙ ÚËÍÑÈÎËÛ ÈÎÏÌÉÐÚÌÎÐß éÕÎÉÌ-ÓÌÎÐÛÙâ àÌÙÕÎ× ÉÐËÐÌÚÌÎÐÉ ÕÎ ÐÇÌ
×ÈÍÌÔÐÈÕÎ ÕÖ ÐÇÌ ×ÈÉÐÕÍÐÈÕÎâ ÔÕÎÔÛÓÉÈÕÎÉ ÕÎ ãÇÌÐÇÌÍ ÐÇÌ ÈÎÒÓÌÎÔÌ ÕÖ ÐÇÌ ÓÎ×ÌÍÛÙÈÎÑ
ÐËÜ ÉÙÉÐÌÚ ÕÎ ÈÎÏÌÉÐÚÌÎÐ àÌÇËÏÈÕÍ ÈÉ ×ÌÉÈÍËàÛÌ ÖÍÕÚ ËÎ Ì7ÔÈÌÎÔÙ ÊÕÈÎÐ ÕÖ ÏÈÌã�8 ËÍÌ
ÎÕÐ ÊÕÉÉÈàÛÌ ËÉ ËÎ ËÊÊÍÕÊÍÈËÐÌ ÙËÍ×ÉÐÈÔÞ ÖÕÍ ÈÎÖÍËÚËÍÑÈÎËÛ ÈÎÏÌÉÐÚÌÎÐÉ ÇËÉ ÎÕÐ àÌÌÎ
×Ì×ÓÔÌ× ÓÎÐÈÛ ÎÕãß

d &)((#$1 #�5 "��.%)2'��

ÆÇÈÉ ÊËÊÌÍ ÌÜËÚÈÎÌÉ ÐÇÌ ÈÎÒÓÌÎÔÌ ÕÖ ÔÓÍÍÌÎÐ ÊÍÕäÐ ËÎ× ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜËÐÈÕÎ ÕÎ
ÈÎÏÌÉÐÚÌÎÐÉ ÈÎ ÔÕÍÊÕÍËÐÌ ÉÇËÍÌÉß�Ì ÖÕÔÓÉ ÕÎ ÐÇÍÌÌ ÉÊÌÔÈäÔËÐÈÕÎÉ ÕÖ ÕÎÌ ÊËÍËÚÌÐÍÈÔ
ÐËÜ ÚÕ×ÌÛß ÆÇÌÉÌ ÉÊÌÔÈäÔ ÐËÜ ÉÙÉÐÌÚÉ ËÍÌ ÖÓÛÛ ÈÚÊÓÐËÐÈÕÎâ ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖ ËÎ× ÐÇÌ
ÔÛËÉÉÈÔËÛ ÔÕÍÊÕÍËÐÌ ÐËÜ ÉÙÉÐÌÚ ãÈÐÇ ×ÕÓàÛÌ ÐËÜËÐÈÕÎ ÕÖ ×ÈÏÈ×ÌÎ×É ËÐ ÔÕÍÊÕÍËÐÌ ËÎ×
ÊÌÍÉÕÎËÛ ÛÌÏÌÛß
çÊÊÛÙÈÎÑ Ë ÑÍÕãÐÇ ÚÕ×ÌÛ ÓÎ×ÌÍ ÔÌÍÐËÈÎÐÙ ãÌ äÎ× ÓÎ×ÌÍ ÍËÐÇÌÍ ÍÌÉÐÍÈÔÐÈÏÌ ËÉÉÓÚÊæÐÈÕÎÉ ÐÇËÐ ÐÇÌ ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖ ÉÙÉÐÌÚ ÈÎ×ÓÔÌÉ ÚÕÍÌ ÉÌÏÌÍÌ ×ÈÉÐÕÍÐÈÕÎÉ ÐÇËÎ ÐÇÌ
ÖÓÛÛ ÈÚÊÓÐËÐÈÕÎ ÉÙÉÐÌÚß �ÎÖÕÍÐÓÎËÐÌÛÙâ ÑÌÎÌÍËÛ ËÎËÛÙÐÈÔËÛ ÉÕÛÓÐÈÕÎÉ ÖÕÍ ÐÇÌ ×ÈØÌÍÌÎÐ
ÔËÐÌÑÕÍÈÌÉ ÕÖ ÐËÜ ÍÌÑÈÚÌÉâ ÌÏÌÎ ÓÎ×ÌÍ ÔÌÍÐËÈÎÐÙâ ÔËÎÎÕÐ àÌ ×ÌÍÈÏÌ×ß
ÆÍÙÈÎÑ ÐÕ ÊÍÕÏÌ ÐÇÌ ×ÈÉÐÕÍÐÈÏÌ ÊÕãÌÍ ÕÖ Ë ÐËÜ ÉÙÉÐÌÚ ãÈÐÇ ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖ ÈÎ
Ë ÚÕÍÌ ÍÌËÛÈÉÐÈÔ ÉÌÐÐÈÎÑ ãÈÐÇ ÓÎÔÌÍÐËÈÎÐÙâ ãÌ ÌÚÊÛÕÙ Ë èÕÎÐÌ éËÍÛÕ êÈÚÓÛËÐÈÕÎß
ÆÇÌ ×ÌÑÍÌÌ ÕÖ ÐËÜæÈÎ×ÓÔÌ× ÓÎÔÌÍÐËÈÎÐÙ ÈÎ ÚËÎÙ ÔËÉÌÉ ÈÉ ÉÈÑÎÈäÔËÎÐÛÙ ÛÕãÌÍ ÓÎ×ÌÍ
Ë ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖ ÉÙÉÐÌÚ ÐÇËÎ ÓÎ×ÌÍ ÖÓÛÛ ÈÚÊÓÐËÐÈÕÎß åÎ ÔÕÎÐÍËÉÐ ÐÕ ÐÇÌ ËÎËÛÙÉÈÉ
ÓÎ×ÌÍ ÔÌÍÐËÈÎÐÙâ ÐÇÌ ÍÌÉÓÛÐÉ ÉÓÑÑÌÉÐ ÐÇËÐ ÓÎ×ÌÍ ÓÎÔÌÍÐËÈÎÐÙ ÖÓÛÛ ÈÚÊÓÐËÐÈÕÎ ÊÍÕàËàÛÙ
ÔËÓÉÌÉ ÚÕÍÌ ÉÌÏÌÍÌ ×ÈÉÐÕÍÐÈÕÎÉ ÐÇËÎ ÉÇËÍÌÇÕÛ×ÌÍ ÍÌÛÈÌÖ ãÇÌÎÌÏÌÍ ÊÌÍÉÕÎËÛ ÈÎÔÕÚÌ ÐËÜ
ÍËÐÌÉ ËÍÌ ÛÕãß ÆÇÈÉ ÈÉ ËÎ ÈÚÊÕÍÐËÎÐ ÍÌÉÓÛÐ ËÉ ÈÎ ÛÈÑÇÐ ÕÖ ÈÎÐÌÍÎËÐÈÕÎËÛ ÐËÜ ÔÕÚÊÌÐÈÐÈÕÎâ
Ë ÍÌ×ÓÔÐÈÕÎ ÕÖ ÐËÜ ÍËÐÌÉ ÈÉ ÐËÞÈÎÑ ÊÛËÔÌ ÕÍ ÈÉ ÛÈÞÌÛÙ ÐÕ ÐËÞÌ ÊÛËÔÌ ÈÎ ÉÌÏÌÍËÛ ÔÕÓÎÐÍÈÌÉß
ëÓÍÐÇÌÍÚÕÍÌâ ÐÇÌ ÉÈÚÓÛËÐÈÕÎ ÇÈÑÇÛÈÑÇÐÉ ÐÇÌ ÐÍË×ÌæÕØ ÕÖ ÐÇÌ ÕÊÊÕÉÈÎÑ ÌØÌÔÐÉâ ÈßÌß ÐËÜËÎ× ÈÎÐÌÍÌÉÐ ÍËÐÌ ÌØÌÔÐÉâ ËÎ× ÐÇÌ ÕÏÌÍãÇÌÛÚÈÎÑ ÈÚÊËÔÐ ÕÖ ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜËÐÈÕÎß
çÊËÍÐ ÖÍÕÚ ÐËÜ ÊËÍËÚÌÐÌÍÉâ ãÌ È×ÌÎÐÈÖÙ ÐÇÌ ×ÈÏÈ×ÌÎ× ÍËÐÌ ËÎ× ÐÇÌ ÊÕÈÎÐ ÈÎ ÐÈÚÌ ÕÖ
ÉÌÛÛÈÎÑ ÐÇÌ ÉÐÕÔÞ ËÉ ÈÚÊÕÍÐËÎÐ ÏËÛÓÌ ×ÍÈÏÌÍÉß
çÛÛ ÍÌÉÓÛÐÉ ÕÖ ÐÇÈÉ ËÎËÛÙÉÈÉ ËÍÌ ÛÈÚÈÐÌ× ÐÕ ÐÇÌ ÓÎ×ÌÍÛÙÈÎÑ ËÉÉÓÚÊÐÈÕÎÉß4àÏÈÕÓÉÛÙâ ÌÏÌÎ
ÈÎ ÐÇÈÉ ÉÈÚÊÛÌ ÉÌÐÐÈÎÑ ÐËÜËÐÈÕÎ ÇËÉ Ë ÎÕÎÓÎÈÖÕÍÚ ÈÎÒÓÌÎÔÌ ÕÎ ÈÎÏÌÉÐÕÍÉ àÌÇËÏÈÕÍß
�ÌÎÌÍËÛÈáËÐÈÕÎÉ ËÍÌ ÇËÍ×ÛÙ ÊÕÉÉÈàÛÌß �ÌÏÌÍÐÇÌÛÌÉÉâ ãÌ ÖÕÓÎ× ÊÍÕàËàÈÛÈÐÈÌÉ ÖÕÍ ÉÊÌÔÈäÔ
ÊÍÕäÐËàÛÌ ÈÎÏÌÉÐÚÌÎÐ ÉÐÍËÐÌÑÈÌÉ ×ÌÊÌÎ×ÈÎÑ ÕÎ ÐÇÌ ÐËÜ ÉÙÉÐÌÚß
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çÑÛÈËÍ×Èâ $ÛÌÐÐÍË %û��ý(ò ÆËÜËÐÈÕÎ ËÎ× åÎÏÌÉÐÚÌÎÐ �ÌÔÈÉÈÕÎÉò ç 1ÌËÛ 4ÊÐÈÕÎÉ çÊæÊÍÕËÔÇß åÎò çÓÉÐÍËÛÈËÎ $ÔÕÎÕÚÈÔ )ËÊÌÍÉâ 0ÕÛß 2� %û��ý(â ÊÊß 22æüüß
çÐÞÈÎÉÕÎâ çÎÐÇÕÎÙ 
ßâ êÐÈÑÛÈÐáâ fÕÉÌÊÇ $ß %ý&+�(ò �ÌÔÐÓÍÌÉ ÕÎ )ÓàÛÈÔ $ÔÕÎÕÚÈÔÉâ

�ÕÎ×ÕÎ ÌÐ ËÛß ý&+�ß
çÓÌÍàËÔÇâ çÛËÎ fß %ý&*&(ò êÇËÍÌ 0ËÛÓËÐÈÕÎ ËÎ× éÕÍÊÕÍËÐÌ $-ÓÈÐÙ )ÕÛÈÔÙß åÎò fÕÓÍÎËÛÕÖ )ÓàÛÈÔ $ÔÕÎÕÚÈÔÉâ 0ÕÛß ýý %ý&*&(â ÊÊß û&ýæ,�üß
çÓÌÍàËÔÇâ çÛËÎ fß %ý&+&(ò éËÊÈÐËÛ �ËÈÎÉ ÆËÜËÐÈÕÎ ËÎ× ÆËÜ 1ÌÖÕÍÚß åÎò �ËÐÈÕÎËÛÆËÜ fÕÓÍÎËÛâ 0ÕÛß 2û %ý&+&(â ÊÊß ,&ýæ2�ýß
çÓÌÍàËÔÇâ çÛËÎ fß %ý&&ý(ò 1ÌÐÍÕÉÊÌÔÐÈÏÌ éËÊÈÐËÛ �ËÈÎÉ ÆËÜËÐÈÕÎß åÎò çÚÌÍÈÔËÎ $ÔÕæÎÕÚÈÔ 1ÌÏÈÌãâ 0ÕÛß +ý %ý&&ý(â ÊÊß ý'*æý*+ß
çÓÌÍàËÔÇâ çÛËÎ fßâ úÈÎÌÉâ fËÚÌÉ 1ß %ý&++(ò åÎÏÌÉÐÚÌÎÐ ÆËÜ åÎÔÌÎÐÈÏÌÉ ËÎ× ëÍÌ-ÓÌÎÐÆËÜ 1ÌÖÕÍÚÉß åÎò çÚÌÍÈÔËÎ $ÔÕÎÕÚÈÔ 1ÌÏÈÌãâ 0ÕÛß *+ %ý&++(â ÊÊß ûýýæûý'ßçÙÌÍÉâ
ÌÎ�ËÚÈÎâ�ÌÖËÎÕãÈÔáâ éÍËÈÑ $ßâ1ÕàÈÎÉÕÎâ fÕÇÎ 1ß %û��,(ò êÇËÍÌÇÕÛ×ÌÍ ÆËÜÌÉÈÎ çÔ-ÓÈÉÈÐÈÕÎ )ÍÌÚÈÓÚÉò ÆÇÌ $ØÌÔÐ ÕÖ éËÊÈÐËÛ �ËÈÎÉ ÆËÜËÐÈÕÎß åÎò fÕÓÍÎËÛ ÕÖëÈÎËÎÔÌâ 0ÕÛß ü+ %û��,(â ÊÊß û*+,æû+�ýß

ËÛÔÌÍâgÏÌÉ %ý&+,(ò ÆÇÌ ÆËÜËÐÈÕÎ ÕÖ éËÊÈÐËÛ �ËÈÎÉò êËÚÓÌÛÉÕÎÝÉ ëÓÎ×ËÚÌÎÐËÛ )ÍÈÎæÔÈÊÛÌß åÎßò )ÓàÛÈÔ ëÈÎËÎÔÌâ 0ÕÛß ,+ %ý&+,(â ÊÊß ýæýüß

ËÉËÞâ êÓÛÌÙÚËÎâ �ËÛÛÚÌÙÌÍâ èÈÔÇËÌÛ %û��,(ò éËÊÈÐËÛ èËÍÞÌÐ $-ÓÛÈàÍÈÓÚ ãÈÐÇ �ÈÖæÖÌÍÌÎÐÈËÛ ÆËÜËÐÈÕÎß åÎò $ÓÍÕÊÌËÎ ëÈÎËÎÔÌ 1ÌÏÈÌãâ 0ÕÛß * %û��,(â ÊÊß ýûýæýü&ß

ÍË×ÖÕÍ×â �ËÏÈ× ëß %ý&+ý(ò ÆÇÌ åÎÔÈ×ÌÎÔÌ ËÎ× çÛÛÕÔËÐÈÕÎ $ØÌÔÐÉ ÕÖ Ë ÆËÜ ÕÎ éÕÍÊÕæÍËÐÌ �ÈÉÐÍÈàÓÐÈÕÎÉß åÎò fÕÓÍÎËÛ ÕÖ )ÓàÛÈÔ $ÔÕÎÕÚÈÔÉâ 0ÕÛß ýü %ý&+ý(â ÊÊß ýæûûß

ÍË×ÖÕÍ×â �ËÏÈ× ëß %ý&&'(ò ëÈÜÈÎÑ éËÊÈÐËÛ �ËÈÎÉò êÙÚÚÌÐÍÙâ éÕÎÉÈÉÐÌÎÔÙ ËÎ× éÕÍæÍÌÔÐÎÌÉÉ ÈÎ ÐÇÌ ÆËÜËÐÈÕÎ ÕÖ ëÈÎËÎÔÈËÛ åÎÉÐÍÓÚÌÎÐÉß åÎò ÆËÜ �Ëã 1ÌÏÈÌã â 0ÕÛßü� %ý&&'(â ÊÊß*,ýæ*+üß

ÍÕãÎâ $ß éËÍÙ %ý&2+(ò 
ÓÉÈÎÌÉÉæåÎÔÕÚÌ ÆËÜËÐÈÕÎ ËÎ× åÎÏÌÉÐÚÌÎÐ åÎÔÌÎÐÈÏÌÉß åÎòèÌÐáÛÌÍâ �ÛÕÙ× çß ÌÐ ËÛß %Ì×Éß(â åÎÔÕÚÌâ $ÚÊÛÕÙÚÌÎÐ ËÎ× )ÓàÛÈÔ )ÕÛÈÔÙâ $ÉÉËÙÉÈÎ úÕÎÕÍ ÕÖ çßúß úËÎÉÌÎâ �Ìã gÕÍÞâ ÊÊß ,��æ,ý'ßéÕÎÉÐËÎÐÈÎÈ×ÌÉâ �ÌÕÍÑÌ èß %ý&+,(ò éËÊÈÐËÛ èËÍÞÌÐ $-ÓÈÛÈàÍÈÓÚ ãÈÐÇ )ÌÍÉÕÎËÛ ÆËÜßåÎò $ÔÕÎÕÚÌÐÍÈÔËâ 0ÕÛß üý %ý&+,(â ÊÊß 'ýýæ','ß
�ÛÕÉÐÌÎâ �ËÓÍÌÎÔÌ 1ßâ fËÑËÎÎËÐÇËÎâ 1ËÏÈâ 1ÓÎÞÛÌâ �ËÏÈ× $ß %ý&&,(ò 4Î ÐÇÌ ÍÌÛËÐÈÕÎàÌÐãÌÌÎ ÌÜÊÌÔÐÌ× ÏËÛÓÌ ËÎ× ÐÇÌ ÏÕÛËÐÈÛÈÐÙ ÕÖ ÐÇÌ ÎÕÚÈÎËÛ ÌÜÔÌÉÉ ÍÌÐÓÍÎ ÕÎÉÐÕÔÞÉß åÎò fÕÓÍÎËÛ ÕÖ ëÈÎËÎÔÌâ 0ÕÛß 2+ %ý&&,(â ÊÊß ý**&æý+�ýß
�ÕÍ×ÕÎâ èÙÍÕÎ fß %ý&'û(ò ÆÇÌ ÈÎÏÌÉÐÚÌÎÐâ äÎËÎÔÈÎÑ ËÎ× ÏËÛÓËÐÈÕÎ ÕÖ ÐÇÌ ÔÕÍÊÕÍËæÐÈÕÎß úÕÚÌãÕÕ× ý&'ûß
�ÕÍ×ÕÎâ èÙÍÕÎ fßâ êÇËÊÈÍÕâ $ÛÈ %ý&ü'(ò éËÊÈÐËÛ Ì-ÓÈÊÚÌÎÐ ËÎËÛÙÉÈÉò ÆÇÌ ÍÌ-ÓÈÍÌ×ÍËÐÌ ÕÖ ÊÍÕäÐß åÎò èËÎËÑÌÚÌÎÐ êÔÈÌÎÔÌ ý&ü'â 0ÕÛß , %ý&ü'(â ÊÊß ý�ûæýý,ßúËÚÚÕÎ×â)ÌÐÌÍ fß %ý&&�(ò ÆÇÌÕÍÌÐÈÔËÛ )ÍÕÑÍÌÉÉ ÈÎ )ÓàÛÈÔ $ÔÕÎÕÚÈÔÉò ç )ÍÕÏÕÔËÐÈÏÌçÉÉÌÉÉÚÌÎÐß åÎò 4ÜÖÕÍ× $ÔÕÎÕÚÈÔ )ËÊÌÍÉâ 0ÕÛß 2û %ý&&�(â ÊÊß 'æ,,ßúËÍÔÇËÕÓÈâ ÆËÍÌÞ èßâ �ËÉÉÌÍÍÌâ )ÈÌÍÍÌ %ý&&'(ò �Ì ÔÇÕÈÜ ×Ì ÔËÊËÔÈÐh ÔÕÚÚÌ ÛÝÌÜÌÍÔÈÔÌ×ÝÓÎÌ ÕÊÐÈÕÎ ×ÝËÔÇËÐ äÎËÎÔÈiÍÌß åÎò éËÎË×ÈËÎ fÕÓÍÎËÛ ÕÖ $ÔÕÎÕÚÈÔÉâ 0ÕÛß û&

%ý&&'(â ÊÊß û*ýæû++ß
fÕÇËÎÉÉÕÎâ êÏÌÎæ$ÍÈÞ %ý&'&(ò åÎÔÕÚÌ ÆËÜÌÉ ËÎ× åÎÏÌÉÐÚÌÎÐ �ÌÔÈÉÈÕÎÉß åÎò êãÌ×ÈÉÇfÕÓÍÎËÛ ÕÖ $ÔÕÎÕÚÈÔÉâ 0ÕÛß *ý %ý&'&(â ÊÊß ý�2æýý�ß
fÕÓâ fÙÇæ
ËÎÑ %û���(ò åÍÍÌÏÌÍÉÈàÛÌ åÎÏÌÉÐÚÌÎÐ �ÌÔÈÉÈÕÎÉ ÓÎ×ÌÍ �ÎÔÌÍÐËÈÎÐÙ ãÈÐÇ ÆËÜúÕÛÈ×ËÙÉß åÎò )ÓàÛÈÔ ëÈÎËÎÔÌ 1ÌÏÈÌãâ 0ÕÛß û+ %û���(â ÊÊß ''æ+ýß

û2




ËÊÛÕãâ �ÕÓÈÉ %ý&+'(ò çÎ $ÔÕÎÕÚÈÔ çÎËÛÙÉÈÉ ÕÖ �ÌÑËÛ ÆÍËÎÉÈÐÈÕÎÉß åÎò úËÍÏËÍ× �Ëã1ÌÏÈÌãâ 0ÕÛß && %ý&+'(â ÊÊß ü�&æ'ý*ß

ÌÓÉÔÇÎÈÑÑâ éÇÍÈÉÐÈËÎâ �ÈÌÛÉÕÎâ êÕÍÌÎ 
Õ %û��2(ò êÐËÍÐæÓÊÉâ ÏÌÎÐÓÍÌ ÔËÊÈÐËÛÈÉÐÉâ ËÎ×ÐÇÌ ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜß åÎò fÕÓÍÎËÛ ÕÖ )ÓàÛÈÔ ëÈÎËÎÔÌâ 0ÕÛß ++ %û��2(â ÊÊß ý�ýýæý�2ýß

ÈÎÑâ èÌÍÏÙÎ %ý&**(ò )ÓàÛÈÔ )ÕÛÈÔÙ ËÎ× ÐÇÌ éÕÍÊÕÍËÐÈÕÎâ �ÕÎ×ÕÎâ ý&**ß

ÛÌÈÎâ )ÌÐÌÍ %ý&&&(ò ÆÇÌ ÔËÊÈÐËÛ ÑËÈÎ ÛÕÔÞæÈÎ ÌØÌÔÐ ËÎ× Ì-ÓÈÛÈàÍÈÓÚ ÍÌÐÓÍÎÉß åÎò

fÕÓÍÎËÛ ÕÖ )ÓàÛÈÔ $ÔÕÎÕÚÈÔÉâ 0ÕÛß *ý %ý&&&(â ÊÊß ,üüæ,*+ß

ÛÌÈÎâ )ÌÐÌÍ %û��ý(ò ÆÇÌ ÔËÊÈÐËÛ ÑËÈÎ ÛÕÔÞæÈÎ ÌØÌÔÐ ËÎ× ÛÕÎÑæÇÕÍÈáÕÎ ÍÌÐÓÍÎ ÍÌÏÌÍÉËÛßåÎò fÕÓÍÎËÛ ÕÖ ëÈÎËÎÔÈËÛ $ÔÕÎÕÚÈÔÉâ 0ÕÛß ü& %û��ý(â ÊÊß ,,æ'ûß

.ÎÈÑâ 1ÕÛÖâ�ÕÉÎÈÐáËâ èÈÔÇËÌÛ %û���(ò jÓÍ )ÍÕàÛÌÚËÐÈÞ ×ÌÍ 
ÌÉÐÌÓÌÍÓÎÑ ÊÍÈÏËÐÌÍçÞÐÈÌÎÞÓÍÉÑÌãÈÎÎÌ æ ÌÈÎÌ .ÞÕÎÕÚÈÉÔÇÌ çÎËÛÙÉÌß åÎò jÌÈÐÉÔÇÍÈÖÐ ÖkÍ 
ÌÐÍÈÌàÉæãÈÍÐÉÔÇËÖÐâ 0ÕÛß *�ß %û���(â ÊÊß *+ýæ+�ýß
èËÈÐÌÍÐÇâ 1ËÛÖâ èkÛÛÌÍâ úÌÈÞÕ %ý&&&(ò �ÈÌ lÎ×ÌÍÓÎÑ ÈÚ 
ÌÍÌÈÔÇ ×ÌÍ çÎÐÌÈÛÉàÌÉÐÌÓÌæÍÓÎÑ ×ÓÍÔÇ ×ËÉ �ÌÉÌÐá áÓÍ ëÕÍÐÉÌÐáÓÎÑ ×ÌÍ �ÎÐÌÍÎÌÇÚÌÎÉÉÐÌÓÌÍÍÌÖÕÍÚ ÓÎ××ËÉ êÐÌÓÌÍÌÎÐÛËÉÐÓÎÑÉÑÌÉÌÐá ý&&&/û���/û��û ËÓÉ ÉÐÌÓÌÍÉÙÉÐÌÚËÐÈÉÔÇÌÍ êÈÔÇÐßåÎò 
ÌÐÍÈÌàÉæ
ÌÍËÐÌÍâ 0ÕÛß ü2 %ý&&&(â ÊÊß û',&æû'ü,ß
�ÈÌÚËÎÎâ 1ËÈÎÌÍ %ý&&&(ò �ÌÓÐÍËÛ ÆËÜËÐÈÕÎ ÓÎ×ÌÍ �ÎÔÌÍÐËÈÎÐÙß åÎò ëÈÎËÎáËÍÔÇÈÏâ�ßëßâ 0ÕÛß ü' %ý&&&(â ÊÊß üýæ''ß
�ÈÌÚËÎÎâ1ËÈÎÌÍ %û��2(ò ÆËÜ 1ËÐÌ �ÎÔÌÍÐËÈÎÐÙâ åÎÏÌÉÐÚÌÎÐ �ÌÔÈÉÈÕÎÉâ ËÎ× ÆËÜ �ÌÓæÐÍËÛÈÐÙß åÎò åÎÐÌÍÎËÐÈÕÎËÛ ÆËÜ ËÎ× )ÓàÛÈÔ ëÈÎËÎÔÌâ 0ÕÛß ýý %û��2(â ÊÊß û'üæû+ýß
�ÈÌÚËÎÎâ 1ËÈÎÌÍâ êÓÍÌÐÇâ éËÍÌÎ %û��û(ò ÆËÜËÐÈÕÎ ÓÎ×ÌÍ ÓÎÔÌÍÐËÈÎÐÙ æ ÊÍÕàÛÌÚÉ ÕÖ×ÙÎËÚÈÔ ÊÍÕÑÍËÚÚÈÎÑ ËÎ× ÔÕÎÐÈÎÑÌÎÐ ÔÛËÈÚÉ ËÎËÛÙÉÈÉ ÈÎ ÍÌËÛ ÕÊÐÈÕÎ ÐÇÌÕÍÙß åÎòéÌÎÐÌÍ ÖÕÍ $ÔÕÎÕÚÈÔ êÐÓ×ÈÌÉ ËÎ× åÖÕ åÎÉÐÈÐÓÐÌ %é$êÈÖÕ(â �ÕÍÞÈÎÑ )ËÊÌÍ �Õß

*�&â èÓÎÈÔÇ û��ûß
�ÈÌÚËÎÎâ 1ËÈÎÌÍâ êÓÍÌÐÇâ éËÍÌÎ %û��2(ò ÆËÜ �ÌÓÐÍËÛÈÐÙ ÓÎ×ÌÍ åÍÍÌÏÌÍÉÈàÈÛÈÐÙ ËÎ×

1ÈÉÞ çÏÌÍÉÈÕÎß åÎò $ÔÕÎÕÚÈÔÉ �ÌÐÐÌÍÉâ 0ÕÛß +2 %û��2(â ÊÊß 2,æ2*ß
)ÌÎÎÈÎÑÉâ $ÎÍÈÔÕ %û���(ò ÆËÜÌÉ ËÎ× ÉÐÈÚÓÛÈ ÕÖ ÈÎÏÌÉÐÚÌÎÐ ÓÎ×ÌÍ ÓÎÔÌÍÐËÈÎÐÙß åÎò$ÓÍÕÊÌËÎ $ÔÕÎÕÚÈÔ 1ÌÏÈÌãâ 0ÕÛß 22 %û���(â ÊÊß ,+,æ,&ýß
)ÕÐÌÍàËâ fËÚÌÉ èß %ý&+&Ë(ò éËÊÈÐËÛ ÑËÈÎÉ ÐËÜ ÊÕÛÈÔÙ ÐÕãËÍ× ÌÎÐÍÌÊÍÌÎÌÓÍÉÇÈÊß åÎò

�ËÐÈÕÎËÛ ÆËÜ fÕÓÍÎËÛâ 0ÕÛß 2û %ý&+&(â ÊÊß ,*üæ,+&ß
)ÕÐÌÍàËâ fËÚÌÉ èß %ý&+&à(ò0ÌÎÐÓÍÌ ÔËÊÈÐËÛ ËÎ× ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜËÐÈÕÎß åÎò êÓÚÚÌÍÉâ�ËãÍÌÎÔÌ úß %Ì×ß(â ÆËÜ )ÕÛÈÔÙ ËÎ× ÐÇÌ $ÔÕÎÕÚÙâ0ÕÛß , %ý&+&(â éËÚàÍÈ×ÑÌâ ÊÊß2*æ'*ß
)ÙÌâ�ÕÍ×ÕÎ %ý&*û(ò)ÍÌÖÌÍÌÎÐÈËÛ ÆËÜ ÆÍÌËÐÚÌÎÐ ÕÖ éËÊÈÐËÛ �ËÈÎÉâ4ÊÐÈÚËÛ�ÈÏÈ×ÌÎ×)ÕÛÈÔÙâ ËÎ× éËÊÈÐËÛ 
Ó×ÑÌÐÈÎÑß åÎò mÓËÍÐÌÍÛÙ fÕÓÍÎËÛ ÕÖ $ÔÕÎÕÚÈÔÉâ 0ÕÛß +'

%ý&*û(â ÊÊß ûû'æû2ûßêËÚÓÌÛÉÕÎâ )ËÓÛ çß %ý&'2(ò ÆËÜ �Ì×ÓÔÐÈàÈÛÈÐÙ ÕÖ $ÔÕÎÕÚÈÔ �ÌÊÍÌÔÈËÐÈÕÎ ÐÕ åÎÉÓÍÌåÎÏËÍÈËÎÐ 0ËÛÓËÐÈÕÎÉß åÎò fÕÓÍÎËÛ ÕÖ )ÕÛÈÐÈÔËÛ $ÔÕÎÕÚÙâ 0ÕÛß *û %ý&'2(â ÊÊß'�2æ'�'ßêÔÇÕÛáâ fÕÇÎ 
ËÍÛ %ý&++(ò ÆÇÌ $ØÌÔÐ ÕÖ ÐÇÌ 1ÌÛËÐÈÏÌ ÆËÜ ÆÍÌËÐÚÌÎÐ ÕÖ �ÈÏÈ×ÌÎ×É ËÎ×éËÊÈÐËÛ �ËÈÎÉ ÕÎ çÉÊÌÔÐÉ ÕÖ éÕÍÊÕÍËÐÌ ËÎ× åÎÏÌÉÐÕÍ 
ÌÇËÏÈÕÍß åÎò )ÍÕÔÌÌ×ÈÎÑÉÕÖ ÐÇÌ �ËÐÈÕÎËÛ ÆËÜ çÉÉÕÔÈËÐÈÕÎ æ ÆËÜ åÎÉÐÈÐÓÐÌ ÕÖ çÚÌÍÈÔË %ý&++(â ÊÊß ýý2æýû�ßêÔÇÍÌÈàÌÍâ �ÛÍÈÔÇ %û���(ò �ÌÍÚËÎ ÆËÜ 1ÌÖÕÍÚ æ çÎ åÎÐÌÍÐÌÚÊÕÍËÛ )ÌÍÉÊÌÔÐÈÏÌß åÎòëÈÎËÎáËÍÔÇÈÏâ 0ÕÛß ü* %û���(â ÊÊß üûüæü2ýßêÔÇÍÌÈàÌÍâ �ÛÍÈÔÇâ 1ÕÑËÛÛâ èËÐÐÇÈËÉ %û���(ò �ÌÍ $ÈÎÒÓÉÉ ×ÌÍ 1ÌÖÕÍÚ ×ÌÍ 
.ÍÊÌÍæÉÔÇËÖÐÉÐÌÓÌÍ ËÓÖ åÎÏÌÉÐÈÐÈÕÎÉÌÎÐÉÔÇÌÈ×ÓÎÑÌÎ ÓÎ× ×ÌÎ �ÌÍÐ ×ÌÍ �ÌãÈÎÎÍkÔÞÛËæÑÌÎ ÏÕÎ 
ËÊÈÐËÛÑÌÉÌÛÛÉÔÇËÖÐÌÎß åÎò �ÈÌ 
ÌÐÍÈÌàÉãÈÍÐÉÔÇËÖÐâ 0ÕÛß '� %û���(â ÊÊß*ûýæ*,*ß
ûü



êÈÎËÈâ ÆÕ××â�ÙÕÓÍÞÕâ fÕÉÌÊÇ %û��2(ò ÆÇÌ ËÉÉÌÐ ÊÍÈÔÌ ÈÎÔÈ×ÌÎÔÌ ÕÖ ÔËÊÈÐËÛ ÑËÈÎÉ ÐËÜÌÉòÌÏÈ×ÌÎÔÌ ÖÍÕÚ ÐÇÌ ÆËÜÊËÙÌÍ 1ÌÛÈÌÖ çÔÐ ÕÖ ý&&* ËÎ× ÊÓàÛÈÔÛÙæÐÍË×Ì× ÍÌËÛ ÌÉÐËÐÌäÍÚÉß åÎò fÕÓÍÎËÛ ÕÖ )ÓàÛÈÔ $ÔÕÎÕÚÈÔÉâ 0ÕÛß ++ %û��2(â ÊÊß ýü2,æýü'üßê3ÍÌÎÉÌÎâ )ÌÐÌÍ 
ÈÍÔÇ %û��û(ò ÆÇÌ �ÌÍÚËÎ 
ÓÉÈÎÌÉÉ ÆËÜ 1ÌÖÕÍÚ ÕÖ û���ò ç �ÌÎÌÍËÛ
$-ÓÈÛÈàÍÈÓÚ çÎËÛÙÉÈÉâ ÈÎò �ÌÍÚËÎ $ÔÕÎÕÚÈÔ 1ÌÏÈÌãâ 0ÕÛß , %û��û(â ÊÊß ,2*æ,*+ß
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